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Section : Mental Ability

Q.1 Study the following information carefully to answer the quastion given below.
Following are the qualifications and conditions for certain posts in a “XY7" company.

The candidate must:

a) be an engineering graduate with at least 70% marks.

b) be not less than 21 years and not more than 26 years of age as on 01/04/2018.

c) have passed the written test with at least 60% of marks.

d) be willing to pay a deposit of T 2.5 lakh, to be refunded on campletion of probation & training.

Ifthe candidate satisfies (a)-(e) he/she would be referred as Engineer.

However, if the candidate satisfies all the above. except:

(i) at (a). has appeared for final semester exam; result yet to be declared; has 75% average marks up to seventh
semester; would be referred as Project-Engineer.

(i) at (a), has done diploma in enginsering with 75% of marks, would be referred as Asst. Enginzer,

(iii) at (d). is willing to pay ¥ 1.5 lakh as security deposit. would be referred as Engineer-Trainee.

(iv) at (b). even if age is above 26 years as on 1/4/18, but with 3 years of experience. would be referred as Senior-
Engineer.

Pranita has completed her B.E. in electronics with 71% of marks. She also has cleared written test with 75% of marks.
She is 22 years old as on May 2018. She i1s willing to pay security deposit of T 1.5 lakh. For which position will she be
referred?

Ans 2 1. Engineer
« 2 Engineer Trainee
/< 3. Senior Engineer

/< 4 Project Engineer

Question ID : 1626531835

Q.2 The present ages of Ramu, Ranjest, Naresh are in proportions 3 : 5 : 8, Five years ago. the sum of their ages was 65,
Find their present ages (in years).

Ans X1 4523.16
W 2. 15,25, 40
X 3. 10, 20, 35
X 4171912

Question ID : 1626531843

Q3 Tdentify the best option that suits the statement.

A text book always has :
Ans X 1. tables




W 2 pages
X 3 illustrations
X 4 pictures

Question ID : 1626531838
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Q4 Find the next number in the series.

22

i

?

X

L
v |9

X 3 @

<[P

7
L
.

Question ID : 1626531831
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Q5 Find the embedded figure given below from the options.




l Question ID : 1626531834
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Question ID : 1626531836

Q7 Find the odd pair of words.

Ans  of 1. Clothes : Word robe
X 2. Shoes : Leather
X 3. Omelets : Egg

/X 4 Rubber : Latex

Question ID : 1626531844

Q8 What will be the missing term in the following series?

PY, RW, UT. YP, ?
Ans X 1. AV

X 2 GC

v 3 DK

X 4 RO

Question ID : 1626531847

Q9 What will be the missing term in the following series?

37,42, 40, 2, 43, 48
Ans of 1. 45

X 2 46

X 3 50

X 4 53

Question ID : 1626531846

@1 Find the odd pair of numerals.

Ans <1 81-9
X2 25-5




W3 115-15
X 414412

Question ID : 1626531845

Qi1 How the pattern would appear when the transparent sheet is folded at the dotted line?
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Question ID : 1626531837
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Question ID : 1626531828

Ql s xFHAgeas + <-F B, +AaTs ., >Agegd x, - FAT F Ay, s wHaew > v = < ¥
3 RutafmEys 7> 10+2=0<3 x4 # G T g

Ans X140 < 2
X239<5
X3 45 < 10
v+ 35 <10

Question ID : 1626531841

Q.1




Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

Ans

Question ID : 1626531829

Q.1 The following bar chart shows information about NTSE pass out percentage for “XYZ" institute for past years. Read
5 the chart carefully and answer the question.

passouls

154 &8
How many students have passed NTSE from “XYZ" during 2014 -167
Ans o 1. 160
X 2 40
X3 20
X 4140

Question ID : 1626531833

@1 Find the number which, when added to itself 9 times. gives 140.

Ans x1~ 12
X 2 20
W3 14
X 416

Question ID : 1626531842

Q.1




Ans o 1

Choose the odd figure in the series.
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Question ID : 1626531830

Q.1 Sunanda is sister of Krishna. How is krishna’s father’s sister’s daughter related to Sunanda?
8

Ans - X 1. Sister

2 2. Mother
o 3 Cousin
< 4 Aunt

Question ID : 1626531840

Ans

Q. : d e 2
91 Study the following carefully and answer the given question.

a Actors
Directors lﬁ’&

Singers

Which region denotes singers, who are directors but not actors?
X3
X2 4
<310
7

Question ID : 1626531839

Q.2
0

Ans

Find the next figure in the series.
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Question ID : 1626531832

Section : General Awareness

Q1 Who was the founder of the Indian National Congress?

Ans  of 1. Allan Octavian Hume
/< 2. Sardar Vallabh Bhai Patel
# 3. Jawaharlal Nehru
X 4 Annie Besant

Question ID : 1626531848

Q.2 sfremwre wtE, a6 % 2w 9 o= I@ e # uF A 5 seal et F gad gy 3w @ g
FE arire W TR &7
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X4 23033

Question ID : 1626531851

Q.3 How many members are nominated by the President from the Anglo-Indian community in Lok Sabha?
Ans X 1. Five

X 2. One

X 3. Three

W 4 Two

Question ID : 1626531853
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Question ID : 1626531850

Q5 Nirmal paintings are associated with which of the following states?
Ans X 1. Nagaland

X 2. Arunachal Pradesh

X 3. Meghalaya

v 4 Andhra Pradesh

Question ID : 1626531859

Q.6 Who among the following has the power to discontinue a session in the two Houseas and dissolve the Lok Sabha (in
consultation with the Executive)?

Ans X 1. The Speaker of Lok Sabha
v 2. The President
# 3. The Prime Minister
X 4. The Vice President

Question ID : 1626531854

Q.7 InMay 2018, which of the following firms partnered with the National Commission for Women (NCW) to launch a
Digital Literacy Programne to train women on safe use of internet and social media?

Ans  of 1. Facebook
X 2. WhatsApp

X 3. Google
X 4 Twitter

Question ID : 1626531867

Q.8 Who among the following won gold in the 74 ke Junior Asian Wrestling Championship 2018, held at New Delhi?

Ans X 1. Somveer Singh

' 2 Sachin Rathi
X 3. Suraj Rajkumar Kokate

X 4 Mohit

Question ID : 1626531861
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Question ID : 1626531849

&1 When was the World Biofuel Day celebrated recently?
Ans  of 1. 10 August 2018

& 2. 18 June 2018
X 3. 20 July 2018

X 4 10 March 2018

Question ID : 1626531866

°1'1 ‘Which among the following is used to make non-stick cookware’s?

Ans X 1. Melamine
v 2 Teflon
/< 3. Rayon
# 4 Bakelite

Question ID : 1626531863

Q.1 Which law states that ‘when the price of a product increases, the demand for the same product will fall'?
2

Ans X 1. The law of competition
v 2 The law of demand

# 3. The law of increasing costs

X 4 The law of self-interest

Question ID : 1626531856

Q.1 is unique form of art found in Kerala. It is essentially a ritualistic art practiced in temples where the
3 representation of deities like Kali and Lord Ayyappa. are made on the floor.

Ans X 1. Chakyar koothu
X 2 Pulikali

v © Kalamezhuthu
X 4 Theyyam

Question ID : 1626531858

041 The Committee on the Welfare of Scheduled Castes and Scheduled Tribes consists of:

Ans x 1.
10 members from the Lok Sabha and 20 members from the Rajya Sabha




W2

20 members from the Lok Sabha and 10 members from the Rajya Sabha

X 3
20 members from the Lok Sabha and 20 members from the Rajva Sabha

X a

10 members from the Lok Sabha and 10 members from the Rajya Sabha

Question ID : 1626531855

Q; Where is the headquarters of the Asian Development Bank (ADB) located?

Ans

< 1. Shanghai. China
' 2. Manila, Philippines
/< 3. Beijing. China

7< 4. Jakarta, Indonesia

Question ID : 1626531864

Q.1 In the Archery World Cup held at Berlin. Indian women’s compound team lost gold to the team from which of the
6 following countries?

Ans

/< 1. Germany
« 2 France
X 3. Tialy

X 4 Turkey

Question ID : 1626531862

@1 Which among the following is also known as Lotus temple?

Ans

1. Badrinath Temple

+ 2. Bahai Temple

< 3. Vaishno Devi Mandir
< 4 Brihadeeswara Temple

Question ID : 1626531860

Q.1 Who was elected as Zimbabwe’s President after Robert Mugabe’s removal in a coup in November2017?

8

Ans

#C 1. Nelson Chamisa
+' 2. Emmerson Mnangagwa Grace Mugabe

X 3. Morgan Tsvangirai

X 4 Kayaking Expedition

Question ID : 1626531865




°é1 Which among the following rivers is also called Tsangpo?
Ans X 1. Chenab

/< 2. Ganga

X 3. Jhelum

« 2 Brahmaputra

Question ID : 1626531852

Q.2 Which company topped the ET 500 2017 ranking, in the annual edition of top 500 companies in India put together by
0 Economic Times?

Ans - X 1. Reliance Industries Ltd.
' 2. Indian Oil Corporation Ltd.
# 3. State Bank of India
/< 4. Tata Consultancy Services

Question ID : 1626531857

Section : Arithmetic Ability

Q.1 A person spends 90% of his income. If his income is increased by 40%. he increases his expenditure by 30%. What is
the percentage increase in his saving?

Ans X' 1. 65%
2300

1]

X2 13 8

W 3 130%

1000
x4 %
i3

Question ID : 1626531875

Q.2 A train of length 300 m takes 20 seconds 1o pass another train of length 200 m travelling in the opposite direction. If the
speed of the first train is 30 kmvh, then what is the speed of the second train in ka/h?

Ans x-]_ 36
X272
v 3 60
X 4 54

Question ID : 1626531881

Q.3 A boat can go 15 km upstream and 21 km downstream in 3 hours. It can go 25 km upstream and 14 km downstieam in
Bi hours. What is the speed of the boat in still water in km/h?

Ans X110
X214
V'3 12
X415




l Question ID : 1626531882

Q.4 Two numbers are in the ratio 4 : 3. If each number is increased by 6. the ratio becomes 5 : 4. The difference between the
numbers is:

Ans ' 1]
X209
N
X 43

Question ID : 1626531873

Q.5 Theratio of the selling prices of two articles is 2 : 3. The first article is sold at a profit of 209 and the second at a loss of
20%. What is the overall profit or loss percentage?

Ans

X120 profit
13
100
jmiuiaail | }
K 2 ——%]loss
X3 —110: % profit

100
W 4 2—9% loss
13

Question ID : 1626531876

¥ afra:b=3:4%  (7a - 3b) HEF W BE?

Ans X' 1.2:5
X237:19
V311
X4+43:4

Question ID : 1626531872

Q.7 Theheight of a cylinder is increased by 1026 and the radius of its base is dscreased by 102, What is the percentage
increase or decrease in its curved surface area?

Ans X 1. No change
v 2 1% decrease
X 3. 2% decrease
#< 4. 1% increase

Question ID : 1626531880

Q.8 The efficiencies of A. B and C are in the ratio 2 : 3 ; 4, They together can complete a piece of work in 18 days. In how
many days can A alone complete the same piece of work?

Ans X 1. 36
X2 54
X3 27
v 81




l Question ID : 1626531883

Q.9 Three numbers are in the ratio 5 : 6 : 8 and their LCM is 7200. What is their HCF?
Ans “ 1. 60

X 2 30

< 3120

X 490

Question ID : 1626531871

Q.1 A sum of money becomes 1309% of itself in 4 years at a certain rate of simple interest. What will be the simple interest
0 onT 2000 for 3 years at the same rate of simple interest?

Ans X 1. T 480
X2 T 425
v T 450
X 4 T 350

Question ID : 1626531877

%7 The value of 1.3 + 0.123 — 0.1 is equal to:
Ans X 1.1.36

2 21.369

/3. 0.369

v 41369

Question ID : 1626531869

Q.1 What is the compound interest on ¥ 48000 for 3 years (interest rounded off to arupee) if the rate of intersst for the first
2 year is 8% per annum and it increases by 2% every subsequent years?

Ans of 1. T 15867
X2 T14726
< 3T 14480
X 4 T 14528

Question ID : 1626531878

Q.1 The sides of a triangle are 26 cm, 28 cm and 30 cm. What is the length of its shortest altitude?
3

Ans X 1. 24 cm
X2112cm
W3 224cm
X 4 258cm

Question ID : 1626531879

Q.1




4  Thelength of a rectangle is increased by 50%. By what percentage should its width be decreased so that its area remains
the same?

X ?%
X 2. 20%
Vo

X 4 25%

Ans

Question ID : 1626531874

Q.1 Two pipes A and B alone can fill an empty tank in 4 hours and 8 hours respectively. Pipe C can empty the full tank in
5 5 hours. Pipes A and B are opened when tank is empty and, after 2 hours, pipe C is opened, In how many hours will the
tank be filled?

Ans 26
F

24

2"

7
27
g

X4.E
7

Question ID : 1626531884

Q1 (0.26)% +(0.14)?
¢ 'Theyainess (2.6)2+(1.4)2—86x0.14

Ans X 1. 10
v 2 0.01
< 3. 0.001
X 401

is equal to:

Question ID : 1626531868

Q.1 The LOM of two numbers is 35 times their HCF. If their HCF is 45 and both the numbers are three-digit numbers, then
7  what is the sum of their reciprocals?

Ans 12
4
525
7
X 3 ~—
2

525

Question ID : 1626531870




Comprehension:

A survey was conducted among certain number of students about the
subject that they like most. The number of students and the

corresponding central angle on a pie chart are given in the table. Read the

table and answer the following three questions.

Subject English | Maths | Science | History | Mother
Tongue
Centfral
angle on pie | 924° (5a)° (3a)° 52.8° 720
chart
No. of 26 45 27 b &
students

SubQuestion No : 18

Q1 What is the total number of students surveyed?

Ans 5 1. 180

& 2120
W 3 150
& 4200

Question ID : 1626531886

Comprehension:

A survey was conducted among certain number of students about the
subject that they like most. The number of students and the

corresponding central angle on a pie chart are given in the table. Read the

table and answer the following three questions.

Subject English | Maths Science History Mother
Tongue
Ceniral
angle on pie | 924° (5a)° (3a)° 52.8° 72¢
chart
No. of 26 45 27 b c
students

SubQuestion No : 19

& What is the value of (b + ¢)?

Ans 1. 48

o 52
&< 3 56
X 454

Question ID : 1626531887

Comprehension:




A survey was conducted among certain number of students about the
subject that they like most. The number of students and the

corresponding central angle on a pie chart are given in the table. Read the

table and answer the following three questions.

Subject English | Maths Science History Mother
Tongue
Central
angle on pie | 924° (5a)° (3a)° 52.8° 72¢
chart
No. of 26 45 27 b &
students

SubQuestion No : 20
Q2 What percentage of students like Maths most?

Ans ¥ 1.
W2
5 3.
~ 4

25%
30%
24%
20%

Question ID : 1626531888

Section : General English

Q1 Select the most appropriate option to fill in the blank.

we live in the same colony. we hardly see each other.
Ans  of 1. Although
X 2. As long as

/< 3. Because
/5 4. In case

Question ID : 1626531893

Q.2 Arrange the parts of the sentence in a meaningful and grammatically correct order.

A. how polluting industries

B. the judges wondered

C. continued to operate

D. in the Taj Trapezium Zone

E. despite the Supreme Court’s order

Ans X' 1. BADEC
+ 2 BACDE
X 3. ADCEB
X 4 ACDBE




Question ID : 1626531901

Q3 gelect the most appropriate option to fill in the blank.

His barber’s shop is located a corner of the Hauzrani village.
Ans X1 into
X 2 on
X 3 in
v 4 at

Question ID : 1626531889

Q4 Select the sentence structure that is grammatically correct.

Ans x1_

The Dragon tree with white flesh inside produces an oval shaped fruit, which can be eaten raw.

X 2

An oval shaped fruit with white flesh inside, the Dragon tree produces, which can be eaten raw.

W 3

The Dragon tree produces an oval shaped fruit with white flesh inside, which can be eaten raw.

X 4

An oval shaped fruit. which can be eaten raw with white flesh inside, the Dragon tree produces.

Question ID : 1626531900

Q5 Select the synonym of the given word.

ESTIMATE
Ans X 1. solve
X 2 believe
X 3 find
o 4 assess

Question ID : 1626531896

Q6 gelect the most appropriate option to fill in the blank.

In our country, many people have the habit of offering advice.

Ans X 1. unnatural
& 2 unfounded
v 2 unsolicited
& 4 unasked

Question ID : 1626531895

Q.7




Select the most appropriate option to fill in the blank.

Rahul drew a line over the map and said, “We will visit at least four towns this river.”
Ans x 1. over
& 2. under
o 3. along

X 4. across

Question ID : 1626531890

Q.8 1n the following sentence, four words/phrases have been underlined. One of them is incorract. Choose the NCORRECT
word/phrase from the given options.

You can 2o now but you must be back in the office between 4 0'clock.
Ans X' 1 can go
v 2 between
# 3. must be back
X 4 but

Question ID : 1626531902

Q9 Select the ANTONYM of the given word.

PERSEVERANCE

Ans X 1. resoluteness
v 2. instability
& 3. urgency

X 4 determination

Question ID : 1626531899

Q.1 : "
o Select the synonym of the given word.

LYNCH

Ans X' 1. beat
& 2 raid
v 3 Kill
X 4 attack

Question ID : 1626531897

Q.1 i & ' 3
; Select the most appropriate option to fill in the blank.

I have put on weight, these trousers don’t fit me any longer.

Ans X 1. but
K2 or




W 3 s0
X 4 and

Question ID : 1626531892

Q; Select the most appropriate option to fill in the blank.

The landlord M. Singhal when he failed to pay rent for four months.
Ans X 1. punished
X 2 threw
v 3. evicted
X 4 forced

Question ID : 1626531894

Q.1 i & i 4
, Select the most appropriate option to fill in the blank.

Why are you taking away my plate?l  yet.
Ans - X 1. will not have finished

¥ 2 haven’t finished

# 3. did not finish

X 4 am not finishing

Question ID : 1626531891

Q.1 T1nthe following sentence, four words/phrases have been underlined. One of them is incorrect. Choose the WCORRECT
4 word/phrase from the given options.

No sooner we boarded the train than it started and picked up the speed.
Ans X' 1. No sooner

X 2. picked up

/< 3. than it started

v 4 we boarded

Question ID : 1626531903

&7 Select the ANTONYM of the given word.

EMERGE

Ans X 1. surface
v 2 vanish

X 3. materialise
5 4 appear

Question ID : 1626531898




Comprehension:

Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.” I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life, it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. Tn winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while T had to cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It is, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips, onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slaughtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

SubQuestion No : 16

Q1 Match the words with their meaning.

6
a. yearning 1. nauseating
b. quartered 2. lodged
c. repugnant 3. longing

Ans <"1, a-1, b-3, c-2




Q.1

W 2 a-3,b-2,¢c-1
X 3 a-2, b-1,¢c-3
X 4 a-2,b-3. c-1

Question ID : 1626531907

Comprehension:

Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.” I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life, it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while I had to cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with bufter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It is, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips, onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slanghtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

SubQuestion No : 17




7 The passage is an extract from:

Ans 3 1. a biography
X 2 an article
/< 3. areport
o 2 atravelogue

Question ID : 1626531905

Comprehension:




Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.” I shall never
cease thinking of this place with yearning, and if T can choose where to
pass the evening of my life, it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our enfry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winfer the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while I had fo cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
vsually made with rancid butter and is generally repugnant to Europeans.
It is, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips, onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slaughtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

SubQuestion No : 18

@1 Which of the following foods was the narrator not
able to relish?

Ans  of 1. Butter tea
/< 2. Meat
/< 3. Tsampa

& 4 Milk and beer




Q.1

Ans

Question ID : 1626531909

Comprehension:

Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.” I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life, it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while T had to cope with mice and
fleas. I never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It is, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips, onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slaughtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.

SubQuestion No : 19

“If I can choose where to pass the evening of my life,
it will be in Kyirong.” The narrator fell in love with
Kyirong village mainly because:

#< 1. the name of the village meant ‘village of happiness’




o 2. the place was almost like his own village in Europe
< 3. they didn’t have to spend much for their daily needs

the temperatures never fell below -10 degrees
- centigrade

Question ID : 1626531906

Comprehension:

Read the following passage and answer the questions.

THE NAME KYIRONG means “the village of happiness.” I shall never
cease thinking of this place with yearning, and if I can choose where to
pass the evening of my life, it will be in Kyirong. When we arrived in
January, the temperature was just below freezing; it seldom falls below -
10 degrees centigrade. The seasons correspond to what we have in the
Alps, but the vegetation is subtropical. One can go skiing the whole year
round, and in the summer, there is a row of 20,000-footers to climb.

There are about eighty houses in the village, which is the seat of two
district governors who administer thirty villages. We were told that we
were the first Europeans who had ever come to Kyirong, and the
inhabitants watched our entry with astonishment. We were quartered in
the house of a farmer, which reminded me of our Austrian houses. As a
matter of fact, the whole of the village might have been transplanted from
the Alps, except that instead of chimneys the roofs of the houses were
decorated with prayer flags.

On the ground floor were the stables for cows and horses. They were
separated by a thick ceiling from the living rooms of the family, which are
approached by a ladder from the courtyard. Thick stuffed mattresses
served as beds and easy chairs, and near them were small, low tables. The
members of the household kept their clothes in brightly painted
wardrobes, and before the inevitable carved wooden altar, butter lamps
were burning. In winter the whole family sat on the clean floorboards
around a huge open log fire and sip their tea.

The room in which Aufschnaiter and I were put was rather small, so I
soon shifted to the hay barn next door. Aufschnaiter carried on our
unceasing struggle with rats and bugs, while I had to cope with mice and
fleas. T never got the better of the vermin, but the view over glaciers and
rhododendron forests made up for my discomfort. We had a fireplace in
our room and were given wood to burn. We spent very little money; our
provisions did not cost us more than £2 10s. a month each.

The staple food in this region is tsampa made of corn, which is made
into a paste with butter tea or milk or beer, and then eaten. The Tibetans
make a special cult of tsampa and have many ways of preparing it. We
soon got accustomed to it, but never cared much for butter tea, which is
usually made with rancid butter and is generally repugnant to Europeans.
It is, however, universally drunk and appreciated by the Tibetans, who
often drink as many as sixty cups in a day. The Tibetans of Kyirong,
besides butter tea and tsampa, eat rice, buckwheat, maize, potatoes,
turnips, onions, beans and radishes. Meat is a rarity, for as Kyirong is a
particularly holy place no animal is ever slanghtered there. Meat appeared
on the table only when it had been brought in from another district or,
more often, when bears or panthers left part of their prey uneaten.




SubQuestion No : 20
@2 From which sentence can it be inferred that the
narrator and his companion were mountaineers?

Ans

* 1 The temperature seldom falls below -10 degrees
~ centigrade.

X 2 The whole of the village might have been
* transplanted from the Alps.

/< 3. One can go skiing the whole year round.

In the summer, there is a row of 20.000-footers to
W 4
~ climb.

Question ID : 1626531908

Section : General Hindi
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Question ID : 1626531925
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Question ID : 1626531923
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Question ID : 1626531917

% gaeT ermg @ aEEEh Y
Ans x_lgj:r

X 2 e
X 3. Tl
v ST

Question ID : 1626531924
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Question ID : 1626531912

Section : Subject Related

Q1 1f<p is a prime, then the congruence x> + 1 = 0(mod p) has a solution if and only if:
Ans X 1. p=1lorp= 1(mod3)

X2p#2orp= 1(mod2)

W3 p=2orp= 1(mod4)

X 4 p=-2orp= 2(mod3)

Question ID : 1626531940

Q.2 1etA denote the set of all polynomials P(x) of degree less than or equal to 2 such that P(1)= 1. P(0) =0 and P'(x) > 0
for all x € [0,1]. Then:

Ans o 1 A={(1—a)x*+ax:ae(0,2)}
X 2. A isempty
X3 A={(1—a)x?*+ax:ae(0,)}




XK+ A={(1—-a)x?+ax:ae (0,1

Question ID : 1626531948

Q.3 Forany positive integers ‘a’ and 3, there exist unique integers °q’ and * r* such that a = 3q + r. where r must satisfy:
X1l=sr<3
K2p<r=3
W3 0=r<3
Xap=r<3

Question ID : 1626531931

Q4 Which of the following set of vectors X = (x;,%,,%;) and R?is a subspace of R*?
#< 1. all x such that x, is rational
o 2 all x such that x; + 3%, = x5
X 3 all xsuch that x; =0

X 4 all x such that x, = x,°

Question ID : 1626531946

Q.5 Forwhat valueof ¢, the vectors (0.0, 1,0), (c. 0, 0, 8), (2.0.0, o)and (1, 2, 9, §) are linearly independent?

v +4
X2 1
X33
X4 42

Question ID : 1626531943

Q.6 The matrix representation of T on R? defined by T(x,¥7) = (2y,3x—y) relative to the basis {(1.3).(2,5)} is:

x ( 30 —48)

x 2 —48)
7 (36 29)
% (18 29)

Question ID : 1626531942

Q.7 Fora positive integern. by nsing Chinese Remainder Theorem. the number of solutions of the congrence
x* = 1(modn), whene = 3 is:

K12k
XQ, 2k+1




fg. 2k+2
K 4 gk

Question ID : 1626531939

Q.8 ] s 441
The decimal expansion of number ————
22x53x7

Ans X 1. is non-terminating but repeating
X 2. terminates after two places of decimal
+ 3 has a terminating decimal

# 4. is non-terminating and non-repeating

Question ID : 1626531934

@9 The HCF of 4052 and 12576 is:
Ans Jy 4

xX22

X536

X4 3

Question ID : 1626531933

061 If two zeroes of the polynomial x* — 6x* —26x?+ 138x— 35 are 2 + /3, then other zeroes are:

Ans X 1. 2and 5
v 2 7and-5
X 3 5and 8
X 4 3and-10

Question ID : 1626531949

Q.1 Let W be the set of all triples (%;,X,,X;) ofreal numbers that satisfy the equation 2x, — X, +3%; =k .If Wistobea
1  vector space. then the value of k is:

Ans ' 1
V20
X3 2
X4 -1

Question ID : 1626531945

Qé" By applying Euclid’s division lemma. the cube of any positive integer is of the form:
Ans X' 1. O0m 9m-+2or9m+7

W2 9m9m+1lor9m+8

X39m9m+4or9m=5




K4somom+3or9m+6

Question ID : 1626531930

°é1 The order of 2 modulo 101 is:

Ans o 1. 100
X 2 98
X 3 99
X 4 97

Question ID : 1626531937

Q: For what least value of », the natural number (24)" is divisible by 8?
Ans of 1.1

X220

/< 3. No value of n is possible

X4 -1

Question ID : 1626531932

Q.1 The Enclidean Algorithm is used to produce a sequence X, > X, > X3 > X, > X, = 0 of positive integers whers
5 X; = Qe X + Xs2 1 = 1,2,3 . The quotients are 4, = 3,43 = 2, and q; = 2. Which of the following is correct?

Ans X 1. ged(X,,X,) = —2X, + 6X,
X 2 god(X,,X,) = 2X, + 7X,
X 3 ged(X,,X,) = —2X, — 6X,
o 2 ged(X,,X,) = —2X, + 7X,

Question ID : 1626531938

Q.1 Forthe operator TonR* defined by T(x,y,2) = (x — y,2x + 3y + 22,x + y + 22), all eigenvalues and a basis
6  for each eigenspace as

ans 1A =1,00,1,=1) A =2,02,-2,~1): 4 = 3,(1,-2,—1)
V22 =1(10-1% A =2,(2,-2~1); A = 3,(1,-2,—1)
X3 d=1001)%2 =2,02,-21% 2 =3,(1,-2,-1)
XKad=1010-1x1=2022-1:21=3(01-21)

Question ID : 1626531947

051 A number 2.35 is:

Ans  of 1. g rational number
& 2. an irrational number

/X 3. arational number and a prime number




X 4 aprime number

Question ID : 1626531935

Q1 Wilson’s Theorem states that if ‘p’ is a prime, then:
Ans X 1. p! = —1(mod p)

X 2 (p—1) = —1(mod p)

X3 (p— 1) = —2(modp)

v i (p—1)! = —1(modp)

Question ID : 1626531941

@1 Which of the following statements is true?

Ans 3 1. A number is rational if and only if its square is rational.
/X 2. A number n is odd if and only if n(n + 1) is even
« 3 An integer n is odd if and only if n + 2n is odd.

& 4 A number is irrational if and only if its square is irrational.

Question ID : 1626531936

Q.2 Thevalue of A for which the system of equations 2x —y—2z =2, x—2y+z = —4_x+y + Az = 4 has no solution,
0 is

Ans x1~ 0

Question ID : 1626531944

Section : Subject Related

Q1 The zeroes of the quadratic polynomial, the sum and product of whose zeroes are 2 and _2—3, respectively, are:
Ans
r s __1J E
T
, —1 '3
V2'V2
Ko, =2
V2'4/3
.
V2’2

v




l Question ID : 1626531951

Q.2 A manufacturer has 600 L of a 1226 solution of acid. How many litres of a 30% acid solution must be addad to it such
that acid content in the resulting mixture will be more than 15%: but less than 18%7

Ans o 1. more than 120 L but less than 300 L
& 2 more than 140 L but less than 320 L
/< 3. more than 110 L but less than 290 L
/< 4 more than 220 L but less than 300 L

Question ID : 1626531969

Q.3 1 T, be the ™ term of an AP, forr = 1.2.3,... If for some positive integers mand n, wehave T, = '1—| and T, = i -
then T, equals:

Ans 1.
%> )+
5 3 i

min

N |

Question ID : 1626531966

Q4 1fx = 2 is a solution of a quadratic equation 3x? — 2kx+ 5 = 0 _ then value of ‘k’ is:
Ans iF

v

¥
2.
4

Question ID : 1626531962

%® The solution of a quadratic equation x? + 44/2x+ 6 = 0 is:
Are K1 —V2,/18

X2 +2,/18

V'3 —/2,—/18

X4 2,-V18

Question ID : 1626531964

Q.6 Forwhat value of k. the linear equations (3k+ 1)x+ 3y = 2,(k® + 1)x+ (k—2)y = 5 have no solution?




Ans x1. 0
X 22
X3
W1

Question ID : 1626531954

Q.7 Ifthe two of the zeroes of the cubic polynomial ax® + bx® + cx +d are 0, then the third zero is:

vl

Ans

—b

a
~ 2 11
a

53

X 4

ola oo

Question ID : 1626531950

2 15 5

Q.8 Reduce the pair of equations B =4,— —— = —2 into a pair of linear equations. Then find its solution from
T+, x— X+ x—
the following options: ¥ % ¥ %

Ans off 1p=3) g2

X2x=-3 y=-2

X3sx=-3,y=2

Xax=3 y=-2

Question ID : 1626531955

@9 The solution of a quadratic equation E + E = ? is:
Ans 31 3 3

2 -22

K3 4.4

X4 2.4

Question ID : 1626531963

Q61 The solution of [x? — 1]+ (x— 1)?++vx2—3x+2=10;
Ans “1. 1

X 2. does not exist

X3 -1

X 42

[ Question ID : 1626531960




L

Q.1 The diagonal of a rectangular plot is 60 m more than the shorter side ‘b*. If the longer side ‘a’ is 30 m more than the
1 shorter side, then the size ‘a = b’ ofthe plot is:

Ans X' 1. 90 m x 60 m
v 2 120m % 90 m
X3 60mx30m
X 4 180m % 150 m

Question ID : 1626531965

Qé1 The solution of pair of linear equations 3x — 5y =4,9x — 2y =7 by the substitution method. is:

Ans = —3
“1» R |

13 i3
XQ. 1 = i,_}J’:i
13 13
XS. No— jj}r: 2
13 i3
x4. K= jj}r: =2
13 13

Question ID : 1626531956

Qé'l For what value of k, the system of linear equations 2x — ¥ = 3,4x + ky = 4 has no solution?

Ans X' 1. _4
v 2
X3 2
K4 —1

Question ID : 1626531959

Q.1 1fthe zeroes of the polynomial x* —3x + x + 1 area — b. a and a - b respectively, then the values of ‘a’ and *b” are
4 respectively:

As o 11,442
X2 3,—-42
X3 —142

3
X4.1+ ]
2

Question ID : 1626531953

Q.1 The sum ofthe first ‘2n’ terms of the AP. 2, 5, 8, ... is equal o the sum of the first ‘n’ terms of the AP 57, 50 61,.....,
5 then ‘n’ equals:

Ans x1~ 12
X 213
X310




W11

Question ID : 1626531967

Q.1 A train travels 360 km at a uniform speed. If the speed had been 5 km/h more, it would have taken 1 hour less for the
6 same journey, then the speed of the train is:

Ans X 1. 30 km'h
X 2 50 km/
& 3 45 km'h
v 4 40 km/h

Question ID : 1626531961

Q.1 1fq, b 7are zeroes of cubic polynomial kx® — 5x+ 9. and if @ + B* + y* = 27, then the value of k is:
7

Ans x1_ 1

X22
W -1
X4 2

Question ID : 1626531952

Q.1 For what value of k. the svstem of linear equations 3x + 4y = 12,x + ky = 4 has infinitely many solutions?
8

Ans
4
v
3
3
2.
2
2
P 3.
3
3
Koa
4
Question ID : 1626531958
Qé1 Sum to ‘n’ terms of the series —— + —— + —— + —— 4+ =+ is:
123 234 d45 456
Ans v n(3n+ 1)
' 4(n+1)(n+2)
X 2 n{n+2)
' m+3)(n+4)
X 3 n(n+2)
' (m+1)(n+4)
X 4 nn+1)

2(n+ 1) (n+4)




Question ID : 1626531968

062 The solution of pair of linear equations ix +: § y=—1,x— i ¥ = 3 by the elimination method. is:
KL= el
X2x=-2y=-3
N x==2 yp=3
vix=2y=-3

Question ID : 1626531957

Section : Subject Related

addupto?"
X1 3
X2 2
W3 4
K45

Question ID : 1626531970

Q.2 How many positive integers less than 200 are NOT divisible by three or more primes?

v 1168
X 2122
X 3197
X 4 65

Question ID : 1626531973

Q3 What is the coefficient of X2y in the expansion of (2x — 3y)?°°?

Ans 200 101599
1.
v (99 21013

x 2 (2[}[} 2101399
101y 5101499

B o

X4 — (1{}1)21511399

Question ID : 1626531971

Q4 The center of the nine point circle:

Ans




/< 1. is a point in which one among nine points.

X 2

does not lie at the midpoint of the segments joining the orthocenter to each of the vertices.

o 3. is the circumcenter of the triangle.

< 4. is not the midpoints of the three sides.

Question ID : 1626531984

e (1+5in x) Jx

Q.5
The value of the integral [ is:

l1+cosx
Ans - X 1. sin(logx) + C
X
2 e*tan (E) +C
X 3 logltanx| +C
X 4 e*cotx +C

Question ID : 1626531980

Q.6 For proving that a quadrilateral is a parallelogram, prove any of the following valid conditions:

Ans 1. It is both a Rhombus and a Rectangle.

/X 2. Its diagonals are perpendicular.

2 3. All 4 angles are congruent.

+ 2. Both pairs of opposite angles are congruent.

Question ID : 1626531983

Q.7 3,
The second derivative of the function f(x) = & atx =e is:

Ans b4
LR e

1
x 2 e{(E—Z))
“3‘ —e(ij_g

X4 .3

Question ID : 1626531978

Q8 How many positive integers not exceeding 1000 are divisible by 7 or 11?
Ans X 1. 12

X 2. 90

v 3220

X 4142

[ Question ID : 1626531974




L

Q.9 If(1.5,0), (1.5, 6) and (-1, 6) are mid points of a triangle, then the incentre of the triangle is:

Ans “ 1 (112}
x: ()
<3 (2,3)
X4 (4,0

Question ID : 1626531987

Q.1 The area of the triangle formed by the straight lines 7x — 2y +10=0,7x+ 2y —10=0 and 9%+ y + 2 = 0 is:
0

Ans 626 ;
= 5q. units
275

686 %
X 2. — sq. units
255

868 )
X 3. = sq. units
275

628 )
X 4 — sq. units
275

Question ID : 1626531989

Q.1 In a riangle ABC with vertices A(1,2),B(2,3) and €(3,1) and £C = cos™* G)./—B = £A=cos™" (ﬁ) . Then the
coordinates of circumeentre of the triangle are:

Ans 11
v (52)
6 Ll

X 2 (2,13)
X3 (11,2)

A

Question ID : 1626531988

Q; The solution of the recurrence relation a,, = 6a,_,—9a,_,,a, = 1,a, = 6 is:
Ans o 1 a,=(1+n)3"

X2 a,=(n—1)3"

X3 a,=(1+n)6"

X4 a,=(1-n)3"

Question ID : 1626531972

Q; The set of all points where the function f(x) = 2x|x| is differentiable, is:

Ans 11. (—mj m)




X 2. (0,0)
X 3. [0,00)
X 4. (—o0.0) U (0,0)

Question ID : 1626531977

Q.1 ax®* —b, |x|<1
4  Ifthe function f(x) ={ L—T:_ ’ x| > 1 is differentiable, then the values of a and b are respectively:
Ans x 1.1, 2
W2 0515
& 30505
& A =l

Question ID : 1626531979

% Iffx) = x(vx—+vx+1), then:

Ans 1. f(x) is not differentiable at x =0

o 2. f(x) is differentiable at x =0

/X 3. f(x) is continuous but not differentiable at x =0
X 4 f(x) is differentiable at x = 0

Question ID : 1626531975

Q.1 : L L.
¢ ldentify the false statement given below:
Ans x 1.

If the quadrilateral is cyclic, then the product of the two diagonals is equal to the sum of the products of the opposite
side lengths.

& 2. Ceva’s theorem is concerned with concurrency of the lines.

X 3

Menelau’s theorem is concerned with the collinearity of the points.

o 4 Menelau’s theorem is a not dual version of Ceva’s theorem.

Question ID : 1626531985

Q.1 The area of the quadrilateral whose vertices, taken in order, are (—4,—2), (=3, —5),(3,—2 ) and (2, 3), is:
7

Ans X 1. 22 sq. units
X 2. 23 sq. units
X 3. 26 sq. units
o 2. 28 sq. units

Question ID : 1626531986




@ Euclid’s fifth postulate is:

Ans < 1. All right angles are equal to one another.
X 2. A circle may be described with any center and any radius.

& 3. The whole is greater than the part.
W 4

If a straight line, falling on two straight lines, makes the interior angles on the same side of it, taken together less than
two right angles. then the two straight lines if produced indefinitely. meet on that side on which the sum of angles is less
than two right angles.

Question ID : 1626531981

Q.1 The following theorems present conditions under which triangles are similar. Which is a false conditions of the
9 theorem?

Ans ¢1_

The corresponding sides of the triangle are proportional and the corresponding angles are no congruent.

&2

Side-Angle-Side similarity requires the proportionality of all three sides. If all of the sides are proportional, then all of
the angles must be congruent.

X 3

Side-Angle-Side similarity requires the propertionality of two sides and the congruence of the angle between those
sides.

X 4

Side-Angle-Side similarity requires the congruence of two angles and the side between those angles.

Question ID : 1626531982

Q(',z If f(x) =$ and g(x) = i,where 0 = x = 1, then in the interval:
Ans X 1. Both f{x) and g(x) are increasing functions

' 2 f(x) is an increasing function

/X 3. Both f{x) and g(x) are decreasing functions

/X 4 g(x) is an increasing function

Question ID : 1626531976

Section : Subject Related

Q1 The value of sin 25° cos 65° + cos 25%sin 657 is:
Ans J1_ 1
X 2

X 3
X 4

=

Question ID : 1626532003

Q2 In a histogram, each class rectangle is constructed with base as:




Ans X 1. frequency
< 2 size of the class
v = class interval
/5 4 range

Question ID : 1626532006

Q3 [ftan(A—B) - otan(A + B) = V3, 0° < £(A+ B) < 90° with 2A is greater than B, then £A and 2B ase:
Ans X' 1. LA = 45° 2B = 25°

X2 A= 60°2B= 15°

X3 2A= 30°2B= 15°

W 4 £A= 45° /B = 15°

Question ID : 1626532001

Q.4 A solid consisting of a right circular cone of height 1.20 m and radius 0.60 m standing on a hemisphere of radius 0.60 m
is placed upright in a right circular cylinder full of water such that it touches the bottom. If the radius of the cylinder is
0,60 m and its height is 1.80 m, then the volume of water left in the cylinder is:

Ans X 11132 m3
A< 21130 m?
v 1131 m?
X 41031 m?

Question ID : 1626531999

Q.5 Thecircle x* + ¥% =1 cuts the x-axis at A and B, another circle with centre at B and variable radius. intersects the first
circle at C above the x-axis and the line segment AB at D. Then the maximum area of the triangle is:

Ans ¢1. ﬂ

9 $q. units
4+/2
X2 %_ Q. units
4
X3 $q. units

33

X4,&§

} its
9 sq. uni

Question ID : 1626531994

Q6 1f the median of the distribution given below is 28.5,

Class: 0— 10 10—20 20-30 30—40 40—50 50-60
Frégs 3 a 20 15 b 5 Total 60

then the missing values of a and b are respectively:




Ans 13,7
X225
W87
X4 8.5

Question ID : 1626532009

Q7 Construction of a cumulative frequency table is useful in determining the:

Ans X 1. mode
v &) median
2 3. mean

/X 4. all the three given measures

Question ID : 1626532007

Q8 The angle 6 between the lines joining the points (0, 0),(2,3) and (2,—2),(3,5) is:
Ans 1

X tan™t (é)

Question ID : 1626531991

Q.9 The area of an equilateral triangle inscribed in the circle X% + y? + 2gx+ 2fy +¢c=0 is:

Ans
v %ﬁv’(g2+fz— 1) sq. units

X2 %ﬁ\/(gz+fz+ 1) sq. units

X3 ?\/(gz+fz+ 1) sq. units

<4 iﬁ\/(gz—fz— 1) sq. units

4

Question ID : 1626531993

Q.1 The angle of elevation of the top of a building from the foot of a tower is 30° and the angle of elevation of the top of the
0 tower from the foot of the building is 60°. If the tower is 50 m high. then the height of the building is:

Ans 51
X % m

49
X 2 S m




Question ID : 1626532004

Q.1 The distance between two paralla] lines is unity. A point A lies between the lines at a distance ‘a’ from one of them. If
1 the vertex B lies on one of the parallel lines and the vertex C lies on the other line. then the length of a side of an
equilateral riangle ABC is:

" X1 2/@Fa—D uis
X 2 %E (a? —a+1) uvnits
q/3.-%m units
Ko 2 @Fa+D) unis

Question ID : 1626531990

Q; If sec 4A = cosec(A— 20°), where 4A is an acute angle, then the value of A is:

Ans X 1. 24°
X 2 20°
s 220
X 4 21°

Question ID : 1626532002

Q.1 A vesselis in the form of a hollow hemisphere mounted by a hollow cylinder. The di of the hemisphere is 14 cm
3  and the total height of the vessel is 13 cm. Then the inner surface area of the vessel is:

Ans  of 1. 572 cm?
X 2 562 cm?
X 3. 542 cm?
& 4 527 cm?

Question ID : 1626531997

Q.1 The wheels of a taxi are of diameter 20 cm each. How many complete revolutions does each wheel make in 10 minutes
4 when the taxi is raveling at a speed of 66 kan/h?

Ans X 1. 4355
W 2 4375
X 3. 4735
X 4 4325
Question ID : 1626531996
Q1 In AABC, right angled at B, iftan A = = . then the value of sin A cos C + cos A sin C is equal to:

5 ¥




Ans X-L

X
w
B = O

Question ID : 1626532000

Q.1 A medicine capsule is in the shape of cylinder with two hemispheres stuck to each of its ends . The length of the entire
6 capsule is 14 mm and the diameter of the capsule is 5 mm. Then its surface area is:

Ans X 1. 210 mm?

v 2 220 mm?
X 3

if the radius of the cylinder is 60 cm and its height is 180 em.

X 4 120 mm?

Question ID : 1626531998

Q;‘ The perimeter of a triangle right angled at C is 70, and the in-radius is 6. Then |a —b| equals:

Ans X1 2
X209
X3 8
vl

Question ID : 1626531995

Q.1 A 120 cm tall boy spots a balloon moving with the wind in a horizontal line at a height of 8§20 cm from the ground.
8 The angle of elevation of the balloon from the eyes of the boy at ong instant is 60°, After some time, the angle of
elevation reduces to 30°, Then the distance travelled by the balloon during this interval is:

Ans X 1. 29003 cm
& 2. 5700v/3 cm
# 3 8700v3 cm.
v 4 580043 em

Question ID : 1626532005

Q.1 Three circular coins each of radii 1 cm are kept in an equilateral triangle such that all the three coins touch each other
9 and also the sides of the uiangle. The area of the triangle is:

A of 1 (6+43) cm?
X2 =(12+7v3) am?
X3 (442V3) em?
X 4 =(48+7V3) am?

Question ID : 1626531992




Q.2 In aretail market, fruit vendors were selling apples kept in packing boxes. These boxes containad varying number of
0 apples. The following was the distribution of apples according to the number of boxes.

WNo.of apples: 50 — 52 53— 55 5658 59-—61 62-64
No. of boxes: 15 110 135 115 25

Then the mean number of apples kept in a packing box was:
Ans X 1. 61.54

X 2 50.16

X 3 5264

W 2 57.19

Question ID : 1626532008

Section : Subject Related

Q.1 The normal equations for finding a curve of the form ¥ = a + bx + ex? for “n’ data are:

Ans XT

Yy=na+bYx+crxt,Yaxy=aXx+bXxi+cXx3, Xx?fy=alx®+bYat +c Xt

X 2

Yy=na+bXx+cXax?, Ty?=aXxy+bIx?*+cEx?, YxPy=aXx® +bEx? +cEx?

X 3

Yy—a+bYx+elx?, Txy=aXx+bYx2+ cEx?, Yxly=aXxi+bXa® +oXat
¥ 5 4 i

v

Yy=na+bYx+cXx?, Yaxy=aXx+bXZ+cXxd, Yxty=aXx?+bXxd +cXx?

Question ID : 1626532016

Q.2 Three identical dice are rolled. The probability that the same number will appear on cach of them is:
Ans i

?ﬁ-E
X 2
v &)

P

Bl= glm e

Question ID : 1626532011

Q.3 1f loge®™ is normally distributed with mean 1 and variance 4, then P(0.5 < x < 2) is:
(where the area between z =0 and z=0.25 is 0.0987 and the area betweenz =0 and z=0.5is 0.1915)

Ans X 1. 0.95
X 2 0.693
v 3 029
X 4 0.396




Question ID : 1626532018

Q4 The standard error of the sample mean is:

Ans Jy

the square root of the variance of the population divided by the sample size
& 2. the variance of the population
X 3. the variance of the sample

/X 4. the standard deviation of the sample mean

Question ID : 1626532019

Q.5 A boy noted the number of taxi passing through a spot on a road for 100 periods each of 3 minutes and summarized it in
the table given below.

No. of taxi: 0—10 10-20 20—30 30— 40 40—50 50— 60 60—70 70— 80
Frequency: 07 14 13 12 20 11 B 08

Then the mode is:

Ans X 1. 208
X 2 321
X3 375
o447

Question ID : 1626532010

Q.6 A continnous random variable x has a probability density function f(x) = {sx(lﬂ_ %) '3:, % g_:isle‘ Then the variance
ofxis:
Ans 1
Vi
20
1
w2
40
|
X 3.2
5
il
v
2

Question ID : 1626532017

Q7 Iftwo regression coefficients are —0.1 and —0.9, then correlation coefficient is:

Ans of 1. —0.3
X 203
X3 -09
X409

Question ID : 1626532015




Q8 The probability of getting 4 heads in 6 tosses of a fair coin is:

Ans 15
1. —
a 128

15
T
I3.E

64

30
32

Question ID : 1626532014

Q.9 There are four machines and it is kmown that exactly two of them are faulty. They are tested, one by one. in a random
order till both the faculty machines are identified. Then the probability that only two tests are needed is:

Ans -1
X2

1

ng

1l

?'('3.E

|

v

Question ID : 1626532012

Q.1 1etX be aPoisson random variable such that 2P(X = 0) = P(X = 2). Then the standard deviations of X is:
0

Ans 5 . 2
X2 4
X3 2
v 2

Question ID : 1626532013

Q.1 Inthe classroom context when words are associated with pictures or meanings in language leaming it is an example of:

1
Ans X 1. Trial and error method

/X 2. Discovery method of learning
' 3 Classic conditioning

/< 4. Operant conditioning

Question ID : 1626532022

°é1 Creativity in craft can be described as:




Ans 2 1. Making models according to the given patterns
o 2

Being able to see material not as they are but what they can become
X 3. Being able to make articles based on instructions

/< 4. Following steps and procedures to reproduce given models

Question ID : 1626532027

Q; Which of the following is the law relevant to declining sex ratio?
Ans  of 1. Right against female foeticide

& 2. Right to educational opportunities

/< 3. Right against being arrested at night

< 4 Right to property

Question ID : 1626532024

Q.1 One of the key recomumendations by National Council of Teachers of Mathematics’ Curriculum and Evaluation
4  Standards for School Mathematics (1989 is that instruction in elementary school mathematics should

Ans 1.
shift from skill based to exam oriented approach where students focus on outcomes
> 2
stick to approaches that have been followed by our ancestors
3
follow easy methods where in students can understand and remember with ease

v

shift from a teacher-directed approach to those in which students are actively involved in searching for pattems and
experimenting with their own conjectures.

Question ID : 1626532025

% FRET F T F UH HTURUT F5 FET AT E?
e X1 59 78 TTEeOT A W R
X 2 FT sHF Tataiaed Far AT 3T Hhal ¢
X 2 59 7% 3iga afed T gHH  FRF
v o o9 sEE T B o fewar 2 #

Question ID : 1626532020

°é1 An observable inclusive practice in classroom is when

Ans 4‘1

students with disabilities are not made just mute spectators in learning activities

> 2




students without disabilities are actively participating in all activities
& 3. students with disabilities are made into groups

X 4 students with disabilities are taken out for remedial classes

Question ID : 1626532029

% greg=ET # qRERT AT 51 gear & S |
X T Tl % MR ST I

X 2
Tho T HETHATHT & FeR W wfaa fomar mar

v o Te v, S ¥ e sk wfafafet e
X 4 graEr 3R F F Fer 9 BefEe o

Question ID : 1626532028

Qé'l Identify the right sequence of a scientific method when:
a) testing hypothesis b) identifying the problem c) data gathering d) construct hypothesis
Ans 1. d.a.e.b
W2 b.deca
K3 cb.da
X 4 bocoa,d

Question ID : 1626532023

Q.1 A process that happens when people look at a text and assign meaning to the written symbols in that text™ can be
9 defined as y

Ans  of 1. Reading
/< 2. Drawing
X 3. Writing
X 4 Watching

Question ID : 1626532026

Q.2 Activities like climbing trees, plucking fiuits, jumping, drama ete were part of educational progranunes in educational
0 institutions established by which of the following philosophers?

Ans X 1. Rousseau
X 2. John Dewey

« 3 Rabindranath Tagore
X 4 Sri Aurobindo

Question ID : 1626532021
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QA1

Ans

AT 9= 71 woEs oE #R fov T w7 Se E)
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A 3% gy - ufitg ¥ w7 & I smen

(iv) (b) % 5gwT, ofE sWEr W V418 T 26 F§ F wiw ¥ wig = 3 6 AT wgwE
ST § AT 36 @78 - ST & w9 & A A

TEE A 60.5% I F W g FTETeT o R b 3w 0% oW F my
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Question ID : 16794313519

Q.2

Ans

Choose the odd figure in the options:

AlZ|N|P

A B % D
<1 B
v2D
X3 C
X4 A

Question ID : 16794313514

Ans

Q3 At presert, the ritio between the ages of Suma Vanaja is 5: 7, After § vears Suma's age will be 18 years. What is the

age of Vanaja at present?

/< 1. 20 years

file:///C:/Users/Ankit/Downloads/Qp.html#
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o 2. 28 years

/< 3. 24 years
/< 4. 19 years

Q.4
Ans

PV Sindhu is related to badminton in the same way as Virat kohli is related to:
v 1. Cricket

Question ID : 16794313512

< 2. Basket ball
/< 3. Football
/< 4 Rukbey

Q.5

Ans

Fouar Train tickets from city A 1o B and Two tickets from city A to C cost T 80 bt Two tickets from city A 10 B and four
tickets from city A to € cost T 70. What are the fares for cities B and C from A?

Question ID : 16794313526

W %1510
X2 313,718
K3 T12.719
X4 315325

Q.6

Ans

Tedw, AFE & Far §)1 AR F Rer F R & gedw § a wEy §?

Question ID : 16794313524

X1 s
X 2 steper
v 3 R
X 4 HAT

Q.7

Ans

Study the following carefully and answer the given question:

Question ID : 16794313523

a Actors
Directors ﬂ ;

Singers

Which region denotes Actors, who are Signers but not Directors?
X116
X217
s 3
X4 10

Ans

A Bus always has:

Question ID : 16794313522

/& 1. Hostess
X 2. Tv unit
o 3. Engine
/< 4 Air conditioner

Q.9

Ans

Find the odd pair of numerals: [

Question ID : 16794313529

X1.6:20
X2 11:35
X3 18:56

file:///C:/Users/Ankit/Downloads/Qp.html#
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Wi g:24

Q.10 You are living ina college howel. The Dal-Rice served fo you in the hostel mess has full of werms and sones. What is
il Dest g5 gtttk the iative” Question ID : 16794313520

Ans 1. Leave the stones a side and eat rice
/& 2. Warn the cook about stones in the rice

/< 3. Buy your own rice to cook

v &

Bring the matter to the notice of in charge of mess

Q.11 Select the option that is related to the third term in the same way as the

Ol%

second term is related to the first term.

Question ID : 16794313513

Ans

F 0

)

&~ 2

e

F

]

=

v &

7/

@12 Find the next figure in the series. Question ID : 16794313516

T
:

Ans

3R REI

Question ID : 16794313515
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Ans

Find the next figure in the series.

2 |84 2

v | 3¢
x|}
<[5
[

Qp.html#

Ans

Q.14 If—means +, ~ means ~. - means —, * means —, find the value of 8 <« 7+23 -5 £ 3?

v 1 40
X2 28
X3 a2
X4 37

Question ID : 16794313525

Ans

Q.15 How the pattemn would appear when the transparent sheet is folded at the dotted line.

n
//I

Question ID : 16794313521

Ans

Q16 YWhat will be the missing term in the following series

FR, GS, HT, ?
i TU
X2 YE

file:///C:/Users/Ankit/Downloads/Qp.html#
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Q.17 Select the answer figure in which the question figure is embedded /hidden.

Ans

X a

Question ID : 16794313518

Q18 Find the odd pair of words:
Ans X 1. Owl : Barn

X 2 Bird : Nest

« 3. Mouse : Sty

& 4 Lion: Den

Question ID : 16794313528

Q19 yWhat would be the next term in the series

9,12, 18,30, 54,2
Ans off 1102

< 2. 108

X 3 95

X 4 90

Question ID : 16794313530

Q.20 The following bar chart shows information abowt NTSE pass out percentage for “XYZ" institute for past years. Read the

chart carefislly and answer the question

The number of NTSE pass outs during 201 2-2013.

Ans X 1. 100
v 2 200
X3 175
X 4 150

Question ID : 16794313517
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Section : General A wareness

Q.1 s = iy Tow sEm ¥ & HET 3N AER & A TettE By TR S & T '
e & B st W s R

Question ID : 16794313549

e K e iR
X 2. efer aifda=
X 3. Arerarsteer fEa=
v . grafEerET |g e HiEoae

Q.2 Whick article of the Constinstion of India requites the State to provide free and compulsory education to all children of
the age of six to fourteen years?

Question ID : 16794313538

Ans  of 1. Article 21A
X 2. Article 25
X 3. Article 14
X 4 Article 31 A

Q.3 Forfes & F B o g & wEnam dur & S dew s A & fes Il B oo
Toma #pw w3 = & avm

Question ID : 16794313533

Ans

v . TEERE, fee e
X 2 3FET

K 3 AT o

X 4 emE=ar

Q.4 o= F AR § ¥ W T a AT TREEEA A 7 e & i T e A dE
Fuans A wd &

Question ID : 16794313536

Ans x1. EF‘E
X 2 R
X 3 wufafes
v 4 TET

Q.5 = #F 3 7w n & wmiw F T 280 st A § O o w0 e and & v F S
Ty T 2

Question ID : 16794313534

Ans “1' W
X2 3ueEe
X2 \raEdg
Ko Tt

Q6 sy F whwTT ¥ yraT ¥ WA Bea ¢ wfRve = Ee

Question ID : 16794313539

s X 1. dremwEeT
X 2 9T & Tegafa
X 3 =g
v oaRa & e

Q7 ﬁﬁm#ﬁwmﬁm#mmﬂ'u'am%?[
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SRV ERES o 311

X 2 8T |
X 3 g VI
X 4 gmEr IV

\ J

Q.8 ich i i g
‘Which is the universal blood type needed for emergency transfusions? Question ID : 16794313547

Ans 1. B positive blood group
« 2. AB blood group
#< 3. A positive blood group
« 4 O negative blood group
Q9 YWho started Home Rule League at Poona in 1915-16? Question ID : 16794313532

Ans 3¢ 1. Bhagat Singh
X 2. Sardar Vallabh Bhai Patel
« 5 Bal Gangadhar Tilak
X 4 Annie Besant

Q10 st A e g RS T s h e g mr s Rtm T L, e A E
Gan Question ID : 16794313535

we X 1. 3TER
X2 F@rr
v faeEt
K+ <t

Q.11 = =it w7 97w weE, e A # mrfe, At BT w7 el Ful A amw A o
e SRR A7, ST T § Fipe SPEl S Hast @ = & 59 v e W Question ID : 16794313541

MK e ST
X2 e Feer
v o = R e
X4 R HIA

Q12 YWhere is the famous Meenakshi Amman temple located?
Ans o 1. Madurai

#< 2. Thiruvananthapuram

/< 3. Tirupati

/< 4. Mahabalipuram

Question ID : 16794313542

Q.13 wwarm Sfafas awet # 3w @ =8 g F @9 gF0 a9 e @ o 82
Ans ¢1_ ﬁ.gtr

X 2 HTUTTS 9T

X 5 FurerT

K 4 FremelE
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Q.14 ﬁﬁ:ﬁatﬁﬁm}{rgﬁn#}hﬂﬂtﬁmtqum’m&aﬁmb
Ans o 1 ETER
X2 forg

X o e
X 4 T WETAT

Question ID : 16794313544

Q.15 Who wen the BWF world championship in men's singles category in Nanjing, Ching, in Angust 20187

Ans  of 1. Kento Momota
X 2. Kidambi Srikanth
/< 3. Shi Yuqi

/< 4. Sameer Verma

Question ID : 16794313545

Q.16 Who is the Founder and Chairman of the World E ic Forum, the fnt ional O ization for Public-Private

Cooperation? Question ID : 16794313548
Ans 1. Mukhisa Kituyi

X 2. Roberto Azevedo
/< 3. Guy Ryder
o 4 Klaus Schwab

Q17 Which of the following are called ‘gilt edged securities’?
Ans ¢ 1. Shares of Public Limited companies

< 2. Stocks of Mutual Funds
o 2 Government Securities

Question ID : 16794313540

/< 4. Shares of Private Limited companies

Q.18 Which ci ity in N- ards i 20187
Which city bagged the cleanest city in N-E zone awards in August 201 [ Question ID : 16794313550

Ans

< 1. Dispur, Assam

/< 2. Itanagar, Arunachal Pradesh
« 3. Kackching, Manipur

< 4. Gangtok. Sikkim

Q.19 2w 2020 Gt & 2020 sieifes gram & Prafs o # & s & swar fear SToT?
i XK fErfe aewar

V2 gy F g

X3 IS Y g

X 4 HETS H 9gET

Question ID : 16794313546

Q.20 gzrer & & & e 3T FEUE ¥ w9 § ¥ S # AW sga o e
M e S

X 2 dEroedr SFee

X 3 AeREdas SEre

Question ID : 16794313551
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Section : Arithmetic Ability

Q.1 Inan examination, 75% students passed in mathemarics and 80% passad in physics. If 1496 failed in both subjects, what
15 the percentage of students who passed in bath the subjects?

Ans  of 1. 69%
X 2 63%
K3 51%
X4 71%

Question ID : 16794313558

Q.2 A tar starts from a place Wit a speed of 50 km/h After 90 minutes, another car starts in the same direction with « speed
of 70 kb, After how many hours will the second car overtake the first car?

A

ne v 20 33
X232
X 32
X4 32

Question ID : 16794313565

Q.3 A sumofmoney becomes 140% of itselfin 5 vears. Inhow many vears it will double itself af the same rate of simple
intarest?

Ans x1_ 10
oy
X3 15

21
X4.-?

[

Question ID : 16794313561

Q.4 The HCF oftwo mumbers is 24, If sum of the mumbers is 480, how many such pairs of numbers are possitle?
Ans x1_ 2

K25

VAR

K43

Question ID : 16794313554

Q.5 Aboatcan go 15 km upstream and 21 km downstreant i 3 hours, It can po 25 km upstrearn and 7 ko downstream in 3
ours. What % the speed of stréam in kmA?

Ans X" 1. 4
K23
X35
2

Question ID : 16794313566

Q.6 T (1.5)3+(4.6)3+(3.9)3—4.5x4.6x3.9
©value o (15)2+(46)2+(39)2—15x46—46X39—-39x15

Ans x1_ 10
V2 01
< 3 0,01
PR |

is equal to:

Question ID : 16794313553

Q7 .
If2a=3b="Tc, thanl:%:l is equal to:
a c

Ans

file:///C:/Users/Ankit/Downloads/Qp.html#
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Q.8 The product of mean propertion and third proportion between 6 and 24 is:
Ans x 1. 24

Question ID : 16794313556

X2 18
X 3 2442
o 4 1152

Q9 v i g op¥ e B ; ?
The value of 1 190f311.570f9 = of 24 is equal to:

Question ID : 16794313552

Ans

20

1.2

X 3
K2 2

s =22
K40

Q.10 A man spends 75% of his income. His income is increased by 40% and he increased his expenditure by 24%. His
savings are increased by

Question ID : 16794313559

Ans K 1. 7204
K 2 64%
W' 88%
X 4 58%

Q.11 The cost price of an article A is 24% mor than the cost prce of article B. The article B is 50l for T 1440 af a loss of
10%, At what price should A be s0ld to maks an overall profil of 20%4?

Question ID : 16794313560

Ans X 1. T 2400
X 2. T 2580
X3 .T2720
v 4 2880

Q.12 The efficiencies of A, Band C are in the ratio 2 : 3 : 4. They toether tan complete a piece of work in 24 hours. In bow
many hours B alane can complete 1509 of that work?

Question ID : 16794313567

Ans X 1. 54
V2 108
X372
K 4 90

Q.13 The diameters and heights of two cylinders are in the ratio 3 : 4 and 5 1 6 respectively, What is the ratio of their
corresponding volumes?

Question ID : 16794313564

Ans  of 1. 1532
X22:5
K33:8
K45:8

Q.14 Three numbers are in the ratio 4 : 6 : 9. If their LCM is Ms.whazisthei:H,CF‘.-‘[

Question ID : 16794313555

Ans x1. 9
X2 4

file:///C:/Users/Ankit/Downloads/Qp.html#
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Ans

- A
2
X2 3
Vs 2
X1l
2

Q.15 Two pipes A and B can fill o tank & 4 howrs and 6 hours respectively, whereas pipe C can empty the full tank in 3 hours.
When the tank is empty. pipe € is opened. In how many hours the tank will be filled after the pipe C was apened?

Question ID : 16794313568

year by 50% (rounded off to nearest isteger)?

Ans  of 1. T 9613
X 2. T 9878
X 3. T 10064
X 4 T10423

Q.16 What will be the amount on ¥ §000 for 3 years, if the rte of inferest for first year is 4% per annum and increases every

Question ID : 16794313562

decimal place)?

Ans X' 1. 154 cm
v 2 11.2cem
X3 129cm
X4 12.0cm

Q.17 The sides of s trimgle are 13 cm. 14 cmrand 15 em. What is the alfitude correspoading 1o the langest side (conect to oe

Question ID : 16794313563

Comprehension:

Study the table below about the number of students from various
schools playing various games. Answer the following three

place)?
AS" & 1. 18.4%
X 2. 18.2%

file:///C:/Users/Ankit/Downloads/Qp.html#

school A is what percentage of total students from all
schools who play Cricket (correct to one decimal

questions.
Schools

Games A B C D E
Cricket 120 180 Q0 125 150

Basket ball 80 70 60 90 50

Foot ball 40 65 55 70 35
Hockey 90 55 45 85 65
Badminton 50 40 60 50 30

SubQuestion No : 18
Q! The number of students who play Cricket from

Question ID : 16794313570
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o 3 18.0%
< 4. 18.3%

Comprehension:

Study the table below about the number of students from various
schools playing various games. Answer the following three

questions.
Schools
Games A B C D &
Cricket 120 180 a0 125 150
Basket ball 80 70 60 90 30
Foot ball 40 65 55 70 35
Hockey 90 35 45 85 65
Badminton 30 40 60 50 30
SubQuestion No : 19
Q; What is the ratio of total number of students who [ Question ID : 16794313571
play Hockey to the total number of students who play

Badminton from all schools?
An X' 1.25:27
S

X2 27:32

W3 3423

X4 33:25

Comprehension:

Study the table below about the number of students from various
schools playing various games. Answer the following three

questions.
Schools
Games A B C D E
Cricket 120 180 90 125 150
Basket ball 80 70 60 90 50
Foot ball 40 65 55 70 35
Hockey 20 35 45 85 65
Badminton 50 40 60 50 30

file:///C:/Users/Ankit/Downloads/Qp.html# 12/44
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SubQuestion No : 20

Q.2 .
o~ What is the percentage of total number of players

An
s

playing Basketball or Football (correct to one
decimal point)?

X 1. 33.5%

X 2 33.3%
X 3. 32.8%
W4 33.2%

Question ID : 16794313572

Section : General English

QA1

Identify the part of the sentence that has an error in it.

There has been several complaints about her behaviour in class.

Question ID : 16794313577

A B C D
Ans J 1. A
K2cC
X3 B
X4D
Q.2 ; ;
Choose the incorrect statement from the following sentences. Question ID : 16794313581
Ans i 1.
They ought not be allowed to park their vehicles here.
X 2
There ought to be more police petrol at nights in the city.
~< 3
Ought we to be more worried about the pollution?
< 4
You cught not to have spoken to vour father like that
Q3 Identify the part of the sentence that has an error in it. Question ID : 16794313574
You are the mostunique person [have ever met.
A B C D
Ans x 1. C
K2 A
X3 D
v+ B
Q.4 Fill in the blanks with the most suitable option
Question ID : 16794313584
The second part of the book was not very interesting. but, all ofthe mystery.
Ans x 1.
At the end of the book lie the hints that forces us to read the third part of the book which reveal
X 2
At the end of the book lics the hints that forees us to read the third parts of the book that reveals
F

At the end of the book lies the hints that force us to read the third part of the book that reveal

v

At the end of the book lic the hints that force us to read the third part of the book which reveals

file:///C:/Users/Ankit/Downloads/Qp.html#
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Q.5 Fill in the blanks with the most appropriate answer from below:

Question ID : 16794313580

She asked me if I her notebook

Ans o 1. Had seen. anywhere

/< 2. Had seen, somewhere
X 3. Saw, somewhere

< 4. Have seen, nowhere

Q6 Fill in the blanks with the most suitable option from below:

Question ID : 16794313582

Is it always the brightest students who successful in life?

Ans  of 1. become
X 2. became

/< 3. are becoming

& 4 becomes

Q.7 Fill in the blanks with the most appropriate answer from below:

Question ID : 16794313578

“You are not planning to attend the wedding.  * She exclaimed.
Ans  of 1. Are you?
/< 2. Aren’t you?
X 3 Wasn't it?
X 4 Isn'tit?

Q.8 Fill in the blanks with the most appropriate answer from below:

Question ID : 16794313579

She does think he walks on water ?
Ans X 1. Did she?
' 2. Doesn’t she?
# 3. Didn’t she?
/< 4 Does she?

Q.9 Tendsys not nearly enough time fo complete the emtire syllabns even though they believe it is possible.

Ans 1. are, seems

Question ID : 16794313585

/< 2. are, seem
o 3. is, seem

/< 4. is, seems

Q10 Choose the correct statement from the options given below: [

Question ID : 16794313586

Ans x1.

“Meither the members ofthe andience nor the orchestras know what happened to e manager of the auditorium after the
programme.

X 2

Meither the members of the audiences nor the orchestra knows what happened to the auditorium manager after the
programme.

s

Neither the membery oftk di wor the orch knows what happened to the mavager of the anditerium after the
programume.

5 4

Weither the audizncs nor the orchestra know what happened to the manager of the auditorium sfter the programme,

Q1 Choose the correct statement from the given options. [

file:///C:/Users/Ankit/Downloads/Qp.html#
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Ans x1_

In the farming sector, there are no new companies frvesting at the moment, which is difficult for firmers to continge in
this field.

X2

In the farming sector, at the moment there are no new companies investing, which makes & difficult for we farmers, to
comtimue in this field,

&~ 3

In the farming sector at the moment, there are no new companies fvesting which make it difficult for we farmers to
continue m this feld.

v &

In the farming sector, there are no new compenies investing ot the moment, a fact that makes it difficult for us farmers to
continue in this field

Q.12 Identify the part of the sentence that has an eror in it.

Question ID : 16794313576

Oue main criteria  for selection of candidatesis their English proficiency.
A B C D
Ans x 1. B
X2D
X3 C

i

Q.13 Fill intheblanks with the most suitable answer.

Out of all my gifts. the book was written by your favourite author in the mein chamcter dies is the one T
like the most

Question ID : 16794313587

Ans  of 1. that, which
/< 2. which, what
/< 3. that, that
/< 4. which, which

Q14 Tdentify the part of the sentence that has an error in it.

Question ID : 16794313575

Bring the medicine fo your sister right now.
A B C D

Ans 1.
52
~< 3
Vi A

Mg w

Q15 Identify the part of the sentence that has an error in it. [

Question ID : 16794313573

They cannot leave the office without a special permission.
A B C D

s K1 A
X2 B
X3 cC
v+ D

Comprehension:

Reading Passage: A Point of View: In defence of obscure words

By Will Self, BBC

We are living in a risk-averse culture - there's no doubt about that.

But the risk that people seem most reluctant taking is not a
physical but a mental one: just as the concrete in children's
nlavermmds haz hean coverad with mihher an the hard trmith
file:///C:/Users/Ankit/Downloads/Qp.html#
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about the effort needed for intellectual attainment is being softened
by a sort of semantic padding.

Both general readers and specialist critics often complain
about my own use of English - not only in my books, but also
in my newspaper articles and even in radio talks such as these.
In over twenty years of publishing fiction and journalism, I've
become pretty much inured to these slings and arrows,
regarding them as par for the anti-intellectual course. I used to
remonstrate with those who raised the S-word (S being for
sesquipedalian, an obscure word that means 'a lover of
obscure words).

I'd point out that my texts were as full of resolutely Anglo-
Saxon slang as they were the flowery and the Latinate. I'd
observe that English. being a mishmash of several different
languages, had a large and exciting vocabulary, and that it
seemed a shame not to use it - especially given that it went on
growing all the time, spawning argot and specialist terminology
as freely as an oyster does its milt.

In the literary wotld, books intended for child readers are
repackaged and sold to kidult ones, while even notionally
highbrow arbiters - such as Booker judges - are obsessed by
that nauseous confection "a jolly good read". That
Shakespeare remains our national writer is, frankly, bizarre,
given that with his recondite vocabulary, myriad historical
references, and convoluted metaphorical language, were he to
be seeking publication in the current milieu, his sonnets and
plays would undoubtedly also be branded as 'too difficult'.

But the most disturbing result of this retreat from the difficult
is to be found in arts and humanities education, where the
traditional set texts are now chopped up into boneless nuggets
of McKnowledge. and students are encouraged to do their
research - such as it is - on the web.

In place of the difficulty involved in seeking out the literary
canon, younger people are coming to rely on search engines to
do their thinking for them. The end result of this will be a
standardisation of understanding itself, as people become
unable to think outside of the box-shaped screen.

The nadir came for me when my daughter - who had been
assigned Great Expectations as a GCSE text - was told the
novel's ending by her English teacher, on the grounds that,
having read the little gobbets served up for interpretation,
according to her pedagogue there was no necessity for her to
try and choke down the whole indigestible meal.

- - .~ 1 PEBE .t 1 - 4 ~
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My Iigures 0I I00Q are entrely Mg, because we are m ganger or
becoming morbidly obese through the consumption of such fast
culture. The contrast with sport is instructive: in both realms of
human endeavour, the consumers are largely passive, but at least
sports fans - unlike cultural ones - don't protest against elite
athletes, or bar them from competing on the grounds that they are
too fast, too strong, or too limber.

On the contrary, we are repeatedly told by the likes of Sebastian
Coe that athletes capable of the most difficult feats offer vital
inspiration to couch-potato kids. Let the same be the case for
mental athletics, because without the bar to jump over set high,
we'll all end up simply playing in the sandpit.

SubQuestion No : 16

Match the words in column A with the most suitable Question ID : 16794313591

meanings from column B

Column A Column B

i) nadir a) argue

ii) recondite b) setting

iii) argot c) obscure

iv) remonstrate d) standard

V) canon ¢) lowest point
vi) milieu f) jargon

<1

Df i)d  di)e e Wb via
X2id i#)f ii)a ive wvb vie
X3db i)a ii)e iv)d WE vic
Viide ide  iif ivya wd vib

Comprehension:

Reading Passage: A Point of View: In defence of obscure words
By Wil Self, BBC

We are living in a risk-averse culture - there's no doubt about that.

But the risk that people seem most reluctant taking is not a
physical but a mental one: just as the concrete in children's
playgrounds has been covered with rubber, so the hard truth
about the effort needed for intellectual attainment is being softened
by a sort of semantic padding.

Both general readers and specialist critics often complain
about my own use of English - not only in my books. but also
in my newspaper articles and even in radio talks such as these.
In over twenty years of publishing fiction and journalism, I've
become pretty much inured to these slings and arrows,
regarding them as par for the anti-intellectual course. I used to
remonstrate with those who raised the S-word (S being for
sesmuinedalian. an ohscire word that means 'a lover of

file:///C:/Users/Ankit/Downloads/Qp.html#
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obscure words).

I'd point out that my texts were as full of resolutely Anglo-
Saxon slang as they were the flowery and the Latinate. I'd
observe that English, being a mishmash of several different
languages. had a large and exciting vocabulary. and that it
seemed a shame not to use it - especially given that it went on
growing all the time, spawning argot and specialist terminology
as freely as an oyster does its milt.

In the literary world, books intended for child readers are
repackaged and sold to kidult ones, while even notionally
highbrow arbiters - such as Booker judges - are obsessed by
that nauseous confection "a jolly good read". That
Shakespeare remains our national writer is, frankly, bizarre,
given that with his recondite vocabulary, myriad historical
references, and convoluted metaphorical language, were he to
be seeking publication in the current milieu, his sonnets and
plays would undoubtedly also be branded as 'too difficult'.

But the most disturbing result of this retreat from the difficult
is to be found in arts and humanities education, where the
traditional set texts are now chopped up into boneless nuggets
of McKnowledge, and students are encouraged to do their
research - such as it is - on the web.

In place of the difficulty involved in seeking out the literary
canon, younger people are coming to rely on search engines to
do their thinking for them. The end result of this will be a
standardisation of understanding itself, as people become
unable to think outside of the box-shaped screen.

The nadir came for me when my daughter - who had been
assigned Great Expectations as a GCSE text - was told the
novel's ending by her English teacher, on the grounds that,
having read the little gobbets served up for interpretation,
according to her pedagogue there was no necessity for her to
try and choke down the whole indigestible meal.

My figures of food are entirely fitting, because we are in danger of
becoming morbidly obese through the consumption of such fast
culture. The contrast with sport is instructive: in both realms of
human endeavour, the consumers are largely passive, but at least
sports fans - unlike cultural ones - don't protest against elite
athletes, or bar them from competing on the grounds that they are
too fast, too strong, or too limber.

On the contrary, we are repeatedly told by the likes of Sebastian
Coe that athletes capable of the most difficult feats offer vital
inaniration tn conch-natatn kids T.ef the zame he the caze fir
file:///C:/Users/Ankit/Downloads/Qp.html# 18/44
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mental athletics, because without the bar to jump over set high,
we'll all end up simply playing in the sandpit.

SubQuestion No : 17

The passage is taken from: Question D : 16794313592

/< 1. An article from a magazine
o 2. The transcript from a radio broadcast

X 3. An article from a column
& 4. An excerpt from a book

file:///C:/Users/Ankit/Downloads/Qp.html#

Comprehension:

Reading Passage: A Point of View: In defence of obscure words
By Will Self, BBC

We are living in a risk-averse culture - there's no doubt about that.

But the risk that people seem most reluctant taking is not a
physical but a mental one: just as the concrete in children's
playgrounds has been covered with rubber, so the hard truth
about the effort needed for intellectual attainment is being softened
by a sort of semantic padding.

Both general readers and specialist critics often complain
about my own use of English - not only in my books. but also
in my newspaper articles and even in radio talks such as these.
In over twenty years of publishing fiction and journalism, I've
become pretty much inured to these slings and arrows,
regarding them as par for the anti-intellectual course. I used to
remonstrate with those who raised the S-word (S being for
sesquipedalian, an obscure word that means 'a lover of
obscure words).

I'd point out that my texts were as full of resolutely Anglo-
Saxon slang as they were the flowery and the Latinate. I'd
observe that English, being a mishmash of several different
languages. had a large and exciting vocabulary. and that it
seemed a shame not to use it - especially given that it went on
growing all the time, spawning argot and specialist terminology
as freely as an oyster does its milt.

In the literary world, books intended for child readers are
repackaged and sold to kidult ones, while even notionally
highbrow arbiters - such as Booker judges - are obsessed by
that nauseous confection "a jolly good read". That
Shakespeare remains our national writer is, frankly, bizarre,
given that with his recondite vocabulary, myriad historical
references, and convoluted metaphorical language, were he to
be seeking publication in the current milieu, his sonnets and
plays would undoubtedly also be branded as 'too difficult'.
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But the most disturbing result of this retreat from the ditficult
is to be found in arts and humanities education, where the
traditional set texts are now chopped up into boneless nuggets
of McKnowledge, and students are encouraged to do their
research - such as it is - on the web.

In place of the difficulty involved in seeking out the literary
canon, younger people are coming to rely on search engines to
do their thinking for them. The end result of this will be a
standardisation of understanding itself, as people become
unable to think outside of the box-shaped screen.

The nadir came for me when my daughter - who had been
assigned Great Expectations as a GCSE text - was told the
novel's ending by her English teacher, on the grounds that,
having read the little gobbets served up for interpretation,
according to her pedagogue there was no necessity for her to
try and choke down the whole indigestible meal.

My figures of food are entirely fitting, because we are in danger of
becoming morbidly obese through the consumption of such fast
culture. The contrast with sport is mstructive: in both realms of
human endeavour, the consumers are largely passive, but at least
sports fans - unlike cultural ones - don't protest against elite
athletes, or bar them from competing on the grounds that they are
too fast, too strong, or too limber.

On the contrary, we are repeatedly told by the likes of Sebastian
Coe that athletes capable of the most difficult feats offer vital
mspiration to couch-potato kids. Let the same be the case for
mental athletics, because without the bar to jump over set high,
we'll all end up simply playing in the sandpit.

SubQuestion No : 18

Q.1 : : - -
s Lhe most important idea of the passage is that. Question ID : 16794313589

An  of 1.

) Literary works or arts with difficult content are good
for us because it inspires a higher level of intellectual
attainment.

X 2.
It is important to defend the use of difficult or
obscure words as it improves our vocabulary.

X 3.
We are living in a risk-averse culture, which expects
everything to be easy and not difficult.

X a

file:///C:/Users/Ankit/Downloads/Qp.html#
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The consumption of ‘fast culture’ is dangerous for
our society as it permeates the fields of atts, sports
and academics.

Comprehension:

Reading Passage: A Point of View: In defence of obscure words
By Will Self, BBC

We are living in a risk-averse culture - there's no doubt about that.

But the risk that people seem most reluctant taking is not a
physical but a mental one: just as the concrete in children's
playgrounds has been covered with rubber, so the hard truth
about the effort needed for intellectual attainment is being softened
by a sort of semantic padding.

Both general readers and specialist critics often complain
about my own use of English - not only in my books. but also
in my newspaper articles and even in radio talks such as these.
In over twenty years of publishing fiction and journalism, I've
become pretty much inured to these slings and arrows,
regarding them as par for the anti-intellectual course. I used to
remonstrate with those who raised the S-word (S being for
sesquipedalian, an obscure word that means 'a lover of
obscure words).

I'd point out that my texts were as full of resolutely Anglo-
Saxon slang as they were the flowery and the Latinate. I'd
observe that English, being a mishmash of several different
languages. had a large and exciting vocabulary. and that it
seemed a shame not to use it - especially given that it went on
growing all the time, spawning argot and specialist terminology
as freely as an oyster does its milt.

In the literary world, books intended for child readers are
repackaged and sold to kidult ones, while even notionally
highbrow arbiters - such as Booker judges - are obsessed by
that nauseous confection "a jolly good read". That
Shakespeare remains our national writer is, frankly, bizarre,
given that with his recondite vocabulary, myriad historical
references, and convoluted metaphorical language, were he to
be seeking publication in the current milieu, his sonnets and
plays would undoubtedly also be branded as 'too difficult'.

But the most disturbing result of this retreat from the difficult
is to be found in arts and humanities education, where the
traditional set texts are now chopped up into boneless nuggets
of McKnowledge, and students are encouraged to do their
research - such as it is - on the web.

In place of the difficulty involved in seeking out the literary
canon, younger people are coming to rely on search engines to
do their thinking for them. The end result of this will be a
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standardisation of understanding itself, as people become
unable to think outside of the box-shaped screen.

The nadir came for me when my daughter - who had been
assigned Great Expectations as a GCSE text - was told the
novel's ending by her English teacher, on the grounds that,
having read the little gobbets served up for interpretation,
according to her pedagogue there was no necessity for her to
try and choke down the whole indigestible meal.

My figures of food are entirely fitting. because we are in danger of
becoming morbidly obese through the consumption of such fast
culture. The contrast with sport is instructive: in both realms of
human endeavour, the consumers are largely passive, but at least
sports fans - unlike cultural ones - don't protest against elite
athletes, or bar them from competing on the grounds that they are
too fast, too strong, or too limber.

On the contrary, we are repeatedly told by the likes of Sebastian
Coe that athletes capable of the most difficult feats offer vital
mspiration to couch-potato kids. Let the same be the case for
mental athletics, because without the bar to jump over set high,
we'll all end up simply playing in the sandpit.

SubQuestion No : 19

Q.1 b :
, Based on the passage, choose the statement that is Question ID : 16794313593
not true.

An X1,
° Wil Self’s daughter is discouraged from reading the
novel ‘Great Expectations’ by her English teacher.
X 2
The passage uses metaphors and allusions to junk
food to foreground the dangers of ‘fast culture.’

W 3
If Shakespeare were living today. the literary world
would highly appreciate and honour his works.

X 4
The Anglo-Saxon and Latin roots of English

language vocabulary regularly lends itself to creation
of new words.

Comprehension:
Reading Passage: A Point of View: In defence of obscure words
By Will Self, BBC
We are living in a risk-averse culture - there's no doubt about that.

But the risk that people seem most reluctant taking is not a
phvsical but a mental one: iust as the concrete in children's
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iala;ygrounds has been covered with tubber, so the hard truth
about the effort needed for intellectual attainment is being softened
by a sort of semantic padding.

Both general readers and specialist critics often complain
about my own use of English - not only in my books. but also
in my newspaper articles and even in radio talks such as these.
In over twenty years of publishing fiction and journalism, I've
become pretty much inured to these slings and arrows,
regarding them as par for the anti-intellectual course. I used to
remonstrate with those who raised the S-word (S being for
sesquipedalian, an obscure word that means 'a lover of
obscure words).

I'd point out that my texts were as full of resolutely Anglo-
Saxon slang as they were the flowery and the Latinate. I'd
observe that English. being a mishmash of several different
languages. had a large and exciting vocabulary. and that it
seemed a shame not to use it - especially given that it went on
growing all the time, spawning argot and specialist terminology
as freely as an oyster does its milt.

In the literary world, books intended for child readers are
repackaged and sold to kidult ones, while even notionally
highbrow arbiters - such as Booker judges - are obsessed by
that nauseous confection "a jolly good read". That
Shakespeare remains our national writer is, frankly, bizarre,
given that with his recondite vocabulary, myriad historical
references, and convoluted metaphorical language, were he to
be seeking publication in the current milieu, his sonnets and
plays would undoubtedly also be branded as 'too difficult'.

But the most disturbing result of this retreat from the difficult
is to be found in arts and humanities education, where the
traditional set texts are now chopped up into boneless nuggets
of McKnowledge, and students are encouraged to do their
research - such as it is - on the web.

In place of the difficulty involved in seeking out the literary
canon, younger people are coming to rely on search engines to
do their thinking for them. The end result of this will be a
standardisation of understanding itself, as people become
unable to think outside of the box-shaped screen.

The nadir came for me when my daughter - who had been
assigned Great Expectations as a GCSE text - was told the
novel's ending by her English teacher, on the grounds that,
having read the little gobbets served up for interpretation,
according to her pedagogue there was no necessity for her to
try and choke down the whole indigestible meal.
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My figures of food are entirely fitting, because we are in danger of
becoming morbidly obese through the consumption of such fast
culture. The contrast with sport is mstructive: in both realms of
human endeavour, the consumers are largely passive, but at least
sports fans - unlike cultural ones - don't protest against elite
athletes, or bar them from competing on the grounds that they are
too fast, too strong, or too limber.

On the contrary, we are repeatedly told by the likes of Sebastian
Coe that athletes capable of the most difficult feats offer vital
inspiration to couch-potato kids. Let the same be the case for
mental athletics, because without the bar to jump over set high,
we'll all end up simply playing in the sandpit.

SubQuestion No : 20

: : 5
Choose the most appropriate meaning of “par for the Question ID : 16794313590

anti-intellectual course” based on your reading of the
passage.

v a

Expectad behaviour from someone who suppotts
anti-intellectualism

< 2

Something that exists to prevent anti-intellectualism

X3 Something or someone in support of anti-
intellectualism

X 4. Criticism from close quarters

a ‘STTEATAT U FiA-H TATH =l EHEEL %"? Question ID : 16794313600
s gy Eﬁ“l

X 2 AT

X 3. W

X 4 semdrsTa
az Gol @ T4 1E N TF T FE wa FT Question ID : 16794313597
K e

<2 gfesg

A i S

X4 3T 8@
s ‘SRS ofeg H O & Question ID : 16794313599
Ans
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A 1 AT
V2 e
K3 =R
X4 e

Q4

Ans

“HTOT F "I fHe F-wT §9 2 IF deiaT Y & B

Question ID

116794313612

X 1. 90T & §E T §
X2 oy forgr T F ST AT

v odr aafEg # il ue e
X4 2@ H =T 8T & 59¢

Q.5

Ans

ﬁw#mmaﬁgﬁsaﬁﬁmrm#mqﬁ&[

Question ID

116794313613

v R
X 2 Fgr
X3 F amar ar ar
X« Fo 7 e

Q.6

Ans

aiEae e F ITTT &

Question ID

116794313601

P -y
2 ofY
P
K4y

Q.7

Ans

TcOH e FiA-TT 87

Question ID

116794313604

K 1. HFTT
Xz.ﬁgj
X 3 S8
VER i

Q.8

Ans

‘TTOT g F A g T

Question ID

116794313607

v wfaeer
K 2 HTeRTeT
X o =rga

X 4 UiTEw

Q.9

Ans

THT I T FAT B FET F SO FE 272

Question ID

116794313598

v . =ar
X2 w3
X 3. FISA
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X 4. FIOT

0 Foer e H HEER B TIE FIA-WN AT HIT?

Question ID : 16794313594

Ans ¢1_ =

-

X2 10
Xa =
X4 B

Q1

TET 9eC FE-aT B2 [

Question ID : 16794313605

Ans x1_ m
X2 g
Xo g
W 4 qar

Q12 o AR A T @Y T F v o e E

Question ID : 16794313606

s K1 ferswoT
X 2 e
X s T
W o e

Q13 iz apsfr-antr T ¥ aET & Eifea BT i

Question ID : 16794313610

Ans =y EET Cy
X 2 g
V5 e
K4 TEHE

W ww aeg 1 agEEa (FRwiEEE) @

Question ID : 16794313609

Ans x1_ q-ﬁr
X 2 et
W o e
K4 e

QTS o T g ST

Question ID : 16794313608

Ans ¢1. EER-
X 2 FHfed

X5 e
K 4 HTAT

Q10 ror AT FIATI' §F HY F TIFT B A TETRT

Question ID : 16794313611

A K1 Il ST
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O Pe-ar e fygrwor 12

Question ID : 16794313603

Ans

X1 s

X2 gqiea
v s
X4 3T

O R aeg # wewd &

Question ID : 16794313602

Ans o 1 T
K2 A
K3 3
X4T

O e g Wle-m €7

Question ID : 16794313596

e XK e
X2 WEE
< 3. gredrgs
¢ TaReRTedr

O ey T AT T F [

Question ID : 16794313595

Ans X1 T A H
X28IT
iaas
Xegae

Section : Subject Related

Q.1 Sclve the equation x* — 1327+ 155+ 189 = 0, being given that one of the 1oots exgeeds aother by 2

Ans x 1. {:31_ ?J _9.]

Question ID : 16794313632

V2 (-3,7,9)
X3 (3,79
X 4 (=3,-7,-9)

Q2 faedt & vRarw et & @ vF 3k REw g ad §- s w7 e g

Question ID : 16794313614

Ans X 1. AT o

X 2 xgaEEar (e
W 3 Eelcd J[0T
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Q.3 Which of the following sets of vectors in B3 are linearly independent:

Ans

Question ID : 16794313625

1. [(1,0,0),(0,1,0),(1,1,0)]

[

- [(1,0,0),(0,1,0 ),(0,0,1)]

s

. [(0,1,0),(1,0,1),(1,1,0)]

4. [(0,0,1),(0,1,0),(0,1,1)]

X1 land?2
2 2and3
X3 land4
X 4 3and4

Q.4

Ans

H.C. F of 143 and 481 is 143m+481n, then m, n are equal to:

Question ID : 16794313615

X193
X2 -8,3
W3 -10.3
K4 7.3

Q.5

Ans

-6 -6
By what number 3 be divided that the quotient is equals to 2

Question ID : 16794313618

v &
x 2 (E 3

)
%0
)

x4 (E

2

iz

iz

Q.6

Ans

i 3 1
The rank of the matrix

Question ID : 16794313628

a b Clwherea=b¢cis:
at B e*

r R
X 2
s
< 4

by = D

]

Q7

The following simultaneous equations:

Question ID : 16794313629

x+y+z=3
x+2y+3z=4
x+4y+kz=6

Will not have a unique solution for k equal to:
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Ans  of 1.
&~ 2
~< 3
F 3

Q.8 Theequations 2x*+ 52" —6x—9=0zand 37+ 7x*—11x—15=0 havenwcmmoumetsﬁ.ndﬂum:[

Ans J 1. (_1: _3}

(1

X3 (1,-3)
s (43)

th © O =

Question ID : 16794313630

Q.9

W, . a5 2n? i ) )
For every positive integern, n’ + il - Question ID : 16794313623

3 105

Ans 3 1. An odd integer
< 2. An integer
< 3. A negative real number
+ 4. A rational number

Q10 The number of factors and their sum of 360 are: Question ID : 16794313624

Ans %112, 540
X 2. 24, 1080
5 24, 1170
X 4. 12,810

Q.11 Find the sum of the cubes of the roots of the equation x* — 6x* + 11x— 6 =10

Ans X 1. 31
X2 32
X3 35
v 36

Q.12 A fratic : inlin ¢ leaves der 4, 4 and (¥ respectively . When divided by (v — 1), (x - 2jand 1 =3 .
Find ifs quadratic palynomial: Question ID : 16794313633

X1 —2x24+6x+5
W2 —2x%+6x

Question ID : 16794313631

Ans

K3 —2x2+6x—5
X4 —2x2+6x+3

Q.13 Ifais 4 whole number and p is a prime number then according to Fermat's theorem:
Ans 1. 2P=1 2 s divisible by p

/&< 2. 2P —1 isdivisible by p

/< 3 2P —2 isnotdivisible by p

o 4 2P —2 isdivisible by p

Question ID : 16794313621

file:///C:/Users/Ankit/Downloads/Qp.html# 29/44



11/23/2018 Qp.htmi#

Q.14 1 1 :
Ifa=——, b= then the value of a® + b? is: Question ID : 16794313617
3-242 34242
Ans x 1. 36
X2 37
s 34
X 4. 35
Q.15 Ifthe set of all triplets ( xy,%;, 13 ) of real oumber R form a vestoe space 1y thena subspace denoted by a vertical plane
RO aige iy ity cmbiintion o s Question ID : 16794313627

Ans o 1. (1,1,0)and (0,0, 1)
X2 (1,0,1)and (0,0, 1)
X3 (1,0,0)and(0,1,0)
X4 (1,1,0)and(1,0,0)

Q16 1f ¢ is the Euler’s Totieut function , then ¢(92) is: Question ID : 16794313619
Ans  of 1 44
K2 46
< 3 48
X442
Q.17 The mmber of ways in which 39312 can be resolved into two factors which are prime to each other aze:
Question ID : 16794313620
Ans x 1. G
X210
v g
X4 4
Q.18 : s L
Which of the following is false? Question ID : 16794313616

Ans X 1. /2 is a rational number

/< 2. Every irrational number is a real number
/< 3. Every integer is a real number

« 4 Every rational number is a real number

Q19 Apply Chinese Remainder Theorem to solve P —

X =23 (mod 5), X=5 (mod7). The common solution is:
Ans o 1. X =33 (mod 35)
&K 2 X=31 (mod 5)
X 3 X =27 (mod 35)
X 4 X =28 (mod 35)

Q.20 wymich of the following set is the basis for the subspace W={[ ";]:X+2y+r=l],y+t=l}}[
Ans X1 {[—21 _11]}
v {; 71}
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Section : Subject Related

Q.1 The sum of the first 20 terms of an arithmetic progression whose first term is 5 and common difference is 4 is---- ¢

Question ID : 16794313648

Ans K 1. 830
X 2. 850
X 3 820
W 4 860

Q2 If @ and # are the roots of the aquation x> — 12x + 32 — 0 then the value of %r is: [

Question ID : 16794313641

Ans

Q.3 Hawx+dy+e =0and ax+ by +ey= 0 laveinfinite number of sohrtions, then which ane of the following is [
cairect:

Question ID : 16794313639

Ans a b c
X122

az by Cz

a b, c

P2 St

Qg b Gz

a b, c

x 3, ==t _ "1

az by Cz

o by Ca

Q4 1fq2 4 b? + ¢? = 1 then ab + bc + ca lies in the interval:
Ans [1

Question ID : 16794313652

x5
x [
v [
K [o]

Q5 if{a —b) and (b —c) arc therootsof ax® + bx + ¢ = 0 then the value prla=bitb=a is:
o

Question ID : 16794313645

Ans “1.
X2
P o

ia

nlE 0
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b
4. 22
x [

Q.6

(a+b+c]&+i+3 is:

Question ID : 16794313653

Ans X 1. Less than or equal to 9
/< 2. Less than or equal to 3
o 3. Greater than or equal to 9
#< 4. Greater than or equal to 3

Q.7 Ifanordered pair satisfying the equations 2x — 33 = 18 and 4x — y = 16 also satisfving the equation
5x —py—23 =10, then find the value of p:

Question ID : 16794313638

Ans x1. = |
K21
s 2
x4 =2

Q.8 ifthe sumof 16 ferms of an AP s 1624 and the first term is 500 fimes the common difference. then find the common
difference:

Question ID : 16794313650

Ans x1_ 3
W
K3
X 4

L I I I T

Q.9 1foneroot ofthe equation 1 + pr +12 = 0 is 4, while the equation ¥ + px + q = 0 has equal roots, then mmeue[
of qis

Question ID : 16794313644

Ans x1_ 4
X212
X33

49
1/4.-:

Q.10 Ifa+B+y=>5, aff +fy+ya="7and afy=3, then the equation where roots are ., f and y is:

Ans X1 x3 7 =0

Question ID : 16794313634

W2 x? —Bx24+7x—3=0
X3 x347x2—-3=0
K4 x24+7x2+3=0

Q11 The general term of A.P. whose sum of n terms is given by 4n” + 3n, is: [

Question ID : 16794313651

Ans X1 8n +1

X2 6n—2
X3 6n+2
vi8n—-1

Q.12 1f oue of the rovts of quadratic squation baving rational coefficients is V7 —4, thenthe quadnatic equation is:

Question ID : 16794313642

AW a2 2Tx—9=0
X2 x2_8x+9=0
X3 x248x+9=0

file:///C:/Users/Ankit/Downloads/Qp.html#

32/44



11/23/2018 Qp.htmi#

K4 x2_2Tx+9=0

Q.13 1fihe polyvomial 21* + kn® — 75k is divided by v the remaiader is 150 . thea the value of k will be:

Ans X 1.2

X2 —1

s -2

X4l
Q.14 i the quadeatic equation (a* — b )x* + (0 — £ )x+ & —a® = 0 has equal roots, then which of the following is tie:
Ans x1_ B2 =2 42a2

V2 p? 4 =2a?

K3 b2 —c? =2a?

K4 b2 tet=a?

Question ID : 16794313635

Question ID : 16794313646

Q.15 Mukesh has some cowsand some hens in the shed. The total munber of kegs is 92 and total number of heads is 29. Find
IS e Oy Sl Question ID : 16794313640

Ans x1_ 19
V2 17
K314
X412

Q16 The nature of the roots of the equation 4x% —2x—3 =0. [ Question 1D : 16794313643

Ans X 1. Imaginary
o 2. Irrational and unequal
/< 3. Rational and unequal
/< 4. Real and equal

Q.17 1fthe systemof equations 2x — 3y =3 and — 4x + gy = :4 ts inconststent which of the following cannot be the value
p?

Ars K1 -18
X2 —24
W3 —12
X4 —36

Q.18 Which term of the arithmetic progression 21, 42. 63, 84 is 420?

Ans X 1. 21
X2 19
'3 20
X4 22

Q.19 For what valoe of k do the squations 3(k — Lix +4y = 24 and 15x + 20y = 8(k + 13) have infinite sobutions?

Ans x1_ 3
X2 4
VN
X4l

Question ID : 16794313637

Question ID : 16794313647

Question ID : 16794313636

Q.20 The sum of the first 51 terms of the arithmetic progression 2 tam s 2 and 4P term is 8, is 5

Question ID : 16794313649
Ans  of 1. 3774
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X 2. 7458
X 3 3477
X 4 7548

Section : Subject Related

Q.1 Inthe given figure O is the centre of the circle and AD is the tangent to the circle at A, If .
2CAD = 55'and 2ADC — 25 then find 2ABO Question ID : 16794313671

Ans 11_ 10°
X 2 15°
X 3 250
X 4. 200

Q.2 Inevery(n+ L)-- elementic subset of the set (1,2,3,— = — = 2n) which oilhcfeﬁmvingiscomt:[

Ans 11_

There exist at least two natural numbers which are prime to each other

&~ 2

There exist at least three natural umber which are prime to each other

Question ID : 16794313659

#< 3. There exist no consecutive natural number

X 4

There exist more than two natural numbers which are prime to each other

3 gz s B 2 2
Q The derivative of sin™! f w, I, ttan ! 1_x is equal to: Question ID : 16794313665

xz _xz

Ans 2x

1_ »
x 1-—x2

vl
K30

X
oo

Q.4 WmAABC AB = bem BC = 6em and €A = Tem g wansversal is drawn to ot the sides AB ot F. BC procuced at I and
CAME sothat AF = 20m, AE = 4 cm applying Menelaus theovem the length of BD is: Question ID : 16794313669

Ans X112 cm
< 2 8cm
v 3 10 cm
K 4 l4cm

Q5 — .
Evaluation of f x sec?x dx is: Question ID : 16794313667

Ans X1 xtanx + logsinx + ¢
2 xtanx +logcosx +c¢
&3 xtanx —logsinx +¢
&4 xtanx —logcosx +¢

Q.6 Which one of the following inequality s correct if @y, @z 63 — — — —,a, bereal oumbers? (vse Tehebychef's
Inequality) Question ID : 16794313655
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Ans 11_

(o, va,¥—=——=—3a YW<nlel ras¥———=4a2)
52
(a,+a,+a;,—— — —+a, ) >n@+ai+—— — —+ad)
&~ 3
(ai+ta,+a——— —+a,)2>m—1)(ai+al+—— — —+dad)
x4
(ay+a,+—— — —+a, ) sm—-Da+ai+—— — —+dd)

Q.7 Inthe following figure (not o scalz), AB = D and ABandCD are prodnced to mest & point P I £BAC = 70°, then
find £P
LS
i
I ‘\\\-\._
vt
Ans o
X 1. 50
Q
X 2 30

V'3 40°
X 4 45°

Question ID : 16794313672

Q8 If n bea positive integer [fthe coefficien: of 2™ 3% 4% ferms i the expansionof (1 + x)" are in AP. Then the value

ofn is Question ID : 16794313661

Ans XK 1.9
X2 5
X3 8
a7

Q.9 1-tanx

1+tan x

Ans 3¢ 1. log(sin—cosx) +c¢

Evaluation of f dx is: Question D : 16794313668

& 2 log(sin —cotx) +c¢
W 3 log(sin+cosx) +c¢
X 4 log(cos—cotx) +c

Q10 1 the function of f(x) = ﬁ . express f(3x) in terms of f(x) Question ID : 16794313663

Ans A
2+flxl+1

5 3filx)
X 3flx)-1

X3 3f(x)—1

4 3f(x)
x 3flxl-3

Q.11 Givea the recurrenee relation f(n) = (n— 1)+ f(n—1), n=> 72, f(2)=1,then f(n) is:

Ans x N EH(H _.1)

Question ID : 16794313660

x 2 n{n+1}
2

“ 3. nin—1}

2
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X inm+1)

Q.12 1. . .
If f(x) — —- thenat x = 0 the function is: Question ID : 16794313664

1+2
Ans J 1.

Discontinuous because L ling f(x) =R l_iné f(x)

X 2. Discontinuous because ling f(0) = f(0)

/< 3. Continuous

X 4

Discontinuous because R lim f(x) does not exist
x—=0

Q.13
If (sinx)”¥ . then i . Question ID : 16794313666
: "

Ans ¥ cotx

1-y log(sinx)
2 yz cotx
1-y logx

2

3. ¥y cotx

1+y log(sin x)
4 yz cotx

1+y logx

Q.14 1fa. b, %y 2 e the mal pumbers such that a® + 5% +¢® = Lx'+ y' +27 = 1, thenax + by +cz

A Question ID : 16794313656
ns X 1. Less than or equal to 3

o 2. Less than or equal to 1
/< 3. Greater than or equal to 3
/< 4. Greater than or equal to 1

Q.15 How many numbers from | to 1000 are not divisible by 2, 3 and 5?
Ans x 1. 262

X 2 268

V'3 266

X4 264

Question ID : 16794313658

Q.16 Therearetws circles afcenters A and B, of adil 3em and Sein respectively. The distance between their centers

AR = 10rm A divect common tangaar [ draw that meers the line BA produced ar C. than the length of CA issquals Question ID : 16794313670
o

Ans X 1. 14 em
X2 20cm
X3 17cm
v 4 15¢cm

Q.17 Forevery integer n >, 2 the sum of the expansions 1 — ng + g, + — — (=1)"ng is— - —:
[ Question ID : 16794313662

Ans - X1 p(n—1)2m2
V2o
X3 pam1
X 4 (2ng)?
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Q.18 1fa. b, ¢ be positive number such thata + b + ¢ = 4,thena® + b* + &3 is:
Ans

Question ID : 16794313654

/< 1. Less than or equal to E
X 2. Greater than or equal to E
X 3. Less than or equal to ?

« 4 Greater than or equal to ?

Q.19 Inthe following figure. O is the centre of the circle and D, E and F are the nid points of AR, BO and OA respectively.
If £DEF = 30°, theu find £ACE,

Question ID : 16794313673

Ans * 1. 120°
X2 30°
V'3 60°
K4 90°

Q.20 Ifa.b, ¢ dare four positive real numbers such that abed = 1, then (1 + @)(1+b)M1 +c)(1+d) is:

Ans 3 1. Less than or equal to 8
o 2. Greater than or equal to 16
#< 3. Greater than or equal to 8
< 4. Less than or equal to 15

Question ID : 16794313657

Section : Subject Related

Q.1 The ratio in which the line jolning the points (1.-1)and (4.5) is divided by the point(2.1) is:

Ans 1. 3:1
K22:1
Wal:2
K41:3

Question ID : 16794313679

Q.2 _I-kpafki:nlh_e&hapeofaqmdliMABCDInSLC=90'.AB=9m-BCvl:m.C'D=5mandA!}-Sm.Tnem
1L DOCUPEE 150

A X1 (30 + 44/35) m?
X 2 (30 + 7+/35) m?
X3 (30 + 5V35) m?

W 4 (30 + 6v/35) m?

Question ID : 16794313681

Q.3 Areciangmla block6om X 12cm % 1500 b ot inro exact number of equal cubes. The lzast possible mumber of
cubes will be;

Ans X 1. 11
K2 40
v 6
X4 33

Question ID : 16794313683
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9% The value of V3 cosec 20 — sec20°is: l

Question ID : 16794313687

Ans x1, 0
X2 1
v 4
K4 -1

Q5 cos A sind

1—tan 4 1-cotd

is equals to: [

Question ID : 16794313690

Ans K 1. sin A —cos A
X 2 sinAcosA
X3 cotA—tan4
o 4 sin4 +cosA

Q.6 The vertices of a triangle ABC are (2,3), (4,7). (-5,2). The length of the altitude through A is:

Ans

Question ID : 16794313675

9
1. i
x 53«)‘53
13
V2 —~4/106
53
X s 3«1106
53

13
X4--ﬁvﬁ

Q.7 LetX~Nie?) p® =g, (>0}, then the value of POX < — | ¥ < ) i terms of eummibative funiction N0, 1) is [

Question ID : 16794313692

s K1 [1-P@Z<1)]
X2 [1—P(Z <2)]
X3 2[1-P(Z <1)]
v 2[1-P(Z <2)]

Q.8 The coordinates of the poiot which is equidistan: from the vertices (£, -10), (7. -3) and (0.4) of a right angled viangle

Question ID : 16794313678

e of 1. (47)
iy 1%
x> (7-3)
x& (?1"6)

x+ G2

3 3

Q.9  1fthe elevation of the top of the tiee at polnt E due east of the tree 60°and o point S doe west of the tree is 30°, then
elevation af the midpoiat of ES is;

Question ID : 16794313689

Ans x1_ 900
X2 45°
X3 30°
v 4 60°

Q.10 The locus of the point that is equidistant from rwo points (2,3) and (-4.1) is: [
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Ans X1 3x—y=1

X22x+3y=2
i3dxt+ty=-1
X4 x+3y=1

QM The value of expression cos 60° cos 36°cos 42° cos 78° is:

Question ID : 16794313688

Ans 1

1.2

X :

 BRL

g

1

3. =

v -

1

4. s

~ =
Q.12

(sina + cosec a)® + (cosa + seca) is equals to: [

Question ID : 16794313691

Ans

- tana + cot’a
v tana + cot?a+7
S sinca 4 cosTa
K2 sin*a+ cos’a+ 5
X3 tana+cosla+7
X4 tanfa+ cot’a+5

Q.13 The coordinates of A. B and € are (6.3). (-3.5) and (4.-2) respectively. The arca of AABC is:
Ans

Question ID : 16794313680

/< 1. 51/2 square units
o 2. 49/2 square units
/< 3. 45/2 square units
/< 4. 47/2 square units

Q.14 A chord of acircle of radivs 28 cm subtends an angle %0° at the centre of the circle, The area of the minor segment is:

Ans o 1. 224 cm?

Question ID : 16794313682

X 2. 248 em?
X 3 184 cm?
X 4 200 em?

4
Q.15 The niear and variance of binomial distribution #vin, p) ared wnd o resp ively. What is the probahility of
getting 2 successes?

Question ID : 16794313693

Ans x 1
1. pe P8
243

20
243
20
423
20
342

Q.16 A cylinder has a diameter of 14 cm and its area of curved surface is 220 em?

Question ID : 16794313684

The volume of the cylinder is:
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Ans X 1.3080 cm?

& 21000 cm?

V'3 770 em®

X 4 1540 cm?

Q.17 : i 2 ; i fa
The volume of a hemisphere is 18w cm” . The total area of hemisphere is: [ Question ID : 16794313686

Ans XK1 21w em?
v 2 187 cm?
X3 27w om?
X 4 241 om?

Q.18 If(3.,2),(6,3), (x.y) and (6.5) are the vertices of a parallelogram. the (x.y) is:
Ans x 1. {5..6)

V2 (9.6)

K3 (9.8)

X 4 (8,7)
Q.19 The radii an the ends of bucket 16 cm height are 20 cm and § cm. Find the onter curved surface area of the bucket
Ans - X 1. 880 em?

X 23120 cm?

V'3 1760 cm?

K 4 2240 em?

Question ID : 16794313677

Question ID : 16794313685

Q.20 inthetrisagle ABC ZARC =90", AR :BD: DC=3: 1; 3. 1f AC= 20cm, then what is the leagth of AD (io cm)?
‘ Question ID : 16794313674

\
) \\D e
s K145
X2 52
V'3 4410
X4 643

C

Section : Subject Related

Q.1 From the following results of two colleges A and B, find out which of the two is better?
Question ID : 16794313702

College A College B
Exam Appearsd Passed Appeared Passed
M.A 100 90 240 200
M. S, 60 45 200 150
B.A 120 75 160 100
B. S¢. 200 150 200 140
Total 480 360 $00 600

Ans 3¢ 1. college B
/< 2. data is not sufficient
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o 3 both are same
< 4 college A

Q2 ipane)- SPUANB) = and 2P(A) = P(B) = p, then the value of p is given by:

Question ID : 16794313697

The frequency of the class 30-40 is:
Ans x 1. 4
X 2 51
X 3. 48
Vi3

s K113
X2 1/4
W3 23
X412
Q.3 The teasuce of the cential tendency i givea by the X-coordiaute of the poiut of inférsection of the more thau ogive and
L Question ID : 16794313701
Ans X 1. Mode
& 2. Mean
< 3. All the above
v 4 Median
Q4 Consider the following distribution: [ Question ID : 16794313699
Marks obtained No. of students
More than or equal to zero 63
More than or equal to 10 58
More than or equal to 20 55
More than or equal to 30 51
More than or equal to 40 48
More than or equal to 50 42

Q.5 The regression coefficients are b, and by. Then the correlation coefficient r is:

Question ID : 16794313696

Ans b,

F 0

Ko =2

V'3 +( byb)
X 4 byb,

Q6 The values of ¢ and P(X=1) for which the function

Question ID : 16794313694

5

fO) =V
0, otherwise
Is a p.d.fare?

O<sx<4

Ans
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X11/2,1

<2 1/4,0

W3 1/4,1/2

X4 —1/4, 12

Q7 ; 2 52 92 2 ;. 461 : s
If the mean of n observations 1°,2°,3 nt s . then n is equal to: Question ID : 16794313703

Ans x1_ 23
K2 23
VAN
X412

Q.8 X.Y and Z are thres uncorrelated variables having variances G,IZ.a_,,’ and 0,7 respectively, then the correlation
coefficient between XY and Y+Z is: Question ID : 16794313695

Ans XK1 1/2
X2 1
« 3 none of these

X4 0

Q.9 InaMathematics test 15 students scoced 80 marks, 20 srudems scoved 75 macks, 28 siudents seored 65 marks and 25
students scored 60 marks, mode of the score is: Question ID : 16794313698

Ans X 1. 75
2 65
X 3 60
X 4 80

Q.10 For the following distrbution:

Class 0-5 i-10 10-15 15-20 20-35
E ECY 10 15 12 20 9

The sum of lower limits of the median class and modal class is:

Ans X 1. 30
X215
X3 35
v 25

Q.11 Whatis the techuical term wsed wiien our amentions shifis spostancoudly from one 12k 1o another, for instance listening
to# conversation in e il or readng s book? Question ID : 16794313706

Ans 1. Distributed attention
X 2. Divided attention
+ 2 Non-volitional attention
& 4 Focused attention

Question ID : 16794313700

Q.12 gafeor # Foeer & Re 72 w3t afdw A 2 B o e § Rl feedt F o B
AETA T FAF FI A2 Question ID : 16794313711

M o e e
X2 for
X o gl s
X o gy & adt

Q.13 What is type of knowledge is it when acquired through data and inferences? [

Question ID : 16794313712 ]
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Ans

X 1. Sensory knowledge
o 2 Logical knowledge
< 3. Experiential knowledge
X 4 Intuitive knowledge

Q.14 According to B i s theory of devzl the govt pelicies and culural changes comprise which layer of
SR e Question ID : 16794313704

Ans X 1. Mesosystem

/< 2. Microsystem
/< 3. Chronosystem
'+ Exosystem

Q.15 Choose the most a riate option.
R = Question ID : 16794313713

Sensitizing peers is one of the methods toreduce _ in an inclusive school.
Ans 1. Gender issues
X 2. Curriculum modifications
# 3. Chaotic environment

'+ Bullying

Q.16 Inwhichof the given subjects each sentence is written in a compact style with lot of information and minimal
redundancy? Question ID : 16794313710

Ans  of 1. Mathematics
& 2. Social sciences

/< 3. Biology
/< 4 English

Q.17 Cheose the appropriate answer from the following. Question ID : 16794313708
uestion .

Avoiding birth of girl child by pre-natal sex determination is medically termed as:
Ans  of 1. Female foeticide
X 2. Female homicide
/< 3. Female pesticide

/X 4. Female infanticide

Q.18 Which of the following does not contribute to the suceess of non-formal education? i
Question ID : 16794313705

Ans x1_

Quality of educaticnal material to uphold student motivation and mest expectations

/< 2. Institutional support to students

/< 3. Interest level and motivation of students
o 4 Student ability levels

Q.19 ; ) is i in which?
Relating content to the learners’ context and is included in which? Question ID : 16794313709

Ans

/< 1. General pedagogical knowledge

/< 2. Knowledge of curricular context

« 3 Curriculum knowledge

/< 4. Knowledge of leamers’ background
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Q20 Choose the appropriate option to complete the statement. [

Question ID : 16794313707

Physical science is a branch of science and the study of:
Ans X 1. Physical substances
W 2. Non-living systems
/< 3. Engines

/< 4. Physics
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Section : Mental Ability

Q.1 == sm Fa= 71 1@ # & 3 wew W B w6 ow gl e i # Ry @ B ¥ R
HIAE A T FEY AT AT I Question ID : 16794313924

Ans 3 1
3¢ OF & & AR 394 &9 B A @Y &

X2 3¢ 9T ¥ 9gT F A I9E4T &
W 3

ofy # o= & & 37 wAies TufEE T 59 e dR 3 W aeE § e

XK 4 3% INER F HEET HT AT

Q.2 = oy = F70Es 8| 31 @ OF W9 % 9 T 1499 Tger & 38 H Qv @ sl s
Ry&smaad Question ID : 16794313931

e X1 25 T
v 29 ¥
X324 %
X419 I

S Rt T TS R oow o= By @Lﬁ'l Question ID : 16794313922

Ans

F 0

o
(B




u::

v

=10

Q4 i
Find the odd pair of numerals. Question ID : 16794313933

Ans  of 1. 51-7
X 2 34-6
& 3. 79-9
X 4 23-5

Q.5 Study the followi d the giv tion.
v the following carefully and answer the given question Question ID : 16794313927

8 Actors
Directors w 3

Singers

Which region belongs to the directors who are neither actors nor Singers?
Ans x 1. 2
~ 210
VER
X4 4

Q6 Find the next figure in the series: Question ID : 16794313919

. fik '

Ans

X 3

oAl

Q.7 s . - " " - . . I
‘What will be the missing term in the following series? Question ID : 16794313935

B.I.P,2.D.K

Ans x1_ M
X2Z
Vs w
X440




Q8 Choose the odd figure in the series:

& | &l 1l 9

O

b

A B C D

<
v e

X4cC

Question ID : 16794313918

Q.9 The following bar chart shows information about NTSE pass out percentage for “XYZ™ institute for past years. Read
the chart carefully and answer the questi

BEE &
L P |

paEiE

[
o
—

What is the ratio of NTSE passouts from ‘XY 2" in 2010 & 20137

Ans o1 2:1
™21
R |
X42:3

Question ID : 16794313921

Q.10 IfP means =, R means +, T means + and 3 means —, then what is the value of 16T2P7$10R3 = 7

Ans X1. 50
X 2 63
W3 49
X 4 57

Question ID : 16794313929

Q_‘] 1 Stady the following i i fully to answer the question given befow.

Fellowing are the qualifications and conditions for certain posts in a “XYZ" company, The candidate must:

a) be an enginezring graduate with atleast 70% marks

(b) be not Jess than 21 y75 and not more than 26 years of age as on 01/04/2018

) have passed the written test with at least 60% of marks

o) be willing 10 pay a depost of T 2.5 lacks, to be refimded on completion of probation & raining

If the candidate is satisfied with (al-{¢) would be referred as Engineer.

However if the caadidate is satisfied with ali the above except

(1) at {a) but appeared final cemester exam result yet to be declared with 75% average marks up to seventh semester be
referted a5 Project-Enginesr

{ii) a1 {a) bt has done diploma in engineering with 75% of marks be referred as Asst. Engineer

{iii) at () be willing to pay F1.5 lakhs as secority deposit he referred az Fngineer-Traines

(iv) a (b) even if age above 26 vears age as on 1/4/18 but with 3 years ofexperience be referred as Senior-Engineer
Fatima is 2§ vears now in July 2018, She has completed B-E in information technology with 86% of marks. She has
passed written test with 73% of marks. She is willing 1o pay ¥ 2.5 Lacks of security deposit. She also had an
experience of 3 years in the relevant field. For which position she will be referred?

Question ID : 16794313923

Ans 1. Engineer
« 2 Senior-engineer
/< 3. Engineer — Trainee
/& 4 Project-Engineer
a2 : ;
Q12 A car wheel is always in shape. Question ID : 16794313926

Ans 1. Rectangle
/< 2. Square




v 3 Circular
/X 4 Triangular

Q.13 Femm, Fform & = o1 ¥ FaA ¢ OF THR AT AR ¥ HafoT gl

Question ID : 16794313916

Ans vl H‘%]Jﬂﬁ-'w‘iﬁ'

& 2 fEeer
K 3 |TE
< 4 AT

Q.14 Madhu is sister of Namrata. How is Namrata’s brother’s mother related to Madhu?

A Question ID : 16794313928
ns X 1. Grand danghter

v & Mother
X 3. Sister
< 4 Aunt

Q.15 How the pattarn wonld appear when the transparent sheet is folded at the dotted line?
Question ID : 16794313925

[
Ans i
x [
x[&
x|
=
Q16 What will be the next term in the following series? Question ID - 16794313934

4,9,17.35. 69,2
Ans X 1. 145

v 2139

< 3140

X 4132

Q17 Choose the similar figure for given figure series. Question ID : 16794313917

T E A
5

Ans




[z
X2 %
X3 %
3

Q18 Find the odd pair of words.

Ans

« 1. Cricket : Court

/< 2. Skating : Rink

/< 3. Wresting : Arena

/< 4 Exercise : Gymnasium

Question ID : 16794313932

Q19 Find the next figure in the series:

Ans

S| &[] 2

S 4

Question ID : 16794313920

Q.20 The mamber of boys in aclass is four times the number of girls. Which one of the following mambers cannot represent

Ans

the total number of children in the class?

X150
X2 45
s 42
X 4 60

Question ID : 16794313930

Section : General Awareness




Q.1 The National Green Tribunal was established in the year
Ans X 1.2011

v 22010

< 3. 2008

< 42009

Question ID : 16794313954

Q.2 Members of Parliament Local Area Development Scheme (MPLADS) was introduced in the year:

Ans X 1. 1995
v 2 1993
< 31994
< 41992

Question ID : 16794313940

Q.3 What was the focal theme of the 105 Indian Science Congress held in March 20182
Ans « 1.
Reaching the Unreached Through Science & Technology
X 2
Science & Technology for Indigenous Development in India
X 3
Future India : Science & Technology Science & technology for National Development
X a

Science & Technology for Human Development

Question ID : 16794313952

Q.4 m#gﬂ#ﬁm%ﬁﬁﬁﬁamﬁnﬁmﬂﬂﬂz Forrfirer o wmar am)

i o1 geifae gt B adEEATY ¥ ary
X 2 9RT & IR TATaUed gant
X 3 9T T IR FBET g@
< a4
FIH FIC & FATaTedel F TF WA G

Question ID : 16794313939

s SUTIF -8T0T T FROT FAT ¢

Ans X 1. S HT TEETOT
X 2 T SR
K 3 FY FHERAF 90T
v o Hfew T

Question ID : 16794313946

Q.6 FFr B aw wuer F W A wEA ST O 6T F wAs W A a0 S #) e e
N 9A T

Ans

vz #r TEEEar #r DRT a1

> 2

SfoEael R Sfdga T STeld alell TUTAT # TeA S
< 3.

Question ID : 16794313955




gfaEqeT &1 F21ar T 3T 37 §97C AT
X 4 ITHIFHT F Far S W war

Q.7 Find out the unit of measurement which is NOT named in the honour of a scientist. .
! Question ID : 16794313950
Ans & 1. ampere
& 2 farad
o 3. radian
&< 4 hertz
Q.8

Ans

Fafofe aeaet # & FiF @ gffor arg ¥ wEf o
v TTdarge

X 2 g

< 3 T

¢ SfcERE

Question ID : 16794313936

Q.9

Ans

FSDC stands for ‘Financial Stability and Development 7
& 1. Corporation
& 2 Committee
/< 3. Company
« 4 Council

Question ID : 16794313949

Q.10
Ans

Three of the following statements in regard to the Gazette of India are correct. Find the incorrect one.

« 1 Printing of Gazette is outsourced as per rule
X 2

Controller of Publication is the authorised publisher

X 3

Authorised legal document of the Government of India

/< 4 Published by the Department of Publication

Question ID : 16794313941

Q.11

Ans

‘Lotus’ is the state flower of 3 of the following 4 states. Find the odd one out.
# 1. Karnataka
' 2 Himachal Pradesh
/< 3. Harvana
& 4 Jammu and Kashmir

Question ID : 16794313945

Q.12

Ans

Burean of Tndian Standards, measuring the Seismic Zone Infensity on MM scale (Modified Mercalli), zrouped the
COUTY into seismic 20nes.

F

v &)
X 3
K 4

(PR o R N

Question ID : 16794313947

Q.13




Ans

What is NOT true in regard to Ayushman Bharat Scheme? l

Question ID : 16794313938

v 2

sectoral and segmented approach of health service delivery
#< 2. creation of Health and Wellness Centres
/< 3. vision is ‘Healthy India, Prosperous India’
K 4

comprehensive need-based health care service

Q.14

Ans

is celebrated as the Micro, Small and Medium-sized Enterprises Day.

Question ID : 16794313948

K1 24™ Jyne
X 2 25M june
X3 26™ Fune
v 4 27% June

Q.15

Three of the following statements n connection with different formats of cricket matches, playved during Indian Cricket
team's tour of South Africa n 2018, are correct. Find the meorvect statement.

Question ID : 16794313942

Ans  of 1. India won the ODI series 4 — 2
/< 2. South Africa won the Test series 2 — 1
/< 3. India won the T20I series 2 — 1
/& 4 The series was held in Jan-Feb 2018
Q.16

Ans

In August 2018, which state government fook initiative to launch India‘s first blockchain district? [

Question ID : 16794313953

# 1. Karnataka

# 2 Andhra Pradesh
o 3. Telangana

# 4 Tamil Nadu

Q.17

Which is the official game of Rajasthan?

Question ID : 16794313943

Ans - X 1. Kabaddi
v 2. Basketball
/< 3. Vollevball
/< 4 Hockey
Q.18 India’s National Song was a part of Bankimchandra Chatterji's novel

Question ID : 16794313944

Ans X 1. Kapalkundala

X 2. Devi Chaudhurani

# 3. Durgeshnandini

v 4 Anand Math
Q19 zrerers =St qamr Fafe e SRS FeAr @ waree ) Question ID : 16794313937
Ans

A TETEL e 9T TIrET




K 2 aif| Sl F o e e
v o TaFE e $r freT
X 4 afgarT &1 T

Q.20 g ; : ;
International Bureau of Weights and Measures is located in Question ID : 16794313951

Ans X' 1. Finland
' 2. France
& 3. Switzerland
X 4. Norway

Section : Arithmetic Ability

Q_1 Two pipes A and B can fill an empty tank in § hours and 12 hours respectively, whereas pipe C an empty a full tank in

6 hours. When the tank is empty. pipes A and B are opened and, after 2 hours, pipe C is also opened. In how many hours H .
the tank will be filled completely? Question ID : 16794313972

Ans X1~ 12
v 16
X314
< 418

Q.2 The sides ofa triangle are 30 em. 28 em and 26 om respectively. What is the length of ifs longest altitidz (correct to ane
decimal place)? Question ID : 16794313967

Ans X' 1.16.4 cm
W2 258cm
< 3 24cm
X 4 224cm

Q.3 The HCF of two mbm i5 36 and their sum is 1260, If both are 3-digit numbers, then hiow many such pairs of
numbers are possible? Question ID : 16794313958

Ans x1~ 5
w27
K34
< 410

Q.4 'Whatis the compound interest on ¥ 4300 for 30 months, if the interest is compounded annually af the rate of 86 per
RN (OWIARG o the nealestintegee) ) Question ID : 16794313966

Ans X 1. 060
v 2 F1023
< 3 T1032
X 4 1021

Q_5 Two articles A and B are sold for T 1888 and T 1440 respectively. On A a profit of 18% is earned, whereas on B a loss
of 10% is incomed. What is the overall profit percentage? Question ID : 16794313963

Ans X1~ 894
W 2 4%
X 3 5%




X 4 6%

Q.6

Ans

The ratio of boys and girls in a schoolis £ : 7. If, in the next session. 230 boys and 430 girls join the school the ratio of
bays and girls becomes 2 ¢ 3. How many zirls are in the school now?

& 11200
v 2 1500
& 3. 1000
X 4. 1600

Question ID : 16794313961

Q.7

Ans

wma% g F o R IR 2 km A e A AT B km TR f T 2 @ A W
Sfege 9 km 3T UTT FT AR 5 km 3T I FewaT §I FEUT 9 # ATE T AT ken/n F4T R

X185
EE:
X3 95
X149

Question ID : 16794313970

Q.8

Ans

The value E'Et{ixg?g*; + 6 is equal to:

- S v A

3
X222
5
4

Question ID : 16794313957

Q.9
Ans

A sum of money becomes 1209 of itself in 3 years. In how many years will it become 150% of itself?
F
2
K27
i5
s —

2

X 45

17

Question ID : 16794313965

Q.10

Ans

A person spends 75% ofhis income. If his income is £ d by 20%, be i his jiture by 2094. What is
the percentage increase in his savings?

v 1 20%
X 2 16%
X 3 5%

< 4 10%

Question ID : 16794313964

Q.11

Ans

The efficiencies of A. B and C are inthe ratio 2 : 3 : 4. They together can complete a piece of work in 6 days. In how
many days A alone can complete that same piece of work?

X130
v 2 27
X3 24
X4 25

Question ID : 16794313971

Q.12

Ans

Three numbers are in the ratio 3 : 5 : 9, If their LCM is 810, what is their HCF?

K16

Question ID : 16794313959




X212
X315
418

Q.13 The height and radivs of the base of a cylinder are both increased by 10%. What is the percentage increase in its
volume?

Ans - X 1. 20%
X2 21%
W 3 33.1%
X 4 33.3%

Question ID : 16794313968

Q_‘] 4 Ifthe length ofa rectangle is decreased by 10%. by what percentage should its breadth be increased so that its area is
increased by 10%7

Ans 230
—_— 0
s 11 =
X2 20%
ve

F ?%

Question ID : 16794313962

Q.15 (153 —(4.7)3+(3.2)% +4.5%4.7x3.2

The value of is equal to:
{15)2+(47)2 (32)2+1.5x%4.7+4.7%32-3.2%1.5 o

Ans X-]_ 10
K201

X 3. 0.001
W0

Question ID : 16794313956

Q.16 Two trains of lenaths 275 m and 175 m are munning on parallel tracks in the same direction. The faster train overtakes
the shower train in 54 seconds. If the speed of the slower is 40 kmvh, what is the speed of the faster train?

Ans - X 1. 9 km/h
X 2 60 km'h
v 3 70 km/h
X 4 75 km'h

Question ID : 16794313969

Q17 1r(x+y): (x-y) = 4: 1. then(x3+v3): (x® — %) is equal to:

Ans  of 176 : 49

K2 72:47
X3 63:8
X4 641

Question ID : 16794313960

Comprehension:




Direction: The following table gives the number of boys and girls
studving in different streams in an Engineering college. Read the table
and answer the following questions.

Stream ME CIVIL C.8. B, IT Electrical
Boys 300 1300 300 300 700 400
Girls 300 750 1300 1400 850 500

SubQuestion No : 18

Q"I . . w .
s What is the percentage of girls studying in the Question ID : 16794313974

college?

Ans  of 1. 49%
X 2 48.5%
< 3. 48%
X 4 49.5%

Comprehension:
Direction: The following table gives the number of boys and girls
studying in different streams in an Engineering college. Read the table
and answer the following questions.

Stream | ME CIVIL C.8. B, IT Electrical
Boys 800 1300 800 900 700 400
Girls 300 750 1300 1400 850 500
SubQuestion No : 19
°é1 In which stream, percentage of girls is highest? Question ID : 16794313976
Ans of 1. C.S.
X 21T
X 3 E.C.

/< 4 Electrical

Comprehension:

Direction: The following table gives the number of boys and girls
studying in different streams in an Engineering college. Read the table
and answer the following questions.

Stream ME CIVIL C.S. 5 £ IT Electrical
Boys a00 1300 300 900 700 400
Girls 300 750 1300 1400 850 500

SubQuestion No : 20

Q'2 . " d . "
o What is the percentage if students studying in the Question ID : 16794313975

stream C.S. to the total students?
Ans of 1. 21%
X 2. 22.5%




X 3 21.5%
X 4 22%

Section : General English

Q.1 "Who has taken my book?" said Krich. The comect reported speech form of this sentence is:
Question ID : 16794313982

Krish

Ans 1. said who took my book.

/< 2. asked whether who took his book.
o 3 asked who had taken his book.
/< 4 asked if someone has taken his book.

Q.2 : 2
Which sentence makes most grammatical sense? Question ID : 16794313979

Ans x1_

Despite the rush. Ali decided to go to the mall but purchase clothes.

W2

Despite the rush, Ali decided to go to the mall and purchase clothes.

X 3

Despite the rush, Ali decided to go to the mall or purchase clothes.

K 4

Despite the rush, Ali decided to go to the mall though purchase clothes.

Q.3 Provide the appropriate antonym for the underlined word in the below sentence. .
Question ID : 16794313988

Shravan talks about gloomy things.
Ans 1. Rough
X 2 Intricate
« 3. Cheerful
/X 4 Caring

Q.4 . . . "
One of the options below is a complete sentence. Identify it. Question ID : 16794313977

Ans X 1. Now and then.
o 2 The artist painted a masterpiece.

/< 3. The car in the park.

/& 4 Once in a blue moor.

Q.5 Provide the appropriate syno: for the underlined word in the below sentence.
e e Question ID : 16794313985

He was found in a deserted island.
Ans X 1. Habit

' 2 Uninhabited
& 3. Reacted
& 4 Violet

Q.6 [




Choose a suitable ending for the below sentence: | Question ID : 16794313978

The coach did his best; however,

Ans X 1. the team could do well.
o 2 the team couldn’t perform well.

/X 3. the team performed well.
#< 4 the team couldn’t well.

Q.7 Provide the appropriate antonym for the underlined word in the below sentence. .
Question ID : 16794313987

The tragic ending of the movie was not appreciated by the audience.

Ans  of 1. Comic
< 2 Humid
< 3. Intense
/< 4. Suspense

Q8 Fill in the blank with the most appropriate option. Question ID : 16704313990

The boy did not have any friend  Aakash.
Ans 1. beside

o 2 besides

& 3 from

/< 4 along

Q.9 Provide the appropriate synonym for the underlined word in the below sentence.

Question ID : 16794313984

He is an ardent supporter of Liverpool.

Ans X 1. Arrogant
v 2 Devoted
/< 3. Impossible

/< 4 Strength

Q10 Fj|] in the blank with the most appropriate option. Question ID : 16704313989

My catrushed  theroad.
Ans - X 1. of

< 2. besides

X 3 into

o 4 across

Q.11 Provide the a iate synonym for the underlined word in the below sentence.
REsome X Question ID : 16794313986

My colleagues threw a surprise party for me.
Ans 1. Close-knit

/< 2. Class mates




< 3. Boss
« 4 Companions

Q.12

Ans

Fill in the blank with the most appropriate option.

He likes his school teachers once in a while.

/< 1. to meeting
« 2 meeting

& 3 meet

/< 4 to be meeting

Question ID : 16794313981

Q.13

Ans

Fill in the blank with the most appropriate option.
he heads the team, he is accountable for their performance.
/< 1. Despite
/< 2. Consequently

" 3. Because
X 4 But

Question ID : 16794313991

Q.14

Ans

Provide the appropriate question tag for the below question:
She works at the CCIclub

& 1. should she?

#< 2 does she?

& 3 mustn't she?

v 4 doesn’t she?

Question ID : 16794313983

Q.15

Ans

Fill in the blank with the most appropriate option.

Mark  at Titan since 2008.
< 1 work

/< 2. must working

< 3 worked

« 4 has been working

Question ID : 16794313980

Comprehension:




Read the following passage and answer the questions that follow.

A recent application filed as a second appeal under the Right to
Information (RTT) Act by an activist has revealed that the Central
Railway's catering department purchased certain food items to stock
their warehouses at several times the maximum retail price.

After railway authorities failed to share information on purchase of
food items sought in his RTI application, activist Ajay Bose filed a
first appeal. The response to this revealed that each kg of Amul curd
was purchased at an eye-watering I9,720. Mr. Bose filed his query
after learning that the catering department was running at a huge loss.

“I filed the application in July 2016, but didn’t get a reply from
Central Railway. It appeared they wanted to cover something up. I
filed an appeal and the appellate authority show caused the railways
asking them to provide details sought by me within 15 days. Despite
this, there was no reply even after several months.” Mr. Bose told The
Hindu.

SubQuestion No : 16

°é1 The Appellate Authority asked the Railways to Question ID : 16794313996
respond within:

Ans  of 1. 15 days

< 2. 15 hours
/< 3. 5 days

& 4 15 minutes

Comprehension:

Read the following passage and answer the questions that follow.

A recent application filed as a second appeal under the Right to
Information (RTI) Act by an activist has revealed that the Central
Railway's catering department purchased certain food items to stock
their warehouses at several times the maximum retail price.

After railway authorities failed to share information on purchase of
food items sought in his RTI application, activist Ajay Bose filed a
first appeal. The response to this revealed that each kg of Amul curd
was purchased at an eye-watering I9,720. Mr. Bose filed his query
after learning that the catering department was running at a huge loss.

“I filed the application in July 2016, but didn’t get a reply from
Central Railway. It appeared they wanted to cover something up. I
filed an appeal and the appellate authority show caused the railways
asking them to provide details sought by me within 15 days. Despite
this. there was no reply even after several months.” Mr. Bose told The
Hindu.




Q.1
7

Ans < 1. critic

SubQuestion No : 17

The word ‘query’ as used in the passage means: Question ID : 16794313994

< 2. answer
X 3. solution

o 4 question

Q.1
8

Ans

Comprehension:

Read the following passage and answer the questions that follow.

A recent application filed as a second appeal under the Right to
Information (RTI) Act by an activist has revealed that the Central
Railway's catering department purchased certain food items to stock
their warehouses at several times the maximum retail price.

After railway authorities failed to share information on purchase of
food items sought in his RTT application, activist Ajay Bose filed a
first appeal. The response to this revealed that each kg of Amul curd
was purchased at an eye-watering <9.720. Mr. Bose filed his query
after learning that the catering department was running at a huge loss.

“I filed the application in July 2016, but didn’t get a reply from
Central Railway. It appeared they wanted to cover something up. I
filed an appeal and the appellate authority show caused the railways
asking them to provide details sought by me within 15 days. Despite
this, there was no reply even after several months.” Mr. Bose told The
Hindu.

SubQuestion No : 18

The above article conveys a clear case of: Question ID : 16794313993

& 1. Communication
#< 2. Unity

o 3. Corruption

< 4 Airline Companies

Comprehension:




Read the following passage and answer the questions that follow.

A recent application filed as a second appeal under the Right to
Information (RTI) Act by an activist has revealed that the Central
Railway's catering department purchased certain food items to stock
their warehouses at several times the maximum retail price.

After railway authorities failed to share information on purchase of
food items sought in his RTI application, activist Ajay Bose filed a
first appeal. The response to this revealed that each kg of Amul curd
was purchased at an eye-watering I9,720. Mr. Bose filed his query
after learning that the catering department was running at a huge loss.

“I filed the application in July 2016, but didn’t get a reply from
Central Railway. It appeared they wanted to cover something up. I
filed an appeal and the appellate authority show caused the railways
asking them to provide details sought by me within 15 days. Despite
this. there was no reply even after several months.” Mr. Bose told The
Hindu.

SubQuestion No : 19

Q.1 L 1 .
o The phrasef ‘cover up’ means: Question ID : 16794313997

Ans o 1. To conceal

/< 2. To discover
X 3. To dissolve
/< 4 To disclose

Comprehension:

Read the following passage and answer the questions that follow.

A recent application filed as a second appeal under the Right to
Information (RTT) Act by an activist has revealed that the Central
Railway’s catering department purchased certain food items to stock
their warehouses at several times the maximum retail price.

After railway authorities failed to share information on purchase of
food items sought in his RTI application, activist Ajay Bose filed a
first appeal. The response to this revealed that each kg of Amul curd
was purchased at an eye-watering T9.720. Mr. Bose filed his query
after learning that the catering department was running at a huge loss.

“I filed the application in July 2016, but didn’t get a reply from
Central Railway. It appeared they wanted to cover something up. I
filed an appeal and the appellate authority show caused the railways
asking them to provide details sought by me within 15 days. Despite
this, there was no reply even after several months.” Mr. Bose told The
Hindu.

SubQuestion No : 20




Q.2
0

Ans

The activist filed a first appeal because:

/< 1. He was angry with RTI

/< 2. He was happy

/< 3. Tt was a prank

v
Railway authorities failed to share information
with him

Question ID : 16794313995

Section : General Hindi

W gmmE e ﬂﬁt{: Question ID : 16794314008
Ans X1. ipg

v o

X s aﬂm’

X 4 g
2 e oeE T U 3 Question ID : 16794314005
Ans X1- gt-ﬂ'

X2y

PG

v ogfy
C AT ¥ ¥ TeES I I 99T & Question ID : 16794314014
e X0 arar S s werdr ¥

X2 915% g9 @ &

X 3. Igr FEr g e

v o et wr FE feT AT
Q.4 HE & TH e H | FErEd # fFw wE F g3 g g7 Question ID : 16794314016
e X afeg & B o o uHS & S

X 2 gT Hr A 3= e

v i EES F oo, I ¥ F9er

X o HTFT HAT S T 8
S 7 graw HEA F & @ T F @i A 7 FRE T Question ID : 16794314002
Ans

P




v 2 gvEE
X3 ar
X 4. T

Q.6

Ans

‘W Ao 919w g T A R 92 8
v wifees

}(23.,—@-%

X 38T

X 4 AT

Question ID : 16794314007

Q.7

Ans

‘AYar & s=oT| I F AT T aee
X1 Tt
o o FHET
/< 3. BT

=

X 4 HHET

P I

Question ID : 16794314010

Q.8

Ans

‘FSIIOT JOT FAT &, Todeh I F:
&K 1. gger =tar e
X 2 =T 9r=ET 9ger
V'3 oger S g=ET
K 4 IgST EEIT TreE

Question ID : 16794313998

Q.9

Ans

‘TEHT aﬁﬂw{mmm:
v 3T
< 2 efAgt
X 3 HEHN
K 4 TEfEaT

Question ID : 16794314013

Q.10

Ans

‘FaT T IO FET g
X1 Te

X2 gH

X3 g

v o F T

Question ID : 16794314012

Q.11

‘SATeERer 9Te H THTH &

Question ID : 16794314004




Ans

Q.12

Ans

‘Toolie g T ¢
AlLg+
vogg+dad
X gg+ea d
Ao4ge + e |

Question ID : 16794314003

Q.13

Ans

3YE AT FIA-AT 87
X 1. GteAar
v 2 Readar
X 3. oheldr
X 4 HETAdT

Question ID : 16794314000

Q.14

Ans

FIF-TT FT AT 87

X 3 F AT ST Thd B

X 2 H fhamE Tt & 3gm
X o HH & o Far & &l

v 4 F THRT FH |

Question ID : 16794314017

Q.15

Ans

‘GIEUES eg H 9oId g
X1 T

X2 g

X s e

v 4 HTES

Question ID : 16794314006

Q.16

Ans

g, =, A, T FUIT FT 3TN TAH ¢

X &S
v g
X 3 sz
}(4.;:{[\'&1%

Question ID : 16794313999




Q.17

FAIST ‘T oA FiF-AT 87
Ans K-L HATET
X2 fa
.

X 4 JET

Question ID : 16794314009

Q.18

‘AgS T AT EI’ TE THT R Frer #+ 2
K e

W 2 HTHe T

X 3 3qUT 81T

129 ™

X o OfEser oF

&y

Question ID : 16794314001

WP g TaRE g mEEY w7 oA
Ans  of 1. ETIT SATAT
X 2 gz F=r

X 3 5T FEr
X 4 BT Tehagdl

Question ID : 16794314015

V0 e g # e g &
Are XK. areitfareRaT

X 2 ST

X s

v 4 3eilfen

Question ID : 16794314011

Section : Subject Related

Q_‘] Consider four sats of vectors A, B. C and D in 3. Out of thesz sets of vectors, one set 15 linearly dependent i 3. Identity
this finearly dependen set.

Ans X 1. B={[1,0,0],[0,1,1],[1,0,11}
X2 A={1,1,1],[1,1,0],[1,0,0]}
X3 D={[1,1,1],[0,1,1],[2,0,1]}
v+ C={[1,1,3],[0,2,1],[0,0,01}

Question ID : 16794314031

Q.2 Letn =1 befixedand a. b, ¢, d be arbitrary integers.Ifa = b (mod n )and c = d (mod n ), then:

Ans 3 1
a+c #b+d(modn)and ac Z bd (mod n)

> 2

Question ID : 16794314018




a+c #b+d(modn)butac = bd (modn)
W

a+c =b+d(modn)andac = bd (modn)

X 4
a+c =b+d(modn) butac # bd (modn)

Q.3 LetA beanossingular diagonalizable matrix of order 3 with eigenvalues A, 4,43 Then A is di izable if:
A Question ID : 16794314030
“ W A=22=11=3
xz- 111 — ].,112 == 2,}13 — l:}
X3 2,=02,=02,=0
x4 ﬁ«l — 2,12 = U-'RE = ':}
Q4 If 27! = x (mod 29). then the value of x is: Question ID : 16794314023
Ans \’91. 1
X 20
X3 27
x4 -1
Q.5 Consider a nonhomogensous svstem of 3 linear equations in 4 vanables. such that there i= a1 least one variable with a

non-zero cosfficient in each equation. Then the possible smallest and largest ranks for the corresponding augmented
TOATriN are:

Question ID : 16794314032

Ans o 1. Smallest = 1, Largest = 5

/< 2. Smallest =2, Largest =35

/< 3. Smallest = I, Largest=4

/< 4 Smallest =2, Largest=4
%6 The units digit of 319 is: Question ID : 16794314025
Ans X1 )

V&N

X3 2

X4 3
Q7 WWhich of the given statements is true? Question ID 16794314027
Ans 1. Every square matrix is diagonalizable.

~ 2

The sum of diagonalizable matrices is also diagonalizable.
X 3

The product of diagonalizable matrices is also diagonalizable.

v

If A is a diagonalizable matrix, then AT is diagonalizable.

Q.8

Ans

Identify a subspace of 2 out of four given options:

Ko

Question ID : 16794314029




A line in 2 passing through the points (0, 1) and (-1, 0).

K 2
A line in 2 passing through the points (0.—1) and (-1, 0).

v &)

A line in 2 passing through the points (1, 3) and (-1, -3).

X 4
A line in 2 passing through the points (0.—1) and (1, 0).

Q.9

Ans

Consider the subsat:

S=([3,1,-1],[2,2,-1],[-5,—2,2],[1,3,1]) of 3 .1f A is the matrix baving columns as vectors of set S, then:

W

the set S is linearly dependent and the matrix A has rank 3.

K 2

the set S is linearly dependent and the matrix A has rank 2.

X 3

the set S is linearly independent and the matrix A has rank 3.

F

the set S is linearly independent and the matrix A has rank 2.

Question ID : 16794314026

Q.10

The real values of x satisfying the inequality:

xl10g17) =3 10910 %41 = 1000 are:

Question ID : 16794314036

Ans O 1. ¢ 1100
v 2 x>1000
K x>1
X4 x>10

Q.11

Ans

The system of linear congruences:

x =1 (modb)
x = 3 (mod 3)
x =2 (mod7)
F !

has a simultaneous solution, which is not unique modulo 105.

/< 2. has no simultaneous solution.

W 3

has a simultaneous solution, which is unique modulo 103.

X 4

cannot be solved by Chinese Remainder theorem.

Question ID : 16794314021

Q.12

Ans

For any real x # 0, which of the inequality is true?

Question ID : 16794314037




1
Xilg+=|<0
X
1+x°
X2 |l—| <1
2x

1
<3 x+—|{2
X

1
W x+—|22
X

Q13 The number of positive divisors of 8 X 81 x 125 is: Question ID : 16794314019

Ans X120
v 2 80
K316
X 4 100

Q.14 Consider the linear congruence 6 x = 3(mod 9). Then the incongrvent sohutions modulo 9 of this congrvence are:

_ Question ID : 16794314020
Ans x 1. 'U, 3’ 6

/< 2. no solution

W3 2,58
K4 1,47
Q.15 Hay, a;...a, andby, b, b, are nor-negative real mumbers such that a, > by, ay > by, .. . a4y, = by, then:
Question ID : 16794314035
Ans “ 1.
a, +a,+--+a,>b, +b,+--+b, and a,a,..a, = bb, ..b,
X2
a,+a,+-+a,<b,+b,+--+b, and a,a,..a, < bb,..b,
X 3.
a;da,..a, > bb,..b, but a; +a, +--+a, <b;+b, +--+b,
X 4
a,+a,+--+a,>b;+b,+--+b, but a,a,...a, < b;b,..b,
Q.16

If x (1) is any real number, then x* + 1 > x? + x if: Question ID : 16794314034

Ans of 1 x> —1
/< 2. Inequality doesn’t hold for any real x .
X3 x=-1
K4x<—1

Q.17 W isancaempty subser of real vector space 3 nsiug the same operations, then W is a subspace of 3 if and caly if:
Question ID : 16794314028
Ans X 1.

W is not closed under scalar multiplication but closed under vector addition in 3

v %)

W is closed under vector addition and scalar multiplication in 3

X 3

W is not closed under vector addition but closed under scalar multiplication in 3




X 4

W is neither closed under vector addition nor closed under scalar multiplication in 3

Q.18 Adtransformation T: 2 —» 2 first reflects points throngh the vertical axis ( v, -axis ) and then reflects paints through the
line x; = x,. Then the standard matrix of T is:

Ans =) I
18
<= [ 1
" i;l —01
v & :—Gl é

Question ID : 16794314033

Q.19 1fa jsany integer and a® = x (mod 9), then the possible values of x are:
Ans x 1. 5, ﬁ_., )

2018

;33,57

K4 2,46

Question ID : 16794314024

Q.20 Tf p and q are distinet primes with @® = a (mod q) and a® = a (mod p). then:
ms 1. 2Pl = —a (mod pq)

W 2 aP% = a (mod pq)

/< 3. aP? = 0 (mod pq)

/< 4 aPi =1 (mod pq)

Question ID : 16794314022

Section : Subject Related

Q1 The general solution of recurrence relation

B — B0 F By =T 722 05

Ans X1-

Ay 2T 453 — i A7 where A, and A, are arbitrary constants.

K 2

A,;.5" +A,.6"+8.4", where A; and A, are arbitrary constants.

v &)

A 2"+ A,.3" +8.4" , where A; and A, are arbitrary constants.

X 4

A 2T+ A .47+ i .37, where A, and A, are arbitrary constants.

Question ID : 16794314052

Q.2 Ifthe pomnt Pixy) is equidistant from the points A(a + &, b — a) and B(a — b, a+b). then:
Ans x 1x=ay
X2 y=bx

Question ID : 16794314048




X 3 ax=by
vibx=ay

Q.3

o 14 21
In the expansion of (5§'+ 2?) , the sum of all rational terms is:

Ans K 1778117
W 2 78133
X 3. 78149
X 4 78125

Question ID : 16794314053

Q_4 Two candidares attempted the problem, x* + px+ g = 0, One started with a wiong value of p and gof fhe roots -1 and
- 9, whereas the other started with an incorrect value of q and get the roots 2 and 8. Find the correct oots.

Ans - X 1. 9 and 2
& 2 8and—9
/K3 —land?2
o' 4 land9

Question ID : 16794314039

Q.5 Ifthere are m arithmetic progressions with the first term of each being wnity and common differences as 1.2.3.....m
respectively, then the sum of their o™ rerms is:

Ans X 2[mn+m—n+ 1]
X 2 ?[mn+m—n+i]
X 3. S[mn—m+n+ 1]

v ¥ ?[mn—m+n+1]

Question ID : 16794314054

0-6 IfA(6,3).B(—2 3) C 4 -2)and D (x. 3x) are four points with ArealAife) . 2 . then the value of x is:
Arsa(AABC) 2

Ans 73
il Wi
8
177
2.
56
173
W 3=
56
25
4.
8

Question ID : 16794314045

Q.7 Consider tluee quadratic equations, ¥* + axr +be =0, x* + bx +ca =0, % + cx+ ab = 0. If each pair of these
equations s a common root, then the sum and product of fhese common roots are:

e A 1 Sum = hbivey . Product = a?b®c?
o' 2 Sum = b ., Product = abc
& 3 Sum = Mbﬂ, Product = a®b®c?
/&< 4 Sum = Mb”, Product = 2abc

Question ID : 16794314040




Q.8 Ifa,a,b,b, arenon-zero real numbers, then which of the inequalities is true?
X 1 (a2 +a,?) (b12+b22) < (a;b, + a,b,)?
X 2 (f112‘|‘azz}(']-s-'*12 % bzz) = (ayby + ayb,)?
v &)

a b, +a;b, <

Ans

Jalz b +a,2b*+a,2b*+a,?b,’

X 4 a2+ a,? = lab+ a2 07+ b7

Question ID : 16794314038

Q_9 Conslder the quadratic equation ax® + by + ¢ = 0, where a, b, ¢ € €. Which of the following statements i tre for
this equation?

Ans 3 1. Roots will not exist.

< 2

Roots will be complex and exist in conjugate pair.

v &)

Roots will be complex and need not be in conjugate pair.

< 4. Roots will be complex and equal.

Question ID : 16794314043

Q.10 The sum of n terms of four arithmetical progressions are 5;, 55, 8 and S, with the fust term of each as 2 and the
common differences as 1,35 and 7 respectively. Then:

Ans X' 1.8, +5,=5,+5,
X 2 St Bl 8y
K3 85,45 +5,=25;
o4 S, +5 =5 +85;

Question ID : 16794314055

Q.11 Top prove anything with the pigeon-hole principle, we must have:
Ans o 1. more pigeons than holes

/< 2. same number of pigeons and holes
/< 3. less pigeons than holes

/< 4. either pigeons or holes

Question ID : 16794314049

Q"] 2 The ends of one diagonal of a parailelogram are the points (=6, 2) and {2, -4} Third vertex is the point (5. 2). Then the
coordinares of the fourth vertex are;

Ans o1 (9. —4)
X2 (9,4)
X3 (9.4)
X4 (9. 4)

Question ID : 16794314044

Q.13 Iffix} isa periodic function and a is a positive real aumber such that f{x + 2a) + F(x) =0 for all x € R | then the
period of Fiv)is:

Ans ‘,P1. da
X 2 2a
K3 a

Question ID : 16794314057




(4
4, i
x 2

Q.14 The distance of the highest point on the graph of the function y = V3eosx + sinx from the x-axis is:

1
&1
2

Ans
Xz.ﬁ

X3
W

2
2
V3
2

Question ID : 16794314056

Q.15 1f{a,b),(x;,¥) and (x5,¥,) are the venices of a wiangle such that the x-coordinates 4, x,, %, are in geometric

progression with common ratio T and the y-coordinates b, v, y5 are also in geometric progression with common atie 5,
then the area of the triangle is:

" abr—D(s—1)(s—7)
X2 ab(r—1)(s—1)(s—7)
X3 —ab(r—1)(s—1)(s +7)
X4 ab(r—1)(s—1)(s+7)

Question ID : 16794314046

Q16 Roots of the quadratic equation x2 —2ix+ 3 = 0 are:
Ans o 1. 3i,—i

~< 2 301

X3 43i

&4 =30, —1

Question ID : 16794314042

Q.17 Howmany cards must be picked from a standard pack of 52 cards to surely get 2 cards of the same suit? (Club,
Diamond, Heart and Spade are the suits.)

Ans ?{’1_ 4

5
X3 2
.3

Question ID : 16794314050

Q.18 Among any gromp of 11 integers, the number of integers with the same remainder when they are divided by 101is:

Ans  of 1. atleast 2
< 2 atleast 5
X 3. atmost 5
X 4 exactly 3

Question ID : 16794314051

Q.19 A (x.y) Axla ), Aglegyshand Ay (xg,v,) ame 4 polnte, Py divides 4, 4; in e mtio L2 1 Py divides P A, in
theratio | : 2, By divides Py A, in the ratio 1 : 3. Then the coordinates of Py are:

Ans Xy tx; +xg+x, ity +ys s
"1‘( 4 : 4 )

Question ID : 16794314047




X 2 (xz + X, }’2+}’4)

2 =
X3 (x1 +x; +x3 yity, + J’a)
3 = 3
Xy + x5 J’1+3’3)
4.

ol ( 2 = i
Q.20 ?fﬂ, b,eEfioE; and are in arithmetic progression, then the roots of the quadratic equation ax® + bx + ¢ =0 are
A c
T KLE-7|<3v2

X2 [E-7|=4v3

X s f—? > 34/2

W 4 f—? < 443

Question ID : 16794314041

Section : Subject Related

Q.1 Which of the following equations is a linear equation in two variables?
Ans X1 (x—1)(y+2) =0

Ww22x—3y+7=0

N3 Tx—3y+2z=0

X4as(y+x)>—2=0

Question ID : 16794314063

Q.2
[

The function f(x) = e =0

0, =%
is not continuous at =0, because
A X lim F(x) # £(0)
X 2 ,E_i,‘%‘— f(x) does not exist

W liné f(x) does not exist

X 4 lim f(x) does not exist
x—0

Question ID : 16794314059

Q3 A pair of linear equations in two variables x and y

bt e y=a. 0.5 i, y=15h

has infinite number of possible solutions if:

Ans

Question ID : 16794314068




x a;, b o
1. e
a b, ¢
a b
y R
b, ¢
b c a
PO 3 ir
C; QG by
a b C
,,44_1=_1=_1
PR S =)

Q4 If a pair of equations in two variables x and y is represented graphically by two straight Lines Ly and L, imtersecting
Question ID : 16794314072

a+h

each other ar the poin (z— zub). then a solution of given equations will be:

Ans a+h
\,1‘I=T,y=2ab
+b
x2~x=2ab,+y=a2
2 1
K3y = -
Ta+p? T 2ab

N4 x=a+by=ab

Q.5 Find out the fallacy if any in the statement:
Question ID : 16794314076

“The mean and the variance of a binomial distribution is 16.2 and 29 4 respectively.”

Ans y 4
vig= g is not possible.

/< 2. The statement is true.

47 . 4
X 3 p=— isnot possible.
49 . 4
X4p= -, isnot possible.
Q.6 If flx) = §[9=|-\1"'3'-=5n33}. where a,"s and b/s (0 < i < k) arereal constants. then (%) is: Question ID : 16794314060

Ans “14

differentiable atx=0 forall @;,,,;, = 0,0 =m < k — 1.

X 2

differentiable atx=0 foralla,,, =0.0=sm<k.
&< 3

not differentiable at x=0 for all real a;’s and b,'s .
X 4

differentiable at x=0 for all real a;,’s and b;'s .

Q.7 1f3 hen together are wouth T 21 and 5 chicks together T 20, then how many hen and chicks. cannot be bought for T 1007

A ; Question ID : 16794314066
ns X 1. 12 hen and 4 chicks

o 2. 16 hen and 2 chicks
& 3. 4 hen and 18 chicks




#< 4 8 henand 11 chicks

Q.8 If Xisarandom variable that takes ou ary of the values x,, { = 1 with respective probabilities p(x,). and E[X] denote
the expected value of X, then E[ax® + bx +c| s

v ) @+ b+ Op()

Ans

~ 2 Z{a(xip(xi})z * 'E](xip{:xi}) + C}

X5 D PG

4

X 4 inzp(xi)

i

Question ID : 16794314075

Q.9 Which of the following equations doesn’t have the solution (7, —9)?
Ans X 1. 6y—3x+75=0
v27y—9x+1=0
3 5 3
3.2 G 2=
Fo8 S aboyk =l

N 42x+3y+13=0

Question ID : 16794314064

Q.10 If X isa random variable with Mean j, then the variance of X, denoted by Var (X)) is given by:

Ans X 1. Var (X) = E[X]— p?
X2Var(X) = E[X?]—u
v Var (X) =E [(X— ©)?]
X4 Var(X)=E[X-u]

Question ID : 16794314077

Q.11 The antiderivative Fix) of the function flx)= —t— 4o g(logx) such that Fle)-e, will be:

(logx)?

v xlog(logx) —x ( 1 ) + 2e
logx

Ans

X 2 xlog(logx) — xlogx — 2e
X 3 log(logx) — xlogx — e
X 4 log(logx) + xlogx + e

Question ID : 16794314062

Q.1 2 ifthe strnight line L having v- intercept as % passes through the solution of the pair of equations in two vanables ¥ and
A givenas, 3x + 4y = 11, 7x — 2y » 3 then the angle made by the straight line T with the positive direction of x—

axis i

Ans ?(1- 45 ¢

LI |

v 2 tan? (

&K 3 tan™t (

R

Question ID : 16794314070




X 430c

Q.13 What should be the value of k so that the linear squation in two variables x and v, 31x + 124y = k has integar-
valued solutions?

Question ID : 16794314067

Ans X1 103
X 2 134
W 3 155
X472

Q.14 Which of the given equations in variables x and y has integer-valued solutions?

Question ID : 16794314065

Ans 1 12x+ 16y =18
X2 12x+16y=5
N3 12x+16y=6
N4 12x+16y=7

Q.15 Ina game there are three rooms- 1. IT and 111 Room I contains 2 boxes having gift items and 3 empty boxes, room I
conzains 3 boxes having gift items and 2 empty boxes, and foom OI contzing 4 boxes having gift items and oge empry
bax. respectively. There is equal probability of each room being chosen by a player My John selects one box from a

Question ID : 16794314074

room chosen at rapdony. The probability that Mr. John wins a box having gift items is:

Ans

s X

o ( ! -
] = o] W N o]

Q.16 Ifarctangle has perimeter 96 meters and ifs length is three times its breadth, then the area of the rectangle is:

Ans X 1. 436 cubic meters

Question ID : 16794314071

< 2. 436 sq. meters
o 3. 432 sq. meters
< 4. 432 cubic meters

Q.17 . (x%+5
Ifim |(——ax— b) = oo, then the values of a and b are;

x—on W2X+3

Question ID : 16794314058

Ans

1
x1a=§jER
1
W2 a*,bER
1
X3a==heR
2
1

X4a¢§¢em

cos(x-al

Q.18 I i dx = Ax + B log|sec{x —a)| + ¢ . where A. B and ¢ are real constants, then:[

Question ID : 16794314061




Ans X' 1. A = sina,BeR,c = cosa
X 2. A=cosa,B=sina,ceR
X 3. AeR,B = cosa,c=sina

W 4 A=sina,B=cosa,ceR

Q.19 Astudent salved 30 questions of Algebraand Analysis for 2 hours 40 minutes. If each question of Algebra and Aualysis
takes 5 minwtes and 6 minutes respectively, then the student bas solved: Question ID : 16794314073

Ans x 1.
Algebra : 15 questions, Analysis: 15 questions

K 2
Algebra : 10 questions, Analysis: 20 questions

X 3
Algebra : 16 questions, Analysis: 14 questions

v
Algebra ; 20 questions, Analysis: 10 questions

Q.20 Iftwo straight lines in x v —plane representing a pair of linear equations in two variables ¥ and y overlap each other,
then the pair of equations representing these lines will: Question ID : 16794314069

Ans

+ . have infinite many solutions
/< 2. have no possible solution

/< 3. be inconsistent

/< 4. have a unique solution

Section : Subject Related

Q1 Any positive integer is of the form: Question ID 16704314007

Ans XL

6q or 6g+2 or 6q+4, where q is some non-negative integer.

W2

3q or 3g+lor 3q2, where q is some non-negative integer.

~ 3

6q+1 or 6g+3 or 6g+5, where q is some non-negative integer.

X 4

6q or 6g+—1or 6g—2, where q is some non-negative integer.

Q.2 ; PR s o 2 g "
The general values of x for which sin v+ cosx =min{l.a"—42+7} are given as: Question D : 16794314082

Ans

oo+ {(—1D" - 1}%
K2nm+(—1)" 72—[

T
& 3 2nm + 3




& 4 2nm+ (1) g

Q.3 The number 19.999. .. in the form © . where p and g are integers and g+ 0. can be written as: i
% Question ID : 16794314094

Ans

?‘UE

10

X 2 1999

100

W3 20
p -t

100

Q.4 Two hotels stand 25 m apart. One of them is 70 m high and the angle of depression of the fop of other as observed from
the top of this botel is 45", Height of the other hotel 15 Question ID : 16794314085

Ans X 1. 46 m
X2 44m
X3 43m
4 45m

Q.5 InaAARC. let D, E. F be the points o lines BT, CA and AB respectively such that lines AD. BE and CF are
conemrrent. Question ID : 16794314091

fCE_3 BD_s

e e . and side AB has length 14cm, then the lengths of AF and FB will be:

Ans X1 AF=3cm, FB=7cm
X2 AF=7cm, FB=7cm
'3 AF=98cm FB=4.2cm
X4 AF=9cm FB=5cm

Q.6 Considera population which is finite. and sampling is with replacement. If the variance of the population is 2176.8 with
sample size of 16, then the variance of the sampling distribution of means is: Question ID : 16794314078

Ans - X1, 137.04
X 2 13521
v 3 136,05
X 4 134.12

Q.7 The median for a moderately asymmetrical series having mode and mean as 125 km and 130.7 km respectively is:

Question ID : 16794314088
Ans  X'1.129.7m

X 2 1288 m
X3 1248m
4 1288 km

Q8 Which of the following is a rational number: Question ID : 16794314095

w5 o1 (44 E)(4+E)
X2 (4-VB)(&—5)
V3 (4+5)(4—+5)
X4 (4+V5)~(4-v5)




Q.9 For 4 data points of two correlated variables x and y, it is given that

Yx=24,Yy=113Yx*> =202, T xy= 84, ¥ v?=39

Ans

1
1. 9 —
Kly= i1'5'(3.“:1::}3::‘:}
1
<2 x——(36+1(}3y}
1
<3 x-—(lﬂ3+36y}

1
4. —
i y= T7¢(103+360)

Question ID : 16794314079

Fit a least squares line to this data using x as independent variable.

Q10 wWhich of the given relation is true?
Ans X 1. cosl® < cosl

& 2 cosl® = cosl

o 3 cosl® > cosl

i
< 4 cosl® = T86 sinl

Question ID : 16794314081

Q.11 What should be filled at the places of 1. 2, and 3 to make the statement correct?
Histogram is a set of adjacent whose are proportional to the

Ans  f 1. rectangles; areas; frequencies

X 2 triangles; parameters; frequencies
/& 3. triangles; areas; item size

/< 4 rectangles; parameters:; item size

Question ID : 16794314086

Q.12 Avertical pole AB has two marks af C and D such that AC, AD and AB subtend angles o, f, Y fram 3 point on the
ground which is a1 a distance of x from the pole. ITAC=a, AD=b, AB=cand a+§+Y = 1807 then x is equal to:

Ans abe

1. et
X vat+b+c
J 2 abec

a+b+c

X 3 Vabe

a+b+c

a b i

Question ID : 16794314084

Q.13 Consider a straight line L. The number of straight lines pessing through a point P which are parallel to L is:
Ans X 1. Infinite

V&N

X3 2

x40

Question ID : 16794314090

Q.14




97
Simplify: 725

Ans

e

Ko

"h-CI|'“~CI

]

v 77,

K4 g:47

Question ID : 16794314096

Q.15 In the given figure. BC || RS. ZRAQ = £BAC, £8AD = 52°, then the value of x is:

B
M
= e 53=AD s>

Ans o 1 540
K2 26°
X 3. 38°
X 4 52°

Question ID : 16794314092

Q.16 ks siven series o e, if we subtsact “a” from every et and divide every e by “b',then rithmetic mean of he
Ans ¢ 1. increases by ‘a’ and divided by ‘b’

#< 2. diminishes by "a’ and multiplied by ‘b’

/< 3. increases by ‘a’ and multiplied by ‘b’

« 4 diminishes by *a’ and divided by ‘b’

Question ID : 16794314087

Q17 A circle has:
Ans X 1. no two chords of equal length

« 2. infinite number of equal chords
/< 3. exactly two chords of equal length
#< 4 finite number of equal chords

Question ID : 16794314093

Q.18 The curves that oceur for a distribution in which class-frequencies go on decreasing symmietrically on sither side of
central value, are called:

Ans 3¢ 1. moderately asymmetrical curves

< 2. U-shaped curves
/< 3. extremely asymmetrical curves

o 4 symmetrical curves

Question ID : 16794314089

Q.19 Fer two comelated variables x and )y, if coefficient of correlation between x and v is 0.8014, variance of xand y are 16
and 25 respectively. Then the covariance betweeny and 7 is:

Ans X' 1. 162.08

Question ID : 16794314080




. 1—ab

x 3 1+ab

a+h

X 4 1—ab

Question ID : 16794314083

Section : Subject Related

Q.1 Anequilateral wiangle of side 10 m is to be pained on a wall, If the cost of painting is T 15 per m?, then the cost to
paint the triangle is:

Ans - X 1. T549.5
K2 T5595
K 3 6595
v T6495

Question ID : 16794314104

Q.2 Find the two numbers whose sum is 30 and product of whose HCF and LCM is 224.
Ans € 1. 13:17

W2 14,16

K3 11,19

X 412,18

Question ID : 16794314098

Q.3 The volume of an open cubical box having surface area 125 m? is:
Ans X1 625m?

V2 125m?

X 3 125m?

X 4 625m?

Question ID : 16794314106

Q.4 The ares of quadiilateral ABCD with AB =12 cm, BC= 17 em, AC =25 ¢, AD =24 cm, £CAD =00 will be:

Ans - X 1300 cm?
X 2 410 cm?
V2 390 cm?
< 4 180 cm?®

Question ID : 16794314105

Q.5 1fx+5 isafactor of the polynomial x* + ax? + ax — 15, then the value of a is:
Ans x 1. —9
W27

Question ID : 16794314100




K30
x4 8

'6 . . . . - e,
Q-6 Which of the following is not a polynomial in one variable? Question ID : 16794314099

" (2 ) (- )
e () (d g
& (x_Ta — x_Tl) (x% =2 xg)

X a (x% + 2@) 2

Q.7 y int ialx® —x?+x—1i y-axis?
At how many points does the polvnomial x* — x* 4 x — 1 intersects the x-axis Question ID : 16794314101

Ans x1~ 3

Q.8 1f{x+a) isthe greatest comumon divisior of 1 —ga+p and 27 +me —n then the value of *a” is given as:

Question ID : 16794314102
Ans p _l_ n

F

m-—q
g+m

W2

g—m

‘n+p
p—n
qg+m

X 4

Q.9 Which of the following is a binomial in one variable of degree 5?

Question ID : 16794314103

- AN R e S S e
X2 (@®+1)2+ x5 —1)°
V3 (P + 12+ (% —1)?—2(x*° — x5)
Kae@®—1DE°+1)

Q.10 Consider a frusmm of a right cireulas cone such that its [ateral surface aren is 337 em? and sum of squared radii of
fowes and upper base is 154 cm . The otal surface area of lhe frustum is: Question ID : 16794314107

Ans X 1. 491 cm?
v 2 821 cm?
X 3 941 cm?
X 4 812 cm?




Q11 Phonics approach facilitates reading because it

Choose the best option to complete the sentence.

Ans 1. Allows reader to focus

/< 2. Improves attention span
« 3. Build sound-letter relationships
/< 4 Makes reading interesting

Question ID : 16794314114

Q.12 Pre-Natal Di ic Techniques(Regulation and Prevention of Misuse) Act.1994, is a constitutional guarantee faat
checks on:

Ans ¢ 1. Female child mortality

o 2 Female foeticide

/< 3. Infant mortality
/< 4 Mother mortality

Question ID : 16794314112

Q.13 “Repetitions in learning can strengthen the connections and disuse can weaken the conaections™ is a classroom
implication of which of the following theoriss?

Ans  of 1. Trial and error method
X 2. Discovery method of learning

/< 3. Operant conditioning

#< 4. Classic conditioning

Question ID : 16794314110

Q.14 Integrated Education for Disabled Children (IEDC) was established with an objective to

Comiplete the statement with the right option from the following.

Ans 1

Providing educational opportunities only to children to physical disabilities

W2

Providing educational opportunitics to all children with disabilities under the general school system

2~ 3.

Providing guidance to all children with special education needs

>~ a4

Providing educational opportunities for children with mental disabilities

Question ID : 16794314109

Q.15 Methods and theories of leaming are dealt with under which of the following disciplines?

Ans 1. Educational sociology
« 2 Educational psychology
/< 3. Educational technology
X 4. Educational philosophy

Question ID : 16794314116

Q.16 <Ayt is the response of man’s creative soul to the call of the real”
Which philosopher said the above statement?

Ans ¢ 1. Swamy Vivekananda

+ 2. Rabindranath Tagore
& 3. Mathatma Gandhi

Question ID : 16794314115




/& 4. Socrates

Q.17 Hamesssing the power of talk to stinfulate and extend thinking and leaming in pupil is advocated by which of the
teaching mathods given below?

Ans o 1. Dialogic method

#< 2 Lecture method
/< 3. Reading method

X 4 Didactic method

Question ID : 16794314111

Q.18 Quality and relations are studied under which type of concepts?
Ans 1. Concept of objects

« 2. Concept of aspects

/& 3. Simple concepts

/< 4 Imaginary concepts

Question ID : 16794314108

Q.19 Development of all round personality can be achieved through integrated approach is the philosaphy of schools that
follow which of the following cumiculum?

Ans 3 1. Subject based

# 2. Child centered
o 3. Undifferentiated
/X 4 Activity based

Question ID : 16794314113

Q.20 Institutional initiative for inclusive education can be evidenced when

Ans ?{’1

School conducts entry level tests to enroll able students

~ 2
School has undifferentiated material for all students

v &)

Time is provided for teams of teachers and paraprofessionals to plan together

X 4

Teachers plan common assessments for all students

Question ID : 16794314117
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Ans 3 1. Moon : Earth
< 2. Wheel : Axle

o 3. Star : Galaxy
/X 4. Mercury : Sun

Q.1 If+means—. = means +, + means +, and — means =, then what is the value of 320 = 4 - 7- 20 + 387
Ans x 600 Question ID : 16794315341
1.

X 2. 585

X 3 582

4 578
Q.2 2 : ]

Find the odd pair of words. Question ID : 16794315344

Q.3

Choose the odd figure in the series.

Question ID : 16794315330

hlt

| o

A B
Ans (1_ D
X2 B
X3 C
K4 A

c D

Q.4

What will be next term in the series?

Question ID : 16794315346

4. 16, 36, 64, 100, ?

Ans 1149
X 2153
W3 144
X 4162
Q.5

M, S.X.B.E.?

Ans 11_ G
X2T
X3 F
X4 K

What will be the next term in the following series?

Question ID : 16794315347
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Q.6

Ans

Mandu fimess club gives 30% concession in the monthly fee to those belong 1o any of the following categories

(i} college studentc of age group 1910 26 vears

(i umermployed youth ol age group 25 yedrs 10 40 years

(iil) sendor citizens of age 50 years and above

{iv) Service men'ex-servicemen of police Defence forces.

v i dangt af d fonnders of the fitmess cib.

Wasavi was a police officer. He retited last vear as SI. He wants t join the Nasdu's fitness club. For monthly peckage
of T 5000/~ how much he needs to pay afier concession?

&< 1. T 1500/-
& 2. T 2500/-
v 3. T 3500/-
& 4 T 500/-

Question ID : 16794315335

Q.7

Ans

I, TF ¥ IH TR F T ¥ 3Ry ooff vt ¥ weRa ¥
X1 g

o g

X 3 o AeH

X4 Amg

Question ID : 16794315328

Q.8
Ans

Archana is sister of Radha. How is Radhas mother’s sister related to Archana?

& 1. Grand mother
o 2 Aunt

X 3. Sister

X 4 Mother

Question ID : 16794315340

Q.9

Ans

Find the odd pair of numerals.
X1 8-128

X 212-288

X3 6-72

W 4 7-100

Question ID : 16794315345

Q.10

Ans

Choose the odd figure in the series.

wll T3

X
e oW O

v 41D

Question ID : 16794315331

Q1

Ans

The ratio between the present ages of 4 and B is 5 : 4. If A s 3 years older than B, what will be the ratio of the ages of
A and B affer 3 years?

X1 4:7
X22:1
X3 8:3
vie6:s

Question ID : 16794315343

Q.12

Question ID : 16794315333
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The following pie diagram shows information about the crop cultivation for the pulses & grains in “XYZ' state for the
vear of 2015-2016. Read the information and answer the questions
The total crop produced in “XYZ" date i5 23,428 tonnes.

Green

Car =
How much crop of wheat is culfivated in *XYZ" state during 2015-1567

Ans X 1. 4685.6 tonnes
& 2. 7028.4 tonnes
' 3 8199.8 tonnes
& 4 8118.99 tonnes

Q13 Choose the odd figure in the series.

Question ID : 16794315332

N

AN S \/%;t\/

A B e D
Ans X' 1 D
X2 A
Vs C
X4 B

Q14 Choose the similar figure in the options.

Question ID : 16794315329

" —
| e | ?
Ans .
}(1][
—
=
xz([ ]
L

J 3. E[E

< 4 :]ﬂ

Q15 Find the embedded figure given below from the options.

Question ID : 16794315334

[

Ans

S

K
v M
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[

F

Q.16 Study the following carefully and answer the given questions.
Question ID : 16794315339
—_—, MCA

J\

Computar 1 4/
il 5 é/—s‘-’\fomen

g

[

Which region belongs to women who have done MCA but are not computer engineers?

Ans “1_ 4
X 26
X312
X 410

Q.17 How the pattern would appear when the transparent sheet is folded at the dotted line?

Question ID : 16794315337

|

@

Ans

v -‘

Q.18 Inagroup of denkey end ducks, the number of legs are 16 more thae twice of the heads. Find the number of doakeys.

Ans x1. 6
X2 7
X310
Wi g

Q.19 Your friend has 2o1¢ 1o giry. Unfortunasely he lost his wallet. He called you over phone for help, Wiat &5 the best way to
Aty ke theptpti? Question ID : 16794315336

Ans ,1_

Make an arrangement to deposit or hand over required money/help for him
/< 2. Scold him for losing the wallet

K 3
Bring this information to the notice of his parent

/& 4. Ignore him

Question ID : 16794315342

Q.20 News program always have - Identify the best option that suits the statement.
" e o o : Question ID : 16794315338

Ans
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& 1. Advertisement

& 2. Cartoon

& 3. Jokes

W 4 News

Section : General Awareness

Q.1 Indrani Rehman did not specialize in which one of the following dance forms?
Ans 3 1. Kuchipudi

Question ID : 16794315359

X 2. Kathakali
' 3 Kathak
/< 4. Bharata Natyam

Q.2 was considered to be most valuable possession in the Early Vedic Period.

Question ID : 16794315350

Ans X 1. Land
X 2 Gold
W 3 Cattle
X 4 Silver

Q3 2018 fregw # o T R TR W Temd w1 R @ ae

Question ID : 16794315361

Ans X1§Wmﬁﬁ?
X 2. Oier gleErET
v Ffeae THE
X 4 T ReAa

Q.4 Which of the following article provides that the State shall endeavour to secure for living wags etc. for workers?

Ans 1. Article 41

Question ID : 16794315353

X 2. Article 39
o 3. Article 43
< 4 Article 38

Q.5 #=fae 2 w7 wad 3= tev (i) Rele fem b S oofr B T 7 A
Y AW OF g B, e 9F g & wee Aw we RiFmasg e s B

Question ID : 16794315367

Ans X1 30 Rafere
X 210 faferma
v 60 RftEe
X 4 50 faferaer

Q.6 Where is the headquarter of European Space Agency (ESA) situated?

Question ID : 16794315364

Ans X 1. Brussels
v 2. Paris
& 3. London
& 4 Vienna

O e £ Teue = AT ST 20

Question ID : 16794315351

Ans
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W 1 TSR
X2 A
X 3 B
K 4 TAATES
(0.5 15905 A O DR S Al
Ans X 1. 26th Constitutional Amendment Act, 1971
o 2. 21st Constitutional Amendment Act, 1967
/< 3. 19th Constitutional Amendment Act, 1966
/< 4. 24th Constitutional Amendment Act, 1971

Question ID : 16794315355

Q.9 Indian Air Force (IAF) for first time will participate in multinational air exercise Pitch Black - 18(PB-18)
e : Question ID : 16794315365

Ans X' 1. France
# 2. United States
o' 3. Australia
< 4. Germany

Q.10 How many total Grand Slam titles have been won by Serbia’s Novak Djokovic?
Ans X 1. 12th

& 2 15th

« 3 10th

v 4 13th

Question ID : 16794315362

N oy i BT Tom & e oREieE B2 Question ID : 16794315352
Ans X 1. e

-

X2 FAEH
V5 TS

K 4 3T 9T

Q12 Frelr vk o T €, U 9RA & W TeT @ " 2 Question ID : 16794315358

Ans

& 1. BT WeRr
X 2 3T gour

v FEE

X 4 FJET gaer

Q13 Erhmrmm it T e S e S fEd fsm 20 s im ==
wia 311,336 0 790 & Hafw G 78 soe @ dee @ w g Question ID : 16794315357

e X g
v tfFaw dF
X 3. ZoTgTEe §%
X 4 IS FET dF

Q.14 5 =ify #r greer stk P ofy & o Fr ordy Y B w9 F S STer 12

Question ID : 16794315349
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M st ReE
X 2 35erH g
v 5 gfeis e
X 4 aeds fBEe

Q15 Buddhadev Dasgupta is a famous __ player of India.
Ans X 1. Shehnai

« 2. Sarod

X 3 Sitar

< 4. Veena

Question ID : 16794315360

Q.16 The International Monetary Fund (IMF) has cut India’s growth forecast for 2018 from 7.4% to

Ans  of 1. 7.3%
X2 7.1%
X 3 6.7%
X 4 7.0%

Question ID : 16794315356

Q.17 Which Past of the Indian Constitution specifies the list of Fundamental Duties?
Ans X' 1. Part VI

v 2 PartIV A

X3 PatIX A

X 4 Part IV

Question ID : 16794315354

O wewr twiREt @ anfeser frea RO
Ane X1 ks T

X 2w gatea

V' TEE S

X 4 JrEe Fra

Question ID : 16794315363

Q.19 Vardhamana Mahavira was the Tirthankara according to Jain tradition.
Ans x 1. 3 Sth

“2. 241]1
x 3. 231(1
X 4 26h

Question ID : 16794315348

Q.20 Odisha Government has recently launched *Green Mahanadi Mission’. a pl inn drive undar which
saplings will be planted.

Ans X 1.1.5 crore
W 2 2 crore
& 3.1 crore
& 4. 3 crore

Question ID : 16794315366

Section : Arithmetic Ability

Q.1

(
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The speed of a boat in still warer is 7 kmvh. itcan go 4.5 kam up and return to originalpointl

key ravi.html#

Question ID : 16794315382

i~ ours, What Is the speed of the stream in kivh?
Ans J1_ =

X23

X315

X425

(78)% —(56)%~(12)3-78x36x56 i
(7.8)2—(5.6)2-(1.:2)2 +7.8X5.6-5.6 X1.24+1.2x7.8

The value of

Question ID : 16794315368

Ans x 1. 10
& 2. 10000
X 3100
W 41000

Q.3 Atrain without stoppage travels at an average speed of 80 km/h and with stoppage it travels at 68 km/h. how many
mimies does the train stop on an average per hour?

Question ID : 16794315381

Ans x1_ 10
X212
X315
W9

Q.4  The sums of dimensions ofa caboid are 23 cm and its diagonal is 321 cm. what fs the total surface area of the
cuboid?

Question ID : 16794315380

Ans 1. 350 cm?
&< 2 375 cm?
v 3. 340 cm?
& 4 360 cm?

Q.5 By selling 40 articles a person gains cost price of 4 articles. What is his gain percent?

Ans  of 1 10%

Question ID : 16794315375

96
Ko =%

Q.6 The sumof digits of the greatest four digit number which when divided by 12. 28 and 33 leaves remainder 8 in each
cise i

Question ID : 16794315371

Ans J1_ 23
X2 20
X321
X4 22

Q.7 Apersontakes a loan at simple mterest of $% per annum for first year with an increase of 0.4 in each subsequent vear.
Ifhe paid T 8428 as interest after 4 years, how much loan did he take?

Question ID : 16794315377

Ans < 1. 23800
X 2. T 24200
v 3 T 24500
& 4 T 24000

A 5 2 40% above cost price, He sells 5% of his stock at marked price, 20% stock at 20% cant
. trader marks his goods b He sell f his stock ked k dise
and remaining at 23% discoumnt on maried price. Wlhat is his overall gain percent?
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: Question ID : 16794315376
Ans X 1. 23.4% l J

X 2. 23.6%
W 3. 23.00
X 4. 23.8%

Q.9 Inanexamination out of 400 students, 757 passed in physics and 65% passed in mathematics, If 18% failed in both
Sbjects; Bty ey sindeods passed 1o bl tobjechs Question ID : 16794315374

Ans  of 1. 232
X 2 204
X 3 168
X 4196

Q.10 The difference between compound interest and simple interest on ¥ 4800 for 2 years .
is T 30.72. What is the rate of interest per annum? Question ID : 16794315378

Ans “1. 804
X 2 7.5%
X 3. 10%
X4 7%

Q.11 The HCF and LCM of two numbers is 15 and 480 respectively. What is sum of their reciprocals?

Ans 11

Question ID : 16794315370

160
1
K2
32
1
K3
15
X 4 31
480
Q12 1fa:b=4:5andb:c=3:§, then 3a: 4b : 6¢ is equal to: Question ID : 16794315372
Ans K 1.8:3:10
X2 5:3:20
X33:5:10
v+ 3:5:20

Q.13 The sides ofa triangle are 12 cm, 35 cm and 37 cm. What is the shortest altitude of the triangle? (Correct to one decimal
place)?

Ans X' 1. 12 cm
v 2 11.4em
X 3 11.6cm
X4 11.5cem

Question ID : 16794315379

Q.14 AandBcandoamm‘ufwkml"_dg\'smd"ﬂdaysmspu‘tnelv They started the work together but A left after
ol dthe WS 12 dlaye Ater oy ety dtyslid sy ey Question ID : 16794315384
Ans ¢ 1. 3%

X 22
X35
X4 4

Q.15 Aaalloyof 2ol and silver contains 80% gold by weight In 30 g of this alloy, bow much silver should be added to
sscetn alloy Wil 735 mole? Question ID : 16794315373

Ans (1. 2.5¢
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’ 10
v2—g
3 =
X3 5g

1a
X 4 % z

=

Q1

6
The value of 1 + #1 is equal to: Question ID : 16794315369
1+—3—

hre r 0 E
6
25
14
14
5
24

31

W2
< 3

> 4

Q.17 1f2menor 3 boys can completz a work in 48 howrs, then 4 men and 2 boys will complete same work in how meny
hours?

Ans }{'1. 16
X 2 14
W3 18
X 420

Question ID : 16794315383

Comprehension:

The following tables gives the sale of number of apples in 5 shops
A, B, C. D and E. Read the table and answer the following

questions.
Shops A B e D E
No. of
Apples sold 860 | 760 1380 820 X

SubQuestion No : 18

Q1 If average sale was §40. including E, what was the total sale in
shop E?

As" /< 1390
W 2. 380
/< 3. 410
< 4420

Question ID : 16794315386

Comprehension:
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The following tables gives the sale of number of apples in 5 shops
A.B. C. D and E. Read the table and answer the following

questions.
Shops A B & D E
No. of
domles ol 860 | 760 | 1380 | 820 X

SubQuestion No : 19

Q1 The total sale in shops A and B is what percent of total sale in
shops A, B, C and D (correct to one decimal place)?

As" 75 1. 38%

Question ID : 16794315387

< 2 41.8%
o 3 42.4%
< 4 42.6%

Comprehension:

frafafta ot 5 @@=t A, B, C, D 3R E & 9 &
gEar Fr T gaar 1 ol 9 At FHEREa gaal
FT IcaT &l

g | A| B | c | D|E

9= AT BT | gg0 | 760 | 1380 | 820 | X

SubQuestion No : 20

de g 3TFd FHHR TR-E F T H & I ot A A Question ID : 16794315388
% g@e E @ &= aTv ¥ H Ho FEar 380 ¢ A
T B & T gy I &Y & FE4T FT HFeaH
QUi # 4T grem?

An X1 82°
X< 2 68°
W 3 B5°
X 4 B66°

Q.1 Choose asuitable beginning for this sentence. , the attendance in schools didn’t drop.
Question ID : 16794315390

Ans  of 1. Despite heavy rains
/X 2. In spite heavy rains
/< 3. Although heavy rains
/& 4. And heavy rains

Q2 When we meet him next Monday at 4 PM he Question ID : 16794315392

Ans o 1 will be preparing to leave Hyderabad.
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X 2. will be prepare to leave Hyderabad.
/< 3. will preparing to leave Hyderabad.
/< 4. will be preparing to leaving Hyderabad.
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Q.3

Ans

One of the options is a complete sentence? Identify it.

/& 1. Rice and Curry.

& 2. The bird on the tree.
v 5

There’s always light at the end of the tunnel.

& 4 Folk tales.

Question ID : 16794315389

Q.4
Ans

he reforms himself, no one is going to trust him. (Provide the appropriate conjunction)

X 1. Either

&< 2. Despite
o 3. Unless
X 4 Nor

Question ID : 16794315403

Q.5

Ans

He has his goals.
& 1. to accomplishing
+ 2. to accomplish
/< 3. accomplishing
/< 4. to be accomplish

Question ID : 16794315393

Q.6

Ans

He was me in the queue.

(Choose the correct preposition)
' 1. behind

# 2 inside

& 3. About

X 4 from

Question ID : 16794315401

Q7

Ans

Which sentence makes most sense?

W

Question ID : 16794315391

Since he's lost his money, he couldn’t go to the restaurant.

> 2

Since he's lost his money, he go to the restaurant.

X 3.

Since he's lost he money, he couldn't got to the restaurant.

4

Since he's loss his money. he couldn't go to the restaurant.

Q.8

Ans

The engineer designed a new software for retailers.
(Provide the appropriate synonym for the underlined word)

o 1. Developed
& 2. Reasoned
/& 3. Renovated

Question ID : 16794315397
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& 4 Prevented

Q.9

Ans

He plays soccer so well,
( Provide the appropriate question tag)
X 1. Can’t he?
X 2 Isn’the?
& 3. Aren’t he?
' 4 Doesn’t he?

Question ID : 16794315395

Q.10

Ans

Arrange parts of the sentence in meaningful and grammatically correct arder.
A. Home food is certainly the best option to eat hygienic food.
B. Therefore, occasionally eating out is advisable. not regularly.
C. However, hygienic food is not served at every eatery.
D. Eating out has become a common practice nowadays.

E. To conclude, those who eat out on a regular basis are at risk of various ailments.

v 1 DCABE
X 2. CDABC
X 3 BACDE
X 4 EDCAB

Question ID : 16794315398

QN

Ans

* Will it rain today”. the tourist said.
The tourist (Reported Speech would be)

/< 1. enquired whether it rains that day.

/& 2. enquired whether it could rain that day.
' 3. enquired whether it would rain that day.
/< 4. enquired whether it would rain today.

Question ID : 16794315394

Q.12

Ans

The new teacher was welcomed by a boisterous crowd.
(Provide the appropriate antonym for the underlined word)

/< 1. Huge
< 2. Posthaste
X 3. Brisk
o 4 Silent

Question ID : 16794315399

Q.13

Ans

Raj. no one was present in the room.
(Choose the correct preposition)

& 1. Beside
& 2 Within
& 3. Below
v 4 Besides

Question ID : 16794315402

Q.14

Ans

People praise him for his honesty.
(Provide the appropriate antonym for the underlined word)

& 1. Intricate
/< 2. Rough
& 3. Stingy
W 4 deceit

Question ID : 16794315400

Q.15

[
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The Police displayed the items retrieved from the robber. Question ID : 16794315396 J
(Provide the appropriate synonym for the underlined word)

Ans 3 1. Heightened
& 2. concealed
o 5 exhibited
& 4 Paused

Comprehension:

Read the followmg passage and answer the questions that
follow.

A clunate sceptic has said that 1t 1s now tune to end the
debate over whether global warmmg 1s real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken eritic of
the science underpmnmg global warmmg. said that there 1s
little doubt m his mind the phenomenon of rismg land
temperatures 1s real. Over the past two years, he has chamred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land

sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdmgs of other studies and was part-
funded by US billionane brothers Charles and David Koch.

"When we began our study. we felt that sceptics had raised
legtunate issues. and we didn't know what we'd find. Our
results turned out to be close to those published by prior
groups. We thmk that means that those groups had truly
been very careful in their work. despite ther mability to

convince some sceptics of that." Professor Muller said.

SubQuestion No : 16

Q.1 At the beginning of the last paragraph, the author mentions that his
team was about the findings.

An X 1. Unfriendly

S
/< 2. Unreal
/< 3. Uncharacteristic
o 2 Unsure

Question ID : 16794315408

Comprehension:
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An
s

Q_,'1 ‘Exhaustive’ in the context f the passage means:

Read the followmg passage and answer the questions that
follow.

A clunate sceptic has said that 1t i1s now tune to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpinning global warmmg. said that there is
little doubt m his mind the phenomenon of rismg land
temperatures is real. Over the past two vears, he has chamred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land

sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and David Koch.

"When we began our study. we felt that sceptics had raised
legtimate issues. and we didn't know what we'd find. Our
results turned out to be close to those published by prior
groups. We think that means that those groups had truly
been very careful in their work. despite ther mability to

convince some sceptics of that." Professor Muller said.

SubQuestion No : 17

Question ID : 16794315406

/< 1. competitive
o 2. complete
75 3. concept

/< 4. Compact
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Read the followmg passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warmmg. said that there is
little doubt m his mmnd the phenomenon of rismg land
temperatures is real. Over the past two vears. he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 bilhon temperature recordings
collected from more than 39.000 weather stations at land

sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionane brothers Charles and David Koch.

"When we began our study. we felt that sceptics had raised
legitimate issues. and we didn't know what we'd find. Our
results turned out to be close to those published by prior
groups. We think that means that those groups had truly
been very careful in their work. despite ther mability to

convince some sceptics of that," Professor Muller said.

SubQuestion No : 18

QS'1 The conclusion of Richard Muller’s analysis is: Question ID : 16794315409
An X1
° Prior analysts had truly been very cared for in their work
> 2
Prior analysts had truly been very careless in their work
o 3
Prior analysts had truly been very careful in their work
r

Prior analysts had truly been very independent in their work

Comprehension:
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Read the followmg passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warmmg 1s real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the Unversity of
California, Berkeley. who has been an outspoken critic of
the science underpmnning global warming. said that there is
little doubt m his mind the phenomenon of rismg land
temperatures is real. Over the past two vears. he has chared
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land

sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US bilhonane brothers Charles and David Koch.

"When we began our study. we felt that sceptics had raised
legtunate 1ssues. and we didn't know what we'd fmd. Our
results turned out to be close to those published by prior
groups. We thmk that means that those groups had truly
been very careful m thewr work. despite ther mability to
convince some sceptics of that." Professor Muller said.

SubQuestion No : 19

%-1 The author says that the debate should end. The debate he is
referring to is:

An X1
S

the debate over whether global warming is surrealism or not.

> 2

the debate over whether global warming is temporary.

W 3

the debate over whether global warming is real.

X 4

the debate over whether global warming is fickle.

Question ID : 16794315405

Comprehension:
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Read the followmg passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming. said that there is
little doubt m his mmnd the phenomenon of rismg land
temperatures is real. Over the past two vears. he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 bilhon temperature recordings
collected from more than 39.000 weather stations at land

sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US bilhionane brothers Charles and David Koch.

"When we began our study. we felt that sceptics had raised
legitimate issues. and we didn't know what we'd find. Our
results turned out to be close to those published by prior
groups. We think that means that those groups had truly
been very careful in their work. despite ther mability to

convince some sceptics of that." Professor Muller said.

SubQuestion No : 20

Q.2 TR L "
o ‘BEST’ was set up for this purpose: Question ID : 16794315407

An  of 1.

° testthe findings of other studies related to global warming.

X 2

test the findings of other factors related to global warming.

X 3

test the findings of other students related to global warming.

X 4

test the findings of other opinions related to global warming.

Q1 ot Ry 399 & FH T 2 565F AT UF 0= B b Question ID : 16794315422
A X e

K 2 Iga aefr

X 3 3el=
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v odalRe

Q.2

Ans

F TurgsTE FE w397 F Wieg W= H TAT &

}{'1.3@?;

X 2 FRURT
X 3 dcg®y

-

Question ID : 16794315416

Q.3

Ans

FIT-HT 95 YL 87
X . gigHa

o 2. AT
X 3. HATITF

}{'4.ﬁ:’|§d1‘

Question ID : 16794315412

Q.4

Ans

T F THTETE FEO§
X 1. fremad

v THE|

X 3 Ryerr

}{'4.@;&

Question ID : 16794315424

Q.5

Ans

‘T THIR H AT ITFT T FRF ¢
<1 HOETH

v 2 AR

X 3 gEer

X 4 FF

Question ID : 16794315414

Q.6

Ans

R e H 3UET &
X1 9T

X237

X3q

9T

Question ID : 16794315417

Q7

Ans

FE e F I9YFT TgIIA @ REFd T AR

Fed AT I HAAT 915 A B
X e
X 2 s
v o Fmy
X 4 wiaar

Question ID : 16794315425

Q.8

[

Question ID : 16794315419
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Tl T SR ¥ AT # W TE
X 1. F[oTETees faRiNoT
XZ-WW

v . sEaTEe e

K 4 HEUETE 7T

Q.9

Ans

FTEAR & TUW T U7 F T HBIA-H g F @ Tl 87

Question ID : 16794315410

X1 gRer
X 2 e
(3.%,—@7

< 4 g

Q.10

Ans

Ffewar & 7o g &

Question ID : 16794315418

&1 7
X 2 Fitfees
X3 Tt
v Hqel

Q1

Ans

T Wg FAT TEEU H AT

Question ID : 16794315427

X . AR daT T &
s u-c

X 3. TRy =T BT
X o g AT

Q.12

Ans

HTEaT=T ITeT IET ST

Question ID : 16794315426

W 1. 3E, =T )
X 2. qIST-9eET =S 91
X 3 gH S HH H AT

X 4 8T 93T g Tarfese 2

Q.13

Ans

HE Wikt goAaTT & fow AT 8

Question ID : 16794315428

X 1. gl [T SIS Fal L TN
V2 3G & 3 A F [
X s HH F AR Tt F gH

& 4 3T TN Beldd AT

Q.14

l
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l

Question ID : 16794315421

Q.15

Ans

et e F Fed TR B
v
X2 g

X 3. FIoT

X 4 3TTTEr

Question ID : 16794315415

Q.16

Ans

‘TTOT 2 HT [T B
v ufEsT

X 2 3TEE

X 3. trgoTr

X 4 =mEd

Question ID : 16794315423

Q17

Ans

Y AT BIfeT|

X1 diey Aigw g gl
V2 3 Hal FT e AT
X s gH fewd @ Faer?
X o+ & e & FT

Question ID : 16794315429

Q.18

Ans

FiRwod, s @ T & sow d Flawaa 2

X 1. HHeA g
V2 3T T
X3 qoT o
X 4 orfas

Question ID : 16794315413

Q.19

Ans

TOH U HiF-TT B
X Ore
X 2. AT
W o 3T
X4 TT

Question ID : 16794315420

Q.20

Ans

‘g ol & 91 HIS-TT JUT HITT 27

v
X2

Question ID : 16794315411
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Section : Subject Related

Q.1 Achord of acircle subtends an angle 60 ° at the centre of the circle. Ifthe length of the chordis 10 cn. Then the areaof
The major segment is (Given 1 = 3.14 and V3 = 1,732) Question ID : 16794315448

X 1. 335 cm?
& 2 310 cm?
& 3. 295 cm?
v 4 305 cm?

Ans

Q.2 Apply Chiness Remainder theorem to salve ¥ — 3 (mod 9), x = 7 (mod 13). The common solution is:
Ans X 1. x = 107 (mod 117)

X 2 x =103 (mod 117)

W 3 x =111 (mod 117)

X 4 x =105 (mod 117)

Question ID : 16794315437

Q3 A pon-terminating but recurring decimal is:

Ans X 1. A natural number
& 2. An integer
& 3. A whole number
' 4 A rational number

Question ID : 16794315430

Q.4 Number of positive integers. which are less than 108 and prime to 108 are?

Ans x1_ 15
X2 18
Vs 17
X 4 36

Question ID : 16794315438

s 332 — 334+ /500 is equal to: Question ID : 16794315434

Ans 51 43
X2 324
v's 634
x4 312

Q.6 Inthe following figure (not to scale) AB is the commion tangent to the circles C; and C,, where C, and [ are touching
externally at C, AD and DC are two chords ofthe citcle €, and BE and EC are the twio chords of the circle C, . Find the Question ID : 16794315445
mgasure of LADC — £BECT

Ans X 1. 1200
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Q.7

Ans

PO is the direct commion tangent of two circles (S, 9 cm) and (R, 4 cm) which touch each other extemally. Find the area
of the guadrilateral PQRS (inom” )7

Question ID : 16794315447

v 72
X 2 69
X 3 78
X 4 65

Q.8
Ans

When 31513 and 14359 are divided by a certain three digit number, the remainders ars equal, Find the remainder?

X 1. 98

Question ID : 16794315441

V2 97
X 3. 95
X 4 06

Q.9

Ans

(0.11 + 0.22) X 3 is equal to:

Question ID : 16794315431

X103
Vo1
X319
X4 3

Q.10

Ans

5 7
A fraction whose denominator is 30 and placed between — and & is:

Question ID : 16794315432

8
20
30
18
30
21
30
19
30

F R

X 2

K 3.

v

Q1

Ans

Find the remainder when 3213 is divided by 437

Question ID : 16794315439

X 1. 35
X 2 30
W3 28
X 4 33

Q.12
Ans

The sum of the length, breadth and depth of a cuboid is 19cm and its diagonal is 55 . Tts surface arca is:

X 1. 361 cm?

Question ID : 16794315449

X 2. 250 cm?
v 3 236 cm?
X 4 275 cm?

Q13

Ans

Fuclid’s Postulate IIT is:

Question ID : 16794315442

/< 1. All right angles are equal to one another

&~ 2
A terminal line can be produced indefinitely

K 3.
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A straight line may be drawn from any point to any other point

v

A circle can be drawn with any cenire any radius

Q.14 Find the number of ways in which 8064 can be resolved as the product of two factors?
Ans x 1. 26

v 24
X322
X 420

Q.15 Inthe following figure ABCD is a quadrilateral. BE || AC, BE meats DC (produced) at £, AE and BC imersects a0,
Which oae & the correct answiet from he following? Question ID : 16794315443

/W\
N APt

Question ID : 16794315436

Ans X 1. ar (AAOC) = ar(ABOE)
o 2. ar (AOAB) = ar(AOCE)
/& 3. ABEC is parallelogram
X 4. ar (AABE) = ar(AACE)

Q.16 Inthe following figure PQ is parallel 1o BC and FQ : BC=1 3, IFthe area of the triangle ABC is 144 am® , then what
isthe area of the AAPQ Question ID : 16794315444

Ans o 1. 16 cm?
X 2 9 cm?
# 3 36 cm?
X 4 48 cm?

Q.17 The following sentences are steps involved in findng the H.C.F. of 20 and 24 by using Euclid’s divisien algorithm.
Arange them in sequential order from first o last, Question ID : 16794315435
@) S=1x3+4¢
by 209=M=x1-+5
€) 24=5x4+1

Ans of 1. beca
X2 bac
X3abe
X4 cab

Q.18 Anumber of three digits in scale of 7 when expressed in scale of 9 has its digits reversed in order. Find the number
Expeed i gals bl 1072 Question ID : 16794315440

Ans K 1247
X 2 246
X 3 245
W 4 248

Q.19
2 1 1 Question ID : 16794315433

ﬁ+ﬁ+@_@+ﬁ+ﬁ.isequalto:
Ans x1_ 3\{3
X2 245
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Vs 4/6—2v3
3

X 4+ 246

Q.20 ifthree concurrent straight lines AD, BE and CF are drawn from the angudar pomts of a triangle A ABC to meet the
AF _ 1 BD
opposite sides such that BBt

v 2l

=320 % g s i mmg b Question ID : 16794315446

Ans

&~ 2

~ 3
K 4

L % T [ SN R 5 0 I S R O R

Section : Subject Related

Q.1 o, B are the roots of the equation (¥ —a) (x —b) + ¢ = 0 (r = 0), then the roots of the squation
G—c—a) (x—c—g)=c are: Question ID : 16794315455

Ans 1 (a+c)and(b+c)
X2 aandb
X3 aand(b+¢)
X4 (a+b)andc

Q.2 A6 feet tall man finds that the angle of elevation of the top of a 24 feet height pillar and the angle of depression of its
base are complementary angles, The distance of the man from the pitlar is: Question ID : 16794315465

Ans X 1. 24/3 feet
v 2 63 feet

X 3 83 feet
& 4 None of these

Q.3 Twe hm.s;:hemal vessels can hold 10.8 liters and 50 liters of liquid respectively. The ratio of their minor curved
surface area is: Question ID : 16794315453

Ans K 1423
V2 9:25
X325:9
X4 16:25

Q4 The number of real solutions of equation x* — 3 |x|+ 2 =0 is:
Ans x 1.2

V24

X3 1

K43
Q.5 The value of m for which one of the oot of 3° — 3x + 2m = 0 isdouble of the reotof X —x +m = 0 is:
Ans J 1. 0:‘ =

K201

# 3. None of these

K 42,0
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Qe 51 T 51 T Lestion 1D -

tan'ﬁ o tanﬁ o Vﬁtmﬁ- mnﬁ is equal to: Question ID : 16794315463
Ans “ 1 ‘Jé

X2 3

K 3 i

V3
X 41

Q.7 If3sind + 5 cos6 = 5, then the value of 5 sinf — 3 cos is equal to:
Ans “ 1. 3

X2 4

& 3. None of these

X4 5

Q.8 The diameters of the top and the bottom portions of a bucket are 42 cm end 28 cm. 1 the height of the bucket is 24 em,
find the erea of outer curved surface? Question ID : 16794315451

K 1. 2625 cm?
v 2 2750 cm?

Question ID : 16794315459

Ans

X 3. 2675 cm?
X 4. 2725 cm?

Q.9 Ifthe soots of the quadsatic equetion x 2 —x1n (a® —3a+2)+ a? —4=0 are of opposite signs, then
Ans X 1. gE(=2.2)

V2 a€e(—w,-2) U(2x)

K3 a€(—x,1) U(2,:)

X4 ae(=2,1)

Question ID : 16794315456

Q1o The ratio of the radius of two cylinders i¢ 2 : 3 and the ratio of their heights is § < 5. The ratio of their volumes will be:
Ans  X1.9:4

X 2 27:20

K3 4:0

42027

Question ID : 16794315450

Q.11 An equilateral trianale has each side equal 1o & If the i of its vertices are (x;, ¥ ¥ (%3, ¥ )i (x3, ¥3 ¥ then
xnon 1
% 11
X %1

Question ID : 16794315469

the square of the determinant

equals:

Ans 3 1. None of these
X 2 4q*
X 3 3qg*

¢4 3!‘14
4

Q.12 1A md B are two points having co-ordinates (3, 4) and (5, —2) respectively and P 5 a point such that P4 = PB and area
oftriengle APAB = 10 sq units, then the co-ordinates of P ace: Question ID : 16794315467

Ans ¢ 1. (2, 7) or (4, 13)
X2 (7.4 0r(13,2)
X 3. None of these
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v (7.2)or (1. 0)

Ans

Q13 If cos 25° + sin 259 = Kk, then cos 20° is equal to:

< 4 None of these

Question ID : 16794315460

Q.14

Ans

IftanA+sin A =m and tan 4 — sin A = n then:
K1m?+ n?=2mn

X2m?24+n2=mn

v m?—n?=4mn

X 4md— w2 = Ymn

Question ID : 16794315462

Q.15

Ans

If sin x = cos®x, then cos*x (1 + cos?x) is equal to:
X1

V22

# 3. None of these

X 40

Question ID : 16794315461

Q.16
Ans

1f the roots of guadratic equationx® + px + g =0 are tan30” and tan15” respectively, thenthe valueof 2 + 9 —p is:

K10
X2 2
33
X4 1

Question ID : 16794315458

Q.17
Ans

The area of the triangle with vertices at the poins (a. b~ c). (b, ¢ = a). (c.a = b) is:
& 1. ab+bc+ca
& 2. None of these
X3at+tb+ec
w0

Question ID : 16794315466

Q.18
Ans

If (4, D) and (1, —1) are two vertices of a triangle of area 4 units. then its third vertex lis on:

& 1. None of these
W2 x+5y—4=0
X3bx+y+12=0
Kay=x

Question ID : 16794315468

Q.19

Ans

cosx sin2x coslx |
- —_—

i
Let1 and v berealnumbmmhthati—:—‘; =3 and

& 1. None of these

51
2.5
" 58

= ::: The value of

+ 150
oSy sin2y cosly

Question ID : 16794315464
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W =
58
41

4. =
" 58

Q.20 Ametallic cone of diameter 32 em and height 9 cm is melted and made into identical spheres each of radius 2 em. How
many such spheres can be made?

Question ID : 16794315452

Ans J 1, g
X2 52
< 3. 64
X 4 48

Section : Subject Related

Q1 X is a non-negative integer valied random variable with
o il |

Question ID : 16794315487

P(X = x) = {72y’ x=012....
0, otherwise

Then, mean and variance of X are respectively

Ans X' 1.2&2
X22&3
X3 4&2
vi2&4

Q.2 Forwhat values of m the equations 2v + 33 =2 and {m + 2)x + (2m+ 1y = 2(m — 1) have infinitely many
solutions:

Question ID : 16794315477

Ans ,’1_ 4
X2 2
X35
X4 3

Q.3 Let 5, denote the sum of the first n terms of an AP If §,, = 35, .thenS;, * S, is equal to:

Question ID : 16794315474

Ans “1_ &
X238
X34
X 410

Q.4 P3 1), Q. 5) and Rix ¥) are three points such thet the angle £ PRQ s a right angle and the area ARQP= 7, then the
number of such pomts B i

Question ID : 16794315470

Ans “1_ 0
X2 2
X3 4
X 41

Q.5 If X is a Poisson random variate with mean 3, then P(|[X— 3| = 1) will be:

Ans

Question ID : 16794315486
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- @)

Q.6 Giventhat (x + 2) znd (x+3) are factors of ¥ +ax +b, the values of & and b and the remaining factor is:
Ans X1 a=-7 b=-6(x+1)

X2a=-5 b=4(x+1)

X3a=5 b=2x+2)

via=-19, b=-30,(x—5)

Question ID : 16794315482

Q-7 4 sar'sr-n & >
If S, denotes the sum of the first 7 terms of an AP then. s—,,.-s,,._, is equal to: Question ID : 16794315473
Ans  off 1. 9p 41

K22r+3
X3 2r—1
K4 dr+1

Q8 The graph of the in-equation 2x — 5y < 5 in Cartesian plane is:
Ans X 1. On and below the line 2x — 5y =5
+' 2. On and above the line 2x — 5y =15

Question ID : 16794315480

X 3. Below the line 2x — 5y =15
X 4 Above the line 2x — 5y =5

Qs If4x+ 3 =15 and 6x — E = 14, then the value of p iny =px — 2 is: Question ID : 16794315478
Ans x 1. 4
3
X2 Z
4
4
s =
3
K43
Q.10 Let X b2 anommal random variable with mean zero and variance 9. If @ = P(X = 3) then = (X < 3) equals:
A Question ID : 16794315485
s o1 1-2a
XK21l—a
X 3 2a
X4a
Q.11 Let Aand Bbetwo events such that PAAUB) ==, P(ANB) == and P(X) = =, where X staads for complement of
event A, Then, events A end B are: Question ID : 16794315489

Ans X 1. Equally likely but not independent
/X 2. Mutually exclusive and independent
' 3. Independent but not equally likely
& 4 Equally likely and mutually exclusive

Q12 1 t, denote the r*® term of an arithmetic progression. fty, = L and t, = L then ton equals:
n m

Ans
< o

mi

X2 4

file:///G:/original/final%20year%20files/dsssb/2017%20dsssb%20vcncy/advt%2004%202017%20teaching/ TG T/key%20ravi.html# 29/37

Question ID : 16794315471




10/2/2018 key ravi.html#

1 1
x& ST

mon
vl

Q13 The system of equations 2x + 4y = 6 and 4x + 8y = 6 has:

Question ID : 16794315476

Ans

2 1. exactly two solutions

+ 2. no solution
/< 3. aunique solution

< 4. infinitely many solutions

Q.14 The n'* tenms of the two series 3+ 10~ 17 + ... and 63 = 65 ~ 67 — .. ave equal, then the value of 1 is:
Ans X 1. None of these

X209

v 13

X419

Q.15 Ifinan AP S, —p.n? and S, — pm?, where S, denates the sum of 7 terms of the AP, then S, is equal to:
Ans ¢ 1) pg

X 2. (m+n)p?

/5 3. mnp

Question ID : 16794315475

Question ID : 16794315472

X4.p_3
2

Q.16 Find the value of o ifthe polynomials 2x® + ar? + 3v — 5 and x¥ + x% — 4x — a leave the same remainder when
divided by (x— 1) Question ID : 16794315483

Ans of 1 a=—1
K2a=1
K3a=2
X4a=-2

Q.17 The base of a triangle is smaller than ts altirude. Ifits areais 237 + 2 x + 2, its baseiis,
Ans X 1 (x+2)

X2 (x—1)

X3 (x+3)

Vi (x+1)

Question ID : 16794315484

Q.18 The mumber of values of k for which the sysem of equations x +y =2, kx+y =4, x+ky =5 has aleast one
solution s: Question ID : 16794315479

Ans ‘,1_1
X2 0
X33
X4 2

Q.19 Events A. B and € are mutually exclusive events such that P(A) = 3’;—“_ BF(B) = ’:_‘ and P(C) = %
The set of possible values of ¥ are in the interval

1
b ! [__
42

Question ID : 16794315488

Ans
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V2

3’3
<3 [0,1]
X 4 [1 13

Q.20 1f (2x — 3) isa factor of f(x) = 2x® — x% + px + 6, then the value of p is:

Ans x1_ 4
X2 -3
X33
v 7

Question ID : 16794315481

Section : Subject Related

Q1

If sin y+ pTXcosy _ ¢, then d_y at (Lﬁ) is: Question ID : 16794315503
dx

Ans 1. —XCOSY

X 2 siny—xcosy
¢3. e
K 4 siny

2 il
Ans x 1.
X2 2
vl
X4 -1

Q.3 Let [ bea differentiable fonction defined forall © € R such that f(x*) = x* forall  €R, x # 0, Then the vaue of
arg Question ID : 16794315502
dax i

Ans

5
1.3
" 3

< 2. None of these
X3 20

20
Wil
3

Q4 1fm>1 endn €N, suchthat 1 + 27 +37 + -+ 27 2 n (L™  then k =2
Ans x1_ 1

K 2m

s 2

X4. i

Q.5 Ifa b, care positive real numbers such that a — b = ¢ = 16. then abe will be greatest when:
Ans X1 a#b+c

X2a+b=c
X3a=b=#c

Question ID : 16794315499

Question ID : 16794315497
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via=b=c

Q.6

Ans

A welfiars organization introduced an education scholarship scheme for the school going children of a backward village.
The rates of scholarships were fived as given:

Age Group Amount of scholarship per month
=7 30
810 40
-7 LS
14-1¢ 60
17-19 7o

The ages (years) of 30 school going clildren e noted a5
11.8,10,5.7,12,7,17,5,13,0.8,10,15,7,12,6,7.8,11,14,18,6.13.8.10,6,15.13,5 years respectively. Find cut the total monthly
scholarship amount beifiz paid to the stadents

X 11200
X 2. 1300
X 31390
v 4 1290

Question ID : 16794315496

Q.7

Ans

azh

If a, b > 0, then the maximum value of ——— is
(a+b)*

27
512
81
256
81
512
27
256

F R

K 2

K 3

v

Question ID : 16794315501

Q.8
Ans

L= {{—1,0,1), (2, 1, 9). Thealue afk for which the vector (3% + 2, 3,10) belongs to the linear span of 5 is:

X113
K 2. =
v 2
X4 8

Question ID : 16794315509

Q.9

Ans

A, B, C are three sets of values of x :

Question ID : 16794315491

A2.3.7.1.323
BI75.0 12538
C:4,4.11,723.4
Select the correct statement from among the following
o 1. Mean, Median and Mode of A are same
/< 2. Mean of C is equal to Median of B
/< 3. Median of B is equal to Mode of A

2 4 Mean of A is equal to Mode of C

Q.10 The minimum value of the sum of real numbers a3, @™, 3a7%, 1, o and ° witha > 0 is;

Question ID : 16794315498

Ans x1. o}
X 27
VR
X 46

Q.11

Question ID : 16794315492
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Class

60-62

63-65

66-68 | 69-71

72-74

Cumulative frequency

3

20

36 48

50

Ans X 1. 63-65
X 2. 66-68
X 3 72-74
W 4 69-71

‘Which one of the following class has maximum frequency?

Q.12 The following table gives the frequency distribution of the marks of 400 candidates in an examination

Marks No eof candidates Marks [ Noof candidaies
0-10 5 50-60 05
10-20 20 60-T0 0
20-30 40 70-80 35
30-40 70 80-20 0
40-50 85 90-100 10

Ans X 1. 80%
X 2 70%
X 3. 65%
W 75%

Question ID : 16794315494

1f the minimum marks required for passing are 35. what percentage of candidates passes the examination?

IfL =

Q.13 g ge

g
2 logx

Ans f i [ —1,=0
P 2. il =0,
X3 L =21
XK4L+L=0

and I, = flz

%dx, rhioi

Question ID : 16794315507

Q.14 z
@-1)
It f {x2+17)2

Ans 3 1. None of these

——dx=tan"tx+ g(x) + k, theng(x) =

Question ID : 16794315505

1
2_—
x 2(x2+1)
1
3,
xI+1
x
4. tan~ 1=
X o
daterminant of A.

Ans X1 x=3,y=-3
v2x=y=-3
x 4
3__:_

X 773
x 3
4, — = —
X T

Q.15 The characteristic pohmomial of 3 % 3 matrix A is [A =4 =47 + 347 + 43 + 3. Let x = trace(4) and v = |4], the

Question ID : 16794315508

Q.16 Caleulate the mode from the following data

Question ID : 16794315493

Class 50-60 | 60-70 | 70-80 | 80-90 | 90-100 | 100-110 | 110-120
Frequency g 10 16 14 1w | 5 2
Ans X 1. 67.5
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V2 775
X 3 87.5
X 4 76

Q.17 Calculate median for the following data

Question ID : 16794315495

Class 0-4 16 6-8 B-12 | 12-18 | 1820

Frequency Bl 6 8 12 7 2
Ans X175

X209

X3 8
v 85

Q.18 For Binomial distribution, n = 10 and p = 0.6, E(X?) (second moment about origin) is:

Question ID : 16794315490

Ans x 1. 30
V2 384
X3 8
X 4 38
Q.19 If the anti derivative of% is f(e* —e ™) + C, then f(X) is equal to: Question ID :16794315506

Ans  of 1 tan~1x
X 2 tanx
X 3 coslx

X 4 sinx

Q.20 Ifai=0 fori=123,..n snda,a,a;..a, =1 then the gregtest value of (1+ a, )1+ a;) .. (1 4+ a,) is:

Ans X1 -2271
o 2 m
X1
X 4 21‘;

Question ID : 16794315500

Section : Subject Related

Q.1 Thesetefall x € R for which the vectors (1, x, 00,(0, % 1) and (0, 1, ¥) are linearly independent in R? is:
Ans X 1. {xeR:x+ 0}

K2 {xeR:x+ —1}

X3 {xeR:x=0}

vi{xeR:ix+1}

Question ID : 16794315510

Q.2 What is the dmension of the vector space formed by the solution of the system of fallowing equations?
X+ X+t =0 4, +20=0; ,-x=0. Question ID : 16794315511
Ans x 1.0
X22
X33

vl

Q.3 IfVis the real vectar space of all mapping rom Rto B Vy = {f €V f(—x) = f(x)} and ) ]
Vi = {f €V f(—x) =—f(x)}. then which one of the following is correct. Question ID : 16794315512

Ans X 1. Neither V; nor V, are subspaces of V
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K 2

V; is a subspace of V, but V, is not a subspace of V
W 2 both V; and V, are subspaces of V
K 4

V is not a subspace of V, but V, is a subspace of V

Q.4 1fn pigeons ars assigned to m pigecnholes then one of the pigeonholes must contain at Jeast pigcons.
A Question ID : 16794315513
ns 1 — 1
vi[—=)+1
m
]
X 2 =
m
Mn
X3 (=-1)
T
n+1
- Y k) T
L

Q.5 The lines representing the linear equations 2x —y =3 and 4x—y =5,

Ans o 1 intersect at a point

Question ID : 16794315519

/< 2. are coincident

/< 3. intersect at exactly two points
/< 4. are parallel

Q.6 Find the number of integers between 1 and 250. that are divisible by any of the integer 2, 3 end 7.
Question ID : 16794315515
Ans  of 1. 170

X 2 182
X 3170
X 4. 185

Q7 ' ~ .
The value of 47¢_ , 53 55y, is equal to: Question D : 16794315516

Ans ¢1_ 52(:4
x 2. 51(:4

x 3. 5 1 G
& 4 None of these

Q.8 " i . e . 4 .
If the r** term in the expansion of (¥ — 2) " contains x*, then r is equal to: Question ID : 16794315514

Ans X 1.3 z
v 2. None of these
X3 2
X4 4
Q.9 ;Is'l:letalmafkiwnhimmepai:oﬂinearequatimmiﬂ6y~1=0 and2x+ky - 7=10 represents parallel laes
Ans '?‘U- Jerse
X2 k=4
K3 k=2
v k=3
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Q.10 Therecurrence T(n) =2T(n— 1) —n. for n> 2 and T(1) = 1 evaluates to:
Ans x 1. 2% _

W2 omtl_p 9

K3 2%+n

RN L T

Question ID : 16794315517

QM Devadasi system was prevalent in which part of India?
Ans X 1. Eastern India

& 2 Western India

# 3. Northern India

+ 4 Southern India

Question ID : 16794315524

Q12 Choose the odd one in the options given below:
Ans % 1. Rangoli

/< 2. Photography

' 3 Theatre

/&< 4. Sculpture

Question ID : 16794315527

Q.13 1fwe define subjects from the socic-cultural context; they help students to .
Question ID : 16794315523

Choose the best option to complete the statement:
Ans X 1. Seek better opportunities abroad
/< 2. Prepare for the common exams

& 3. Be successful as an individual
o 4 Understand the society in which they live

Q.14 The philosophy of inclusion is built on the premise that Question ID : 16794315529

Ans 3 1. All teachers are competent
/< 2. All students should be provided support

/< 3. All teachers can be trained
v

All students should be valued for their unique abilities

Q.15 The changing trends in education reflect which of the following perspectives?

Ans 1.
Education has strong philosophical foundations

v

Education to be meaningful should align with the society

Question ID : 16794315528

/& 3. Saciety is dynamic
F 8

Community has significant say in education system

Q.16 Enabling teachers to leam and assimilate new teaching skills under controlled conditions is done in which of the
following? Question ID : 16794315525

Ans ' 1. Remedial teaching
« 2. Micro teaching
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/< 3. Peer teaching

/< 4. Team teaching

Q17

Ans

A concept can be defined as

Question ID : 16794315520

Chose the most appropriate answer from the options below:
X 1. A unique property of individuals
< 2. A different perception of individuals
< 3. A specific object with defined features
v

A group of objects with common characteristics

Q.18

Ans

Which of the following made literacy a community endeavour?

Question ID : 16794315521

Z 1. Rajiv Gandhi Vidya Mission

/< 2. Sarva Siksha Abhyan

/< 3. National Adult Education Programme
« 4 National Literacy Mission

Q.19

Ans

Phonics does not necessarily teach

Question ID : 16794315526

Choose the best option to complete the sentence:
#< 1. Pronunciation of the word

< 2. Blends of letters

X 3. Intonation of sounds

o 4 Meaning of the word that is sounded

Q.20

Ans

Recopmnition praise and reward as methods to reinforce appropriate behavior is proposed in which of the following
theories?

Question ID : 16794315522

X 1. Classic conditioning
/< 2. Discovery method of learning

& 3. Trial and error method
o 4 Operant conditioning
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